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331 41 1 6s/s04 ur t pn Lrlhlr c< huLn r 5333 150 2300.0

331 41 1 65/505 urIpnLLIII q< hLu ur 28590 100 28s9.0

3361 r 1 70l504 lpnmurilbphlt a03ad02 cl< hurur 45 1 500 67.5

3361 r 1 70/505 nnnmuULinhL a03ad02 q< hLu Ln 5.8 500 2.9

33621 390/503 urLlhnnunnL c0lbd0l q< hLu Ln 208 150 31.2

336217).01506 Ehunulnntnt cOTabOT c< huLn 9 400 3.6

3362.17 401504 urLlrnrrhurhL c0Bca01 cI( hum 7.8 800 6.2

336217611504 LuqLiLnhtututhcthturpDnr, LIur(lLLr(llrrLLIlr lrlrrllropttlrrl tl01AC30 q< hLuLn 10.5 1 0000 105,0

3 631 1 B0/5 02 urndurnlr unLrS,LunhurohLd06baOl ci< hurtn 1 080 5 5.4

363t3r0/502 llrtlprlj,[iLtuLl d11ax1B, mO1ab05, m02aa]5, s0lbcO3 q< hrLt rrr )t3 50 1.4

33631 37 0/503 LtrtnnLuttttIrlrnttl trLictlrtuttn rtr03ac04 q< lrru Ln 360 150 54.0

33631 41 0/503 utnulnLnhLnt m04aa0l q< huu 44 30000 I 320.0

33631 43 0/s03 4LpLrLlLiLnnulpnt,LiL (rllrpu!LiLrntqpn$trlir mpnLI[iururLInl) MO1AE17 cI< huLn 273.3 I 200 32 8.0

3365 )-1506 rtrLlorrLrhrtlrtlrL, trlrirrlnL-tu.rLurppnL i0lcr02 q< lrru tl 1/9 500 89.5

33651 2sl50 3 turqlrtotrnLlhqlrtr i0l fal 0, s0l aa26 q< hLuur 280 600 I 68.0

33651 :trl{i09 rutlli,ntn[ip[qlrL ba0l ab04, a07 aa)'/, g01 aaO3, ]02aa01
q< hLrr rn 60000 20 1 200.0

33651 :;r/5r0 LtrLIll,nLn[,rrlrqhL ba0]ab04, a07aa07, g01aa03, i02aa01
c)< huirn 2t;0 0 0 2A 500.0

33651 63/503 rrLllrllLuqlir d06ax12, j0lgb06, s01aa21 q< hrutn 2016 500 1 008.0

33651 701s04 -uqhLrlrLlhnd06bb03, i05ab01, s01ad03 ,:)< hum 16.97 30000 509.1

33651 701505 "uqhLrtndlrnd06bb03, i05ab01, s0lad03 q< hum 2899 100 289.9

3365122.71504 rurLrurnnurqhL l01axO4 q( h Ltr rn 51 60 2000 1 032 0.0

33651 229/504 ]urrrLLnnnLFlrqhL l0ldb02 q( IrLtrtn 1 0000 1,00 5000.0

336512421502 tn(lirururJ)uii l0 lcd02 q( h rtr tn 12.480 50 624 0

33661|5/5r0 rnLiqlrLlurtltullrL n01 bb01 q< hrrrrn 399 la 27.9

3366114)1502 -utllrttrrrlrLLtLnlrthlt n06a;r09 ci( hrtrtn 9 300 ?.7

33661r53/511
1Lr1zLtLurJL,;aurqnl a0lacO2, c05aa09, d07ab19, d07xb05, d10aa03,

ir02ab02, r0lad03, s0lba0l, s0lcbO1, s02baO6, s03baOl
q< huLn 19.1 40000 7 64.0

336611s3/5r2
4LipLrLuLItipurqnl a01acO2, c05aa09, d07ab19, d07xb05, dl0aa03,

h02ab02, r0lad03, s01ba01, s01cb01, s02ba06, s03ba01
q<

I rru ur 200 6000 r 200.0

33601r53/5r3
rlLpirur-lt.rpurqnL a01ac02, c05aa09, d07ab19, d07xb05, dl0aa03,

h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03ba01
q< hur tn 49. B 50000 2490.0

33661 1 53/s1 4
4hpuuLIhpLuqnl a01ac02, c05aa09, d07ab19, d07xb05, d10aa03,

h02ab02, r0lad03, s01baO1, sOlcb01, s02ba06, s03ba01
q< hurLn ti t0 70 42.7

3367r14/503 tLrrllrLnll,hrhL r03da05 q( lr rLr ttr 37.6 r 500 56,4

33671130/503 nhll,LiLhhnnLuLIhL d04ar32, d04aa32 c).< hru Ln 24.7 20000 494.0

3369r 211507 trlnl,lrnruclrr 1r02ca03
q< hru Ln 174 50 8.5

33691 l7(j/559 tLrl1 rllitlttlrLtt;1r
()< lrrurrt 700 200 140.0

3369r17G/56r rliirlrJriLtll; 9< hruur 20000 6t) 1 20 0.0

33691 r 76161 4 Lu11 4bqnpulp
c)< hurm 2200 600 1 320.0

33691 1 9B/505 urrltirlliLnf nL[r . A1 6A402 g< htuu
2232 3000 6696.0

2000 0.0

3369172.71507 4trpLrurlrrrcl (rli,lruurlrrrqir Llntrnhlrrlpuur) V06DC0l, B05CX0l q< huttn 36. B 1 0000 368.0

3369173r/50.1 A07BC0r, q< hrrrtn 1),9 2r00 270.9

336918r1/503
()< hrrrrn 49 500 24.5

331 4r 1 66/502 1!,qqdr!
(i( hitr ur r435 I 000 1435.0
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33621 120/505 lLoouruuLunhL b01ab05 q< hLuLn 1616.s 6000 9699.0

33621 51 0/502 IuutLnnLunht c09aaO1 cI< huur 3.45 2000 6.9

33631 290/506 hnnLulnn9,tiL c01cb16, 902ccO1, m0lac0l, m02aa13 q< huLn 5.8 700 4.1

33631 290i 507 hnnLunn$bL c01cbl6, s02cc0l, rn0lac0l, m02aa13 q< htum 1076.3 10 10 B

336422201s09 ItirahrqnbrrUhqntnL d07aa01, dl0aa02, h02ab04 q< hLuLn 41 500 20.5

336422201511 LlLiphrqnbrrlhqnrntr d07aa01 , dl 0aa02, h02ab04 q< hutLn 8000 10 80.0

336s1 1 3B/504 n$iopuuqhL i0lrnal 2, sOlae05 q< huur 99 5000 495.0

33651 148/51 0 L1tnLnnhduiqnt a01ab1 8, d01ac01, .q01afO2
q< hum 576 20 11.5

33651 1 4Bl51 1 !lnLnllrdLuclrl a0labl B, d01acO1, g01afO2 q< huLn 192 3 0,6

33651 231/504 [urnLtlnqlrr] l01cb0l q< hurn 27 40 2000 5480.0

33651 232l504 LlurlrpnullurinlrL 101xa02 q< hLu Ln 11491.67 600 6895.0

33651247 1503 IurhnnrnlrqhL l0ldb03 q< hLu ur 7833.3 60 47 0.0

33651 25U506 L1Lu1c1[rnLrllr !,n1 lrLuml0l cb01 q< hLu Ln 4000 100 400.0

33661 1 1 0/503 lronS)rnrnurL n0lab06 q< hLuLn 9800 10 98,0

33661115/512 pnLullrr[LuLlLullrl n01 bb01 q< hLuLn 2500 50 125.0

33661 11 6/51 4
fi4nlu4fL c01bb01, c05ad01, d04abO1, n01bb02, r0)-ad02,

s01 ha07. s02da0l
q< hLu rn 72.0 40 28. B

33661 | 6/5r 5
1f4nt1ur1[L c01bb0], c05ad01, d04ab01, n01bb02, r02ad02,

s0l'rr07, s02d r0l
q< lr ru ur 158.1 10 15, B

33661 r 6/51 7
h4nqurJ[rL cOlbbO], c05ad01, d04ab0l, n0lbb02, r02ad02,

s0lhr07, s02dr0l
q< huLn 25 3500 87.5

33661 r 2Bl504 uplrtLrLIiuclLiLtllrL n03al01 q< htutn t?. 300 3,6

33661 r 37l506 IntrruilLiulrurl n05ba06 q< hLutn 14 100 1.4

3366r 1 Bs/502 ! iiur np n l ur Ll (Llbur npnlur tll r Ln p n LlLiur ur iln$ q< huLn 77.5 1 000 77.5

33691145/503
LlLrrclLhq[ n rLllr un L1l],u m a06ad04, a12cc0), b05xa05, dl 1 ax05,

l04r:r:0 2

q< hLuLn 32.37 3000 97.1

33G91 1 7616r 6 lIirt ntr LLt lt
q< lrru r n 7000 200 t4 0 0.0

3369r 1 761620 r1Lllrr1rurl1; cI< hruu 90 40 3.6

3369117rrij21 LLUI r',lLrIrlrrull) q< hrum 70 600 42.0

3369n76t62?. 1[iqrr1rLttllr
q< hLu rn 184 1 500 2/6.0

33691 I 761623 urtt rtLinnnurtt; q< Irrutn 50000 150 7500.0

33691 20U502 LlLuLrrLlLu[unurlr nqlilantlrtl N05CMO9 pnLuuLlurL 6urqLILuIt 1bt1
cI< hurrn 1 36,6 l0 1.4

33691202/508 lnurtklrpuLn - B02BX01 g< lrturn
180 1 0000 1800.0

1 0000 0,0

33691 202/509 turLuLkrhturrn B02UXOl q< hrrrur 35 2000 70.0

3369r 600/s0s Lr ur I r trLurtlirn ru tl q< hum r03 I 000 103.0

33691/30/503 ,trIlrrtilr lrl r ]t)ol)ulrrllr r1 [iptturprultLul[rlL hurLIutlIp t303AC q< hLrirn 618 200 1 23.6

33611150/502 LtruLlrtrl;LrrurlrL a0!)a q< lrrutn 64.9 500 3 2.5

336r 1 1 60/503 .ilrrnnLilnutnurrlhn a03[a01 q( huim 43.7 2000 87.4

3361 1 341/504 ( lr rnLu tllrLLtip q.< hLutn t5tB 40 60.7

33ri1 I 470l505 I rLrlrur nul n utcl nl q< hLLrm 32.1i 2000 65.0

336 r 1 47 0/51 0 ulurLLr rrulpurqnl q< hrurn 400 0.0

33621 330/502 rhLrtrpudlrr] R07AB02 cl< htu Ln 50 0.0

33631 230/502
urn,[], rtnrr lirn a0aasdm6ffiod;Zlracdfibilxr;Tdzaril
s0laxlB

q< hru tn 2750 70 192.5

33631 350/s07 rLllrulLllrLlrrrIrlrnLtllr ppnLIlrrl nr03ac06 q< lrrrrrn r 038 50 51.9

336422101512
urnfi[FqnLnlao-z@
.n1".1n1 <Olhr0l cOlrh0) cO)h:O1 s0lheo?

q< huur 5.4 1 00000 54 0.0

3364)2101513
mi[4I;I
'! I,tlnl, ;01 [,0],:_0_l clrQ2._r02lta_03-s03baQl .- _-_-
rlJrLirlLlrqnprh a0TeaOl, c05aa04, d07aaO3, d07xaO2, h02ab06,
.01ad02. s01ba04. s01cb02, s02ba03, s03ba02-

q( hLuur 20000 0.0

33642.2101514 q< Irurrn BO 1 5000 120 U.0

3 365I 12 B/:i 06 illlrrtrr$ntpuLurnllrll j0 lxe0l q( h rtt rn 200 0.0

33651 1 39/503 ilnl;ulrt>lopuLuglrL j01 mal 4, s01 acO7 q< hurrn 2r60 1 000 21 C0.0

33651 I 43/505 LILinnurhLLrLI iO1dh02 q< htuLn 200 0.0

33651 1 43/5r 0 LI[rnnurtiLLiLI i0]dh02 q< h Lu ln 2988. B9 900 2690.0

33651 r 49/504 lrLruru.rurlrL a07air02, d0laaOl, r:01 ra0l q< hturn 14.5 20000 290.0

336512241510 Llli{rnurtrtil)LlLUm l0l baol, l04axo3 ct< I r irr rrr 4300 50 2l 5.0

336512241511 rlliganrnpLrlluLuur 101 ba0l, I04axO3 cl< IrLu tn 1 5000 600 9000.0

3 365 r 24 3/507 lr hurtrl)u[i ]0lcd01 c)< huLn 1 4000 700 9800.0

3 3 65 r 280/s0 B Llrll,nrnopuurqhrl A07AX03 q< huLn 50c 00

33661 I I 2/502 rrrqnt>nl r)0laxl0 cl< lrtLrLtt 500 1 000 500.0

33661 r 20l507 tlnpll,lrL n02aa01 q( lrLuLn 300 0.0

33661 1 20/508 rlnpgfrL n02aa01 q< hurtn BO 0.0

3366r 1 72l50 4 LrLrrurLIrrt n02be0l cl< hruu't u00 0.0

3366r r 22l505 i( !1, irLl rl n02bc01 q< lrruur 15.9 2500 39, B

3366r r 27l502 [[iurutllrclnl (LlburLuLllrtprllr LLuutlrlrnLd) N02BU02 q< lt tu ur 37.9 1 0000 379.0

33661 r 35/502 LllrrlurqnluLI n05cd0B g< hurLn 545 200 1 09.0

33661147 150). Llin utnhq Llhtnr07aa0 l, s0 1 eb06 q( hLrrur t0t) 0.0

33661 r 70/502 'llni tltLurltL (iLtrrrrLtLrthLlr lrlrritrrrtr!rIlrti) N01 UA02 q< lrLrut 50 0.0

336911121507 LIliurlrnLlrrlLurlnl a0 1 abl 7, d06bx0l, g01 afO1, .i01 xd01, p01abO1 q< hutLrt 2240 0.0

3369111?1512 tiliurpnLlrrlucprl a01abl7, d06bx01, gO1afO1, j01xd01, p01abO1 ()( IrLuLn 800 0.0

33691 1 33/5 02 LLrrrunLlLltuit t,rrttr v07air q( hrurn 6000 0.0

3369 l 1 35/s03 Lurunlrnrrlh ohLrunnnLruLn b05xa02 cl< lrruLn 2OOOO 0.0
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369 36/51 3 LiruLirnlrnLLIlr otntrhrr al2ca0l, b05cbO b05xa0 3 q< huur 228
234

240

I 000 228.0

369 r36/51 4 uururlrlrnLLllr jlnlrhrl al2caOl, b05cb0 b05xa03 q< hum 4000 936,0

369 1 36/51 5 [rLuurtrhnLrlh t;tntrhrt a]2caO1, b05cb0 b05xa03 q< hurm 90000 21 600.0

369 I 36/51 6 trLuLnnhnrdh plrnhq al2ca01, b05cb0 b05xa03 q< hLuLn I 000 0.0

336911361s17 ULump[nLLII plnnhn al2ca01, b05cb0 b05xa03 c< huur 2BB 4000 1152.0

3369 1 36/5r B ULrrurnhnLLIh r;tntrlrn al2caO1, b05cb0 b05xa03 q.< hurtn 5000 0.0

369 136/s19 LuLnnhnLLIh ptnnhn al2ca01, b05cb01, b05xa03 q< huLn 200 0.0

3369 1 36/520 LurrnnhnLLIh t)tnnhn a12ca01, b05cb01, b05xa03 q< hLu Ln 1440 I 200 17)_t3.0

3369 1361:t)1 i.rump[rnrLlfr pppfrrl a12ca01, b05cb01, b05xa03 q< hrLrur 50 0.0

369 154t50) h nh[ioLtnr v0 BabO2 q< hurtn 8500 500 42 5 0.0

3369 761624 u|t rttltrlrtut,l t< hur ur 400 0.0

3369 1761625 ur11 rlLiqnpLullt
q< hLu Ln 454.2 20 9.1

33691 1 761626 ur11 ry[iqnpu 1p
q< hLum 100 0.0

3369 1761627 rllrilnlrLr;1; q( lrurtn 2966.67 150 445.0

3369 2231503 L urrlpntqutpl rLlr [lLu lglrn LLILu LltuL Lur1 B01 A B06 q< hruLn 2499

2 999

t00 249 9

3369 )),31508 LurqpnLqLuplrLlr LliulcllrnLLlurllurL LLtrl- B01AB06 q< hLttLn 100 fLlO O

33611100i502 rLlhLrtnuqnt a02bc01 q< huru 10.29 50000 5r4.5

336r l 1 20/502 l,Lrrtinurlr4lrlr A02BA03 q< hurur r 068 1 000 1068.0

3361 1 1 40/507 oLrluLLr[impnL a04aa0 I
q( hrum 300 1 5000 4500.0

336114741502 J lrtll,Ll fr L1 ntr q< hum 23.2 500 r1.6

33621590/502 l,nLnntr[itllrrt c03ca01 q< hLrrtn 22.56 I 8000 406.1

3362r 620/s02 tlrrrrLrt rLrurnlt c03dr0l (I< hLtrrn 75 500 37.5

33ti31 150/506 qlrLLrh orrLthrt [)02A[] q< hruur 300 10 3.0

3631 200/5 02 rnnLutll,LrlrlrLrrri, LI[rrahrrLnurqltt l)06C cl< hrurn 250 30 7.5

3363r 360/502 L]lr1:rrLi rrttl m0lhb0l q< lrturn )78 300 83,4

3365r r r 7/502 :rti1l,l rr>LthLI i01 dd0B q< hruur 340 3000 I 020.0

33651 I 1 B/502 rhX,urnhutpunlt i0Icltl04 q< hum 122.9 100()0 1))9.0

33651 1 24l5 02 :lLig,uLuqhnhU i01dd02
q< hutm 2490 I 000 249 0.0

33651 1 34/503 lrlunn:1,!or)urlr.rllL i0lrna02, s0lac03, s02aal5, s03aao7 q< hrtrm )B.B 1 5000 432.0

3 365r 1 37l50 3 urIrLlrrLIlr-c;lrlr a07aa09, j0 lxa0l q<
I rtu Ln 2857.14 700 20 il0.0

33651 140/1i03 qli3,Liuthtl i0ldc0l q< hru rn 550 r 000 550.0

33 651 r 50/508 $1lnrL1nlrLuqrr1 d01ac15, j02ac01, j02ac01 q< hLuu't 3000 400 1200.0

33651 r50/509 LU,]]!"tr,rntd9!gtl.i& q<
I r LLt rtt 60 30000 1 800.0

3365| 50/5 r 0 li, rrlprLrLrcptl rl0lac15, j02acO1, j02ac01 q< ltLLrur r20 5000 ti0 0. t)

33651237 1507 LlhLLtnhuurlrL l0 I ca02 q< hurur 3400 I 000 3400.0

3365 )381510 qhLrLnll,nu$LLrLIhn l01aaO1 q< lr urLn 2500 1 000 2500.0

336 238/51 1 olrIrrn$nLr9,urLIIrrt I01 aa0] q< lrruu 1 2000 60 7)_0.0

3305 239/51 0 qlrurulriul,lrL l01bcO I
q( htu ur I 490 2500 3725.0

33651 239/:i1 1 qlrurLunurnhL l0lbc01 q< hLum 3300 1 000 33U0.0

33671r3/5r0 .nlr"nLutJnI r03ac02 q< hrutir 13B6.7 t5 2 0.8

33691 r 76/630 ult ntinnntuto
cl< hurLn 1t5 600 105.0

33691 1 76163r u11 rlLirltrlrutlp cl< lr tu ur 955 200 191 .0

336911761632 ur; rlLqnpLrl12 q< Irruur 8500 250 21)5.0

33691 r 761633 LUlt rltiilnIu]p q< hurLn 1 0000 500 5000,0

3369 r 1 99/:i05 rhrlrtlLunlrL - A05BA03 q< lrruLn 20 3000 60.0

33691 200/502 rtiLrrqlr4Liip A,B - A06AB06 pnLuurtlul.t SLuqLlutlt 4bt1
q< hru rn 1/ l0t) t./

33691 22tr5t 3 rnnurrlurnnt (urrrLLrtltu[nt h h[4pnplnp[4)-N02AX02 q< hr,u Ln 242.4 r05 25.5

33691 236/505
[rr;iiriilr,ruilijiituLnnnlilrnLuffifil nF4iT06mm, q( lt utLl 100 13.5

3369r 2Bol505 crhurLrruurlrlt 1 Liq/Ll 50 LIt
cl< hLtrrn 8000 300 2400.0

33691 500/509 ur pruL[i1;uru dru 1a;an L
cl< hum I 200 3000 3600.0

336 4015c)2. o),rrlLLrttLrliurltnlt a04aa01 q< hurtn s99 r 000 599.0

336 B0/501 turLrLrrrrrtnq a06acll I
q< hrum ItJ00 500 900.0

3361 3t 0/50 l rL un Llirlt
cl< hurLr 4 9:;O )a 99.0

360i:,01 ffiiia.t&,,I,r h$,t,ru { 
"1 

k q< lrur Ln 49 300 14.7

3361 390/501 lirlrl,^*ffi"lrl 
"o2

q< lrrLrrn 2)9 500 r1 .5

336 I 4 /Ol5O1 qrLrlrrr rrrqlruqrtl q( hrum 1)4t) 500 624.0

3361 1 472l501 9rhcrLnnr. rlrtlhltlrtin cI< Irur ur 9tt 300 28, B

336114721503 (l rltqLinnr, LInLIhLtLlrn
q< huLn 94.5 r00 9.5

3301r474/501 U l rLlt,ur l rLl rlr q< hurLn I 354 70 94.8

33621 1 0 0/501 rLirLturnlrlt ItrLttnltlrrtttl b0l ab01, c05ba03, s01 xal 4 cl< I rLrrur 33 95 2A 47.9

33621 230/501 lbnrruraJarrr b03bb01 q< Irtuur 4.5 1tr00 6.8

3362r 690/501 [rurrLI[;rrhtnt c07ag02 q( hLuur 13.2 390 5,1

33621 760/501 l,LurlLrrul1rlr1 c09aa02 q< hLu ur 5.2 200 t.0

33621 /7 / l50t I lrLlLlnouutunrtt[r q( hum 805.6 t6B 1 35,3

33631 430/502 rllilzullLurnqgrn!,LiL (rlbltullLimnulpn$,LiLf mprrLlLiuurdnl) M01AEl7 +< hLuur 16r.35 20 iJ 32.3

33t 3l4tr01:i02 'l [;urrLurulrralilnl D03AX03, R01AX1 0 cl( lr rLt tn 3051 50 152.6

33631 470l501
PLuruLILigaruqnL (Jrtiurtur.lbpurqnLir rllrqpnulInLLuLn),

tllnurplrLIurtpl, qiiLLnLuLI[glrL (qtiLmtur][glrLI trntt$LuLn) D07CC01
cl< hurLrr 1 260 l0 t2.6

336422101501
ulpLirlLlrcyrlnL a07eaO1, c05aa04, d07aa03, dO7xa02, h02ab06'

r0lad02, s01ba04, sOlcb02, s02ba03, s03ba02
cl< hLuur 198 20000 3960,0

336511281502 []lru)llnSrnrt'rulUtilttl rlt i0 I xc0l q< htuur 5.4 200 1.1
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33651 1 31/501
.rnrL:l,rrJblaopLrLucLnL + mnhLltipnulnILJ j01eeO1, j01ee02, j01ee05,

01 ce07
q< hurur 40000 52 8,0

33651 1 3 l/503
.rnrg$,urtltipopLrLuqnp * urpILlbpnLqp[rLl j01eeO1, j01ee02, j01ee05,

01 ee07
q< lrLum 600 50 30.0

33651 I 34/501 .llrLtllrntrlolrLrLuglrL j01rnaO2, s01acO3, s02aal5, s03aa07 q< hrutn 350 160 56.0

336s1 245/501 IiLkrhLnLurrlrL ]01 bc05 q< hum 6938 600 4162,.8

33651 248/501 rr)uLuthqtunhL l01xa03 q( huLn 17 490 600 1 0494.0

33651 248/502 lr)uLUrhrurLuulhL l0lxa03 cI< hruur 6489 500 3) 44.5

33651 280/502 :h$ntnolruLuclhn A07AX03 +< hLuur 1710 70 119.7

3651 31 B/501 IrLlrtrnrhn q< hurur 420 0 200 840.0

33661 1 1 4/501 $,tiLururLlrl n0Iah01, n02ab03 C\T lrLuL,r 450 400 180 0

33661 1 20/502 .inpll,lrL n02aa01 c+< hruLn 450 300 135 0

33661 1 20l503 .lrrpll,lrL n02aa01 g( lr Lu r-n 5000 BO 400.0

336611D1502 LLIL!nurqLiurtuLlnt n02bc0l q( hrurn 2500 800 2000.0

33661 t22l503 tLLrtruqhururdnl n02be01 htu rn 47.5 300 1 4,3

33661 r 701501 QtrnltrutlrL (LLlrnLtLullrLlr hI11pnplnplr4) N01 BA02 q< hurm 500 50 25.0

33661 r B3/501 L l r rr rr Lir nrrr [ln rr l r n Lii (ctl r Lr ur ut nut lln Lf hn LLl nLict h t Lu Ln) q< hurLn 960 30 2B,B

336i1113/50r Uiltntulurdnl r03ac02 q( hrtrut 1).75 400 5.1

33G7t11Gl5o2 lrlrrLlLiurLuqniir! .01aa07, r01abO6, s01gaO3
(t<

lt tLr rl BBB 100 I]8, B

336711241501 n nplr rutllrq[1, r1Li1;uurtlirptuqnL S 01 CAO1 q< hLuur 1 230 50 61.5

3307r 125/lt0t ril1rlro1;Lrn1 (urLllrlropurrllr hlrrlpnpplrI11) R05Ct]06, R05CB q< hutm 12.7 300 3.8

33691 1 1 2/501 LlhLnpnLfrqLucyrp a0labll, d06bx01, g01afO1, i01xd01, p01abO1 q< hutur 5.27 2000 10,5

3 3691 r 1)/li 02 tiurpnLlr4urqnl a0labl7, d06bxO1, 901afO1, j01xd01, p01ab01 q( htLrur 200 5000 1000.0

33691 | 2/503 LlLiurlrrLlrlur.p rl aU l abl T, rJ0ULx01, g0 lafOl, jOlxd0l, p0labOl q< lrruut 1425 100 142.5

3369 33/50 r LlillLrlrlltltttL grtLyr v07alr cl< hruur 22.9 6000 137 4

3309 35/50r LLuLlr grlrnLLiir prl rLltulrpnLLtrur l:05xa02 q< hum 960 20000 192 0 0.0

3369 36/501 LLuurnhrrLrlh ptnnhn ai2ca01, b05cb0l b05xa03 q< hutn I 500 I 000 1 500.0

33691 1 36/502 lLurrrnhniilh pln1rlr11 a12ca01, b05cb0l, b05xa03 q< hLuur r400 5000 7000.0

33691 1 3B/501 q rnrlrnq b05cx01, v04ca02, v06dc01 ct< hutur ?.28 9000 205)_.0

33691 1 761501 1 lirp ) q< lrlu ur 4),00 500 21 00.0

33ri91 I l61502 1 Lirl rpLu 112

q< hLutn 96 300 28.8

33691 1 761520 LrlL rlLrlnlrLrll) g( htum 1 200 200 240.0

3369|761523 Luyl rltirlnpurlp q< hLrtm 384 I 000 384.0

3369 I r 76/525 rlirlllllllLlll) g< hrrrtn 516 2500 I 290.0

3369 I I 761532 ttrlt ilLinntrru l; q< lr ru ur 82.0 150 r23.0

33691 r 761536
q< hurrn 864 20 17.3

33691 I 76154 0 ur;1 r1tiqnpu.r11z
q( htrr tn 60. 83 300 18.2

3369119r/501 )nul'Lrr t hul l rll.r lin (hutitrqhLut )-t,$ 1. A05 C q( hru tn :;I G 28O 16r.3

33691 r 9B/50 I rnLiLI[iurhnLhL - A] 6AA02 q( hrti trt 624 400 2_49.6

336 9t 2 I 2/50 1 hnLrLlhL. lrLututinhrrhL-CO5CA53 q( h Lrrtn 77.3 120 9.3

33691 23 r/5 0 r LlLrr rql rnrrllr [1urlr1rnItuur, ]un1 lr[1ur1 glrll,Li1rnl A1 2AX cl( hLtrLn 39. B 500 r9.9

pti2lu ! LuL tr2ul-r ur [1 n r1a1 urt] u qtrrub;>LLp

33141110/503 .llrpLLr ! Lu u1 Lip
q< hLu un 55 25000 1 375,0

33r 1 0i 504 lhnu[tLutq[:in
(l< lrru Ln 110 r 000 110,0

3,t l 1r/li0t Iturlnrl uLrtLirtutLhLtitr q( IrrriLl 9).G/ 6000 550.0

331 4 1 5/503 yrd 2[1Lu11urL ptuLIlrLuLl q< hruu 159 3500 556.li

331 4 29/5 r 3 nhLiir lr
q< hurLn 4.63 70000 324.1

33r4 291515 llrLiLLrll
q< Itrtr rn 95 r 000 95.0

33 r4 36/54 3 lt LLr tr l; LnLt rlrLt r
q< htuur 38,5 1 000 3ti.5

331 4 361544 LrLrphLnhnLtin
q( huLn 3B 6000 2?,8.0

331 4 36/54 5
q< hum 38,1 6 1 2000 457.9

3ri/5,16 rrrrtrnlrl q< lrLlLn 40 12000 4 80.0

3:rl4

33r 4
?9:11!.1-
3B/503

LlLu 1o l:tn L;1 rLt q(
I rLrLn 750() )50 1t\'/5.0

r(
q< ltutrn r02 1 000 102.0

331 1 3B/5 04 Ilurtrir
q< hLrrLn )75 200 55.0

331 142519 L lil rtLI lr tl lrllt tigr
q( hrutrr 10 20000 200.0

33r 14).i5)0 L l,t rru t)LlhtLtin
q( htutn 25.5 30000 7 r,5. t)

331 1421521
q( htuur 10.4) 120000 1250.4

331 14?_15?2
q( hurur 16.67 1 20000 2000.4

311 411 4) t5)3 Ltin Lrr ntrhrLt q< hu rLn 66.67 30000 2000.1

331411425) 4 LhnuntrlrrLtin 9< lrrtttn 16.5 r0000 165.0

331411421526 LLr1 rLlr1 rL1| r5it[;1 r
q< hurLn 90 200 18.0

331 14 4 t'i)1 r,d'rlrLLrLLrtlt tttr,LinLii q< irum 13 3 3 01r0 0 399.0

3:j I

:J3l
1.141t22
14415?3

ndlLturllurL LuLrhrtLbn
q< IrLrrur 4.9 40000 196.0

nrlrlrurIrtuL urubnLLin
q( lrurtn 0.5 5000 32.5

331 1 5B/506 Lllrrrtunrrrd urLrLLtlt d[itrLnoLtrn q< QnLlq 6 /,5 2000 1 35.0

331 1 7Bl503 rr[rrr Lir rh LLinu n! LIuti hur dLu Uu nqLrn
(I<

h urLn 43. B3 60000 2629.8

331 )111'/ 4B rLtuulr
q< lr ru ur 99.2 1 5000 1488.0

9?LAtULs_
.1:\141)11n50,

rd rlruLrurl 1g11 q6rllrpLtin r trrrl Lrrlt Ir1r
q<

I rurtn 126.1\6 70aa 8BB. O

q< hruur 5.83 7000 40.tJ

33r 41 300/504 q< huru 10.2 300000 3060,0

Crpa Hfi qa 4

rtt rttinnnu|D

r Lu ra hrn iir rL Lin

LtinurnLrhlLhrr

I-rLn ur n[rhsLhn

r,lolrrrrlrrrrir rrrrr onrr

lLriilrcrLLir.r ndrLuL ns uuLinht



33191260/502 q( huLn 1 6700 30 501.0

3319r310/519 LlrnrrdrLtLnraLl n
q( hrurn 15.25 1 00c00 1525.0

331 9t 3l 0/520 (r n pd tuL n latrtrlr
cl< hrrrrn 13.5 s0000 675.0

331 91 31 0/521 Lh nnd uLn taLhn
q< huLn 20.98 80000 1678.4

331 9t 31 0i 522 dr nndruLnBUi;n q< hum 40 25000 1000.0

33 r 91 31 0/523 ( rnlrdur[rn1aL [, p q< hLutn 45 r 000 45.0

3312r180/s07 ur p ;url 6L2L[utr ru th LILuI] u Lir pp (urnlrnLIhun p) q< hruLn 2 0.0

33141111/506 IursrLlr uLtr[iltLtltlrlt[itr q< huur BO 50 4.0

3141114t54? ni rILr ILuL trLrrl-tcrlrl], (LiLLr nt tLtt ) tLLt tllrLtrtnLLn' 90rttl q< LItrtn p 90.99 2000 182.0

31411).11534 tlirlrLLt lrtrLdiLr llLuL gaLrlLip
()< hurtn 95 100 9,5

3141r)r/ai:il; rltr,r rrrln rdrrrlrrrL ralitL q< hurrn 310 30 9.3

331 41 1 21 /5 36 rlhnrunnrrlrulrrrrL tabtt;n q< hurLn 310 30 93

331411211537 .llrlrupnLdutLlutL pblbp q< huu 2.97 100 29.7

33r41121/538 Lllrntu trnLcf LLTLILLTL pht hn q< httr rn 310 100 31.0

33141121/539 LlirnLunnLdrLrLrLuL roht Lin
q< I rttr tn I li).bttl/ 30 35

33141121 l540 r lhrrrunnrrj rul rrrrL ntit t:n c)( hurtn 0 30 3.6

3t 411)1 1541 I rriLrnnrdrutrrL li raIitlrn q< hLutn 20 150 tB.0

331411?,1154). .lhnupnLdLuLruL p[ithn g( hut ur 20 100 12..0

33r 4| 2 r/54 3 llrnLunntdruLrrtiL raLtt[in
q( lrrurrr 20 5tl 6.0

331411211514 ,llrpruptrtdtu[1utU 1ahlhp
q< hLuur r0 0.0

331411211545 ,llrnurpnLdur[tuiL ptithn q< hLuur l0 0.0

i1411)1 1546 lirrrLrrrnrdrulrtrrL tatitI q< hurrn t0 0.0

331!11/\lly:s
33r 4l 1 44l530

clrLrurlrtult LLtu[inLlin q( ltLuur 390 r 000 3110.0

pdrlrLu[rLuL rurrLinLLir)
q< huru 780 50 39,0

33141157/:r09 rltL,n - urutnLrn q< hum 27 200 5.4

33l4ll57i5l0 LrnLI iultnLitl q( hutn )7 200 5.4

33r4r157/511 rL Iil It rt,t r
q< lrruur 850 )a 17.0

33141157 1512 rnlrl;n rrrtrniin q< lrurLn 850 2A 17.0

331 41 r 73l50 3 c)< hrurn |5 700 80.5

331411731544 liqlr LnnulnurLltr[in q< htrr rn 3B 500 19.0

13.r{t_q1/..!.4_
33141202.1502

I r1 rruLlrrrrltilrl r (rttr[iLurdLtinh) LtltLtptuqLulttip ct<

--q<
IrLttLrr 4000 50 20 0.0

crtLturL1uu l,1L;LlLn gtnt ylthp I rLtrur 5000 2 10.0

331 41211 11 51 t'JrttLLrltLLrli LLtl, qnlrdlrl;LLrlr qtLrlttttqtttlttilt cl< hurur I 0800 5 54.0

?])!.),.!v
331412111

752 I

7s3 I

laZlLqr-!1t,t_glgpj$fgl fu;gurpuq LrLbn cl( hurrn 11000 ). 22.0

ndrLrurLruL utr qnnShttltL,n - utunuqLuLhn q.- lrrlLn 2000 5

33141)11 1754 Ah.trhn - rrrrrrnrrrnrrlrhn cl< lr Lu ur 2000 t0 20.0

331412111 /55 odrlrLuLrLuL urrr unn6hpLtin utLut-rutqurLhlt q< hru ur 5 10.0

331412111756 JrILrrLrrrrtr trr r tLnn6lrolthn uttLtnrttclruLhl.t q( hrrr Ln r 500 5 7.5

33141).1117 s7 rrdrLtLulturL urtt qnnbhDlrhn - ulurpLtrquLhp
(l< lrrrr rn r100 100 1 I0.0

33t4t21tl /5t3 pLJrLrLu[uU utt qrrnShDllin - qutpurqtuLtip (i( hurm 350 100 35.0

33141?.111759 nd rlr Lutrtul tu rr ctnn6hpLbn - ttlutptttclutLbp q< huLn 35000 2 t0.0
'r't / rrlli li0B rlrrulr rrrrr lrrl,rlin cI( hiutn 30 0.0

331 4r 223l506 Jr l:rL 1uIlurl] Lu]1 qnlr6lrpL[,;r LqLLrlrurclLLtLhp pLuclLIu.rIlnLIqnLLLm cI<
lpur LlLu c1d 35000 I 35,0

331412231507 pd2tlur!LuL Lu11 qnpSlrpLhp - ulurnurgLuL[in purqdurl-]ndqnirbtrm q(
lyrLullurqLI 4000 100 400.0

33r 7t 4 00/5r 1 L[[;; rrutll,Lrlurln. rg!-urL dt{C]L_
q( httr rrt 896:; I 9.0

3317r400/512 lLiirnrLrt,Lnul-rLuoLILuL rrhLILu[t

lLinLuLrLihnLuLurorluL nhLlutl-t

i( lrLuttt 1 2000 I

33r7r400/1i I3 q< hurtn 1 2000 l t)..0

33r 71 500/502 ullrryrrqrurl urlrqqLL4LugLituL hu(urpLubnLLhp LluttI tf upbpLbp cl< huuur 5 0.0

31t51200/502 t.rrl dLrrLlLrrLlLih t:rrrnto
q< lrLtrrn 765 500 3ri2 5

33141118/503 ur[rd[innqhLrL[in
q< hrtrLn I 60000 54 0.0

33141143t502 ullur 1r lr$,fr L1 u ur t r p
!t( lrurur 4.9 4 30000 148.2

331411441531 ndrlrLutriuL r"uutrnlhn
()( hurm 1t 40 500 570.0

33141r44/532 .dzLtulltLrL Lttt,tirlLL
q< lr LLrur 7:j 0 i.) ?00 1 500.0

.it4t l4.l/l;:J:J jrLrurIurL urt'LinLt
q( irrttut 3800 I 500 57 0 0.0

3it 41144t!i.14 ndrLrLtrLrurL rLrLrLinLLitt
cI< hruur 4/90 100 4t 9.0

!< hrrr rn r 260 300 378.0

33 I 4 I 1.1'11/536 pdrllu !LuIr Lu u![tr!r]l (-l ( lrLu rn r ?60 300 37 U.0

331411441537 0"llltruLtruu LULrLrn[]hll
.l< hu rn 126 0 300

331 41 1 60/501 LrnLnrtii 2li0,L) cl< hurrn 200 350 7 0.0

3314117),1503 urtrrrrtrlur th LntttlntuLlLLilt
q( hutn BBOO 70 616.0

3314|8r/502 urntuL rLlt ructrfuullr clnhlLLrn q< IrLtttn lB4BO 350 6468.0

rruLrul rLrrr unndhulttit ct LuL [itr cI< lrurur 2000 7000 1 4000 0

jil 41)11 I /6q ndr[rru IurLr ru rr o n116lrr;L [in - Lu ur t]Luct ull.ibn q< huLn 99{.) 20 i10 1980.0

3:| ) '/ /o ndrtrtrr IruL ur rr u nn6l.roL Lin - ul Lu nLuqLullhn q< h rrr rn 6640 120 796. B

r,\h oI orrrlrLn ct< hu 1 350 200 270,0

33141211i / /4 rriirliLr[rulr nrr urril6lil;lt[in tilltntttilutttLill ci< huttrr 6800 70 47 6.4

331412111775 ndrLrLrrILrL u.tr qnn6lrtrLL;n LqupLtttlLttLtip cI( hurLrr 13800 /a 906,0

33141)11t//6 rrdrlrLLrLrurL tLrrr onrr6hoL[in ultuttutqutLhn q< hum 336 8000 2688.0

331412111777

33t41211177 B

'r'rAlrnlrlin r,rrrrnrrrotttlttin q< Irrtur 8700 350 3 04 5.0

r,.i'tLtur ltLult Lu lt tl n rr6l rpL [ilt - q Lir pLttqurLbp
()( hurm t43 3000 429.0

33141)1117 /.j 1"?r,Li"ii*r o rrrr6lruLLin -- ulurrttucrutttLit.t 9< Irurur rG5 I 000 1(.r5.0

q( hrum 46) 1 000 462.0

rl rL
q< huru 33.6 1 0000 336.0

33141)| | / t\.) rrJ'rLir [rLuIt (r nrlahoLLin - uttunutqu.]LLil q< hLuu 39 500 19.5

3314121117 B4 I ndrlrutrLuL ur rr <LnttSh;Lttt rLlip q< hurm 4l 8000 328.0

3314121).1509 rd2llur[lurL ut11 ItlnLlcLrp
q( hum 099 100 69,9

CrpaH11rla 5

10.0

12.0

33t4tl44i'-t35 rdclrrrrlrrrrlr LuLrIrnLlin

37 8.0

1'11A1)11 / 11

1",1.11'lt l//llo ndolrrrrlrrrrlr rrrr onn6lrolrbrr - urunLuoutLbn



331412121510 lrd?LiurLtLuL uril L nrl)tit.l q< Irur u 1120 BO 89.6

3314121?.1511 nrhltLuLtiuL trtt lt ntlrlilr
(i( hurtn 1)0 20 2.4

331412231511 pd2LlurLlurir u41 qnl r6lrpir[ip Lilutltttttlutlt[i1t pur(lLItutlnLlulnLtll.]tn q(
tnLu 

qLUqd 7000 30 21 0.0

33r 6l 220/502 2qtuLnbl tftLulmti q< hutn 4.2 2000 8.4

33211110/501

U irrllrruLrltIirlr McdrScr'(]cn I U/U tiql Llti! qUntqn([ll, ttln.]ur0,

urqlrurLuLintglr, pl 1, llL,urnLLliplr, utiuLuqurpLun Ll2nh,

Lfrupf mLLiplr, gblLlnglrurLlilr[, ntnrrpFhllhq[,trh - pirfi nnLpltLI
huun 2r 60 50 108.0

363i24t/501 rrnrrh[ioLrhnlrLh rrrL6nr
q<

1lrrnlr t4 00 400 560.0

3631 25 0/501 l,r;,LrLrrl ci0BaxOB, v03abl6, v03az0l
(l<

I i rtrlr I t5t) r 500 1'/),5.0

3841 1 200/508 rrlirrLlLtru Ll rLtt q< lttrrtn 089 50 34.5

843 7)Ol5AB IrLrlrrrirhLLlinlr 6tu rtruLtLrttlt[ilt q< hur ur r.7B 50000 89.0

384 3 '/241509
Lt Lu ranqlrUtrLnh 6u lnLu [] iu tLtin

q< lrru Ln 0.7 9 250000 197.5

1 599 700/503 blr Lrrtrh orrLnD
q<

t1 [ prq lr ut LI 2 0.0

1 5991 700/so4 l,htLnnh tarrLlp
q< lrhlrrrnrlrl I 0.0

3314r1r8/504 .ulid hnnq h LIL tiI c|< hutn 70000 0.0

31 441503 ,drLrurLrurL ruLrLinL[rn q( h rrt tn 2000 0.0

.I 2r r /536 ,dr,LurLrLuL ulr onr16hr)LLin .- tuurnLtrqurLtin q< lrruul 1 5000 0.0

331 2111537 rdrlurUuL urlt gn[6hplrLiJr' tqLLrpLiiqurliblt q< hLuLn I 00000 0.0

331412r/s3B rLl',,llLrrllruL LLrgl tlrr1r6lr1rirti1r tqutlrutt[itttLilt g< ltttr rn 30 0.0

331 41 2t r/539 :rrl2l1u11urU LLrl1 tprpdlrl>lrtrlr ululptrqutlllilr q< hLu ur 500 0.0

331 211 1540 rdrlru[uL tutt qnnShpllin - tqtupurqutLtip q( hurm 50 0.0

331 2111542 rdolrrrrlrrllr rrrrr onn6holrtrn - urutnutoutLhtt q< lriLrLn 2 0.0

331412111543 rdrlrurULu[r urrr qnnbhpLtjn - LuLunLuquLbn q< hurLn 5 0.0

33141).111544 rrdrIrtuLtLttL uttt rLnn6lrttLLitr rrlurtrLtrc]rLtLLilt q( hrLrLn 1 6000 0.0

33141211/545 ir[Lu LtLuL ru tt crnr 16lrDlr [in - ru Lu nutclurltLil
cl< Iurtn 1 2000 0.0

33141211 1546 nd rI u Lrrult qrrn6lrr;L [;n urlrLrlr c]< Iturtn 6000 0.0

331 41)11 !547 ndrlrLLrLtuL Lul qnn6ht)Lbn -- Luun[uqLULhn q< huLn 7000 0.0

33r412r1/548 pct2tlLuLlurL ltt1t qlf 6I!!qp=1{ullggtLltl_ (I( lrLrLn 400 0.0

331412.111549 ,)',L1LuL1uL Lu11 i1nlr6lrlrl.rlrp LLlLtrltLtrtltuLtigr q< Ilrtut 50 {1.0

331 4 r21r15s0 ndr[rtuLrruL ru r unn6lrolrlin tLttttnLttqLttltlitr g< lr ur rn 3 0.0

331 | 21 1/551 trdrlt.uLtutlr ut1 clnlrbhl,l,t;lr r.(ltun,r,qltll[il'] (l< hutLn 2 0.0

331 21 r /552 ndrtrurLttul urtt qnn6hptt[in - tqtupurqLulttip q< hLurn 100 0.0

331

331
?tl1!lt_
211t554 odrUurLtr.uIr Lutt qnndht;LLin LqtttltttrclLttltlilt

(l< Irrurn 4B 0.0
cI< Ir Lu u't 24 0.0

331 2t r/5:i5 nd',lLLLTUuL LUtt qrrn6hDLLtt LurunrttclruLLir q( hrutn t0u 0.0
q< hr l0{) 0.0

2111557 ndrlrLuUurL ulr qrln6hDIrtin t(utlttttclrttltI g( lrLr ur 1 440 0,0

331 2t r/558 ndrlt urlluL ur tt qnn6hpL[in - qtulttuclurlt[ip cI< hnrrn 5000 0.0

331 2111559 trillLt Lu U LuL ut I 1 c1t r 1r6[1rLIi p - Lq Lttlt LLrtlutIt Lip q< hruur 5000 0.0

?11 ,1 1 /ri60 nrlolrrrrlrrrrlr rurr onnAhnlrl;n rutunLtrrtutlthtt c]( IrLutn 2000 0.0

331 4

33t4
?!tp9L _
2111562

l{ ZLiClt$ uf1-S11!lg!*h^ -,UtOt-rgCIIrlt
ndrUu ULuL Lu tt clntr6l rpl hn - 1.1 ut lturcluL[ip

q< i rrLrrn t00 0. (l

c)< hurur 5000 0.0

331 2,111563 nJ rl r rr [tiuL 16hpLLin - LquilrLtiq r.uL[ip q( lr ru tn 20000 0.0

331 31 0/501 rlrnpdurLnlal Ligr
q( It r"tt ur 4 000 0.0

331 3 r 0/502 rlr r rtrf, rLrLr rtolt[ilr q< ltLtrur 45il0 0.0

331 310/514
(')< Iruttn 250 0 0.0

331 31 0/s .lrrrnCrLuL n raLLin
q( hLuLn 35000 0.0

1n/516 IrJrrrnArrlrnrrlrl;n q< hrutn 2000 0.0

331 91 31 0/5 r 7 |, r rr rdLLrLr tlalr[ip
q< I rrtttn 500 0.0

3:J r!) 131 0/5 t B I rrroutLtrrraLLin q< Irutur 600 0.0

i3l gl 31 0/l)?4 hrrrtrutltnralt[in q( lrru ur I 6000 0.0

13t-9tq-q/s?l_
3843t 7t 0/501

{rnIdLuLnpLbn
truranqhtrLtin

q<

E<-
lrLtrLn 500 0.0

lrLrur lUUI) 0

3843r720/s05 Lrrr rrnqhLrLIitrh 6t! l]uIlultilLrtr Irt t tLrr 4??,40 0.0

38431 72ols06 g< hLuLn 4D.10 0.0

)olti,14 rrrrrrohlrltlirrlr q( hLuLn I 920 0,0

:8,rJt),rll5ri
3-.t3t l ,.i)iil,

tlrLrliLir rh 6tutnurLlrulltLin
(l< irurrl 25000 0.0

6ru r nur LrLu tltL .l( lrtrrur 2BBOO 0.0

331 41 I 36/555 [ttLr to[iur titrLtin q< ltrtr rrr l85 150 27.t3

33141r36/556 [1 ur pLrurh6rlt[ip q< httrm 150 27.8
q( Irrrut r {J5 150 2/.11

3314r136/558 ur Lr I
q( IrLrrn 185 100 18.5

331 41 I B2l50 1 LlirtrrLrrhrrrt[in (rl grli[LudLLilr) q< hLuLrr 4400 15

rl il
(-l < hutur 4400 l5 66.0

33r4rB3/540 (rrrLI Ll
q< Irruur 7) 20 1.4

J:ii 541 arlLril[
(l< itur ur 72 30 2.2

331411831s42 cr nL n Lir
q< lrruur 72 30 2.2

:l3l4ltB i1li44 cr nll rL
q< hru rn 72 30 2.2

33 r41 1 U3/:;4 6 orrLntitt
(')<

Ir ru ur
./)

;1 l.l 1.4

331411133154 / ctrrtrnLin
q< lrur ur r50 5 0.8

331 41 1 83/54 B q nL ry[1r
q< hurtn 150 5 0.u

331 41 2 02/5 03
ct<
q< Irrrtut

33 6000 198.0

r 000 l0 10.0
33141207 1501

a3ta1)a / l\i)
rlrrn ornuohru rh ur utnuo ruLbn
rl r L I I r I r I rularhIr rl] r uutnruoutLhrr q( Irruur r 000 r0 10.0

13uDO7/ti0i
L',__ :_- a):JL;tL

I hl rr,, 
'r 

rnrr ro lrr rr rl
q( hurur 1 000 ),4 20.0

33141207 1504
It--

I t.t l
cl <. hruur 1 000 10 10.0
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nd rlrnr LLuL tLr rr onrr6lroLtin - tuLUnLuqultitr

3'll4lrllil)l;ai

hnni\LuLnroLtIin

IrLLinlr burnuLtLuthLin

3314r136/557

(r6.0

33141182t502

f dcLrurLrrulr t:t[;lttnnntrltrn



33141)a / l5C)5 ,ltLr rrrnrrrqhltillr ll1tulrtlr(tttltLill q< hLuLn I 000 20 20.0

3314r207/506 l,LrrrrrLnuitIrLrtIIr tt]trtttuttlrlltLitt
(l( hLuur 1 000 t0 10.0

3314120 / 150 / I,Irrrrrrrr,rrrrrIrrrrrIr rrrrrrnttrrrLtIItIirI +< h urtn ilB0 r0 B. rl

33141207 l50B rLnnLpLucthrLrlh LqLunur(lutr[in +< Ir Lu tn BBO t0 B.B

33141207 1509 rLurnLEuqhLulh ulLupLrclurl[ip cl< hurLn 420 ).4 8.4

331 )071510 rLurnLnLLrcthtLr lr ttlLttnLutt utlt[ilr g( htrrrn 4?.0 )0 8.4

331 ?071511 nLurnrnLurthrullr ulunturl urLtin cI< hru Ln 4)0 2_0 8.4

331 201 1512 rL Lnn rpLuct htLr I lr utunLuqutLLin q< hLu ur 420 50 21.0

331 )071513 rirrrrrrrrrrrrrrlrtrrlr rtrLtttrttrrr rtrltL;tt q< hru rn 420 10 4.2

r,illtLrltLLrIt utI qntrblrtritLilr LtlutltLutgtttlthp q< htLr Ln 800 t0 8.0

33r 2r r/81 3 rdrlrurLurl urr qnnbhpLL;n - uutnulqullt n
q< lrLu Ln 800 l0 8.0

331 2.111814 rrhtrLrrIuL Ltrrr crnnihulrLirr tLtLulruroull]Lrtl q< hurtrt BOO t0 8.0

331 2r r/81 5 rdrlrurULuL ul qntr6ht)L[ilr quntLtclutLbn q< hru ur 800 10 8.0

331 ).111816 rdrLur[rtL-rL tLrrr onnShoLhn urunurqutLbn g( hru rn 800 16.0

331 )111817 r,l'tttLuhurl rul qntr6lrplrtin tqurpurqurLbp q< lrLrtn 800 ?.0 16.0

331 21 r/81 B :drtrurUuL Lutr qnn6hplrtin ulutpLLrqutlhp q( hLuur 800 20 16.0

331 )111820 rr,jrttLLrltruir rLIt ctrlr6lttrititrr LqtLtpttrrlutILLtp q< lrrutn 1 8000 20 360.0

?Lu
331 4

ltlBtt
2_1118)2

olrrrrlrrrrlr rrrr rrnn6hniil;n - turunutoutlLh ci< hLutn
'/9 40 3.2

ndrLur [tLuL Lu tt qnn6hplr Lin . Li] Lunurqurt.tLin q( hLuLn I 500 50 i 5.0

3l 2111823 ndr[rLrUrLrL rrrrr trnnblroirlin tuLttntLtctttt[t[itt q< hurrn 29IJ 
'J

40 119.5

331 21118)5 rJlltLulturl urI clntrblrpLLrn LqutpurqurLbp q< hurur 51.23 100 5.1

331 21118)G rrdrLtLLrlturL url ctnrrlhDLhlr uitttnutclurLhn q( lrurLn I 99000 ?4 4776.0

33r

3lr
2)1lB?L

2rlB2B
ni]rlrruILuL urr rrrrn6lrpLLin -- uutnttrqutlbn q( Irurrn 99000 450 44550.0

J,tlttrllLuU rrrlt qlrtrdlrl) Lrlr l,lrunttrquLiill cI< lr LLr in 800 t0 B,O

331 ??0t542 ptarlur6LurtlrL 0htlurLI
q< hLutn 2BB 500 144.0

31 220t503 ptarlLudLLutlrL rlhrlLuLl q< ILULll 4?0 50 )_1.0

3t 400/51 6 l irnru trhLn uLrLroilurl n i rtlur Lt
q< hrrr ur 7000 14.0

331 14041'J17 Ir,nrtIliLrr rrrltruuLILLrL r I I rLILuLt
q( hrum 7000 ') 14.0

33r 71 400/5 1 B ril,LnutrLucrriurL rr I rLILuLr
q< Irutrrr

'/000
2. 14.0

3171400/519 Ll LinLutrtilnuL uq LILuL rrlr Llru Lt
q< lrrtrrn 7000 5 350

4q1r57q1qq__
3l 651 200/501

11]q!grrn 

-
:qq duuuLlhu Enrnra

cl<
-Litll- 500 0.0

c)< Irttrrn It 0.0

31411101U01 Lllr rLLrtruru;Lir
q< IrLurn 2A 0.0

314114).1501 LLinLu n LthlLhn ct< lrurrn 1 000 0.0

314r157/501 LrLnurnL[in-riLurrrh q< h Lrrur 2 0.0

314117 8t502 rlLl lfigrlr LL;yrttlrIltlrrL lrLuduu l1ur1tt1[i1r q( lrrrLl 4000 0.0

314120)1501 IrtllLiLLtLtLuL l,it,IlurrrrrrtLi,n q< hru rn 2000 0.0

31 4r 21 r/565 nJlLtrLrIlurlt trtl1 t|rp6lr1;lrtrlt ulLulrLuclLrtLlilr
()(

h rrr Ln I 000 0.0

1111?t!T_6_
3t412111567

tr.J lLIur tl LLrlr LLr1 l qn 
l r6lrpLtilr - q urputclurL hp q< Irtu t n 3000 00

rdrUurLruL ur onn6lrDltin - LuuunurqurLLitr q< lturLn {50 0.0

314121r/568 ndlLtruLturl LuI qnrr6hplr[in .- u1LupLttqutltbp q< hrutn 200 0.u

13_14211499_
3314121v570

rr.lrI rr rrl rrrr.Ir ttt tt o nnShDLL,n - ututntuctutLthtl q< lrurn I lt0 0.0

ndtLttulturl LLrtt qnndht;LLitt ultupurqutltlip q< lr Lu ur l 0t)

33141211iiil | ndrULuLurL utt qnn6hpl[in -' Lqttrpurqtulhp q( lrrum' 2 0.0

331412111572 pd2ll Lu !uL ur11 qnlrSlrpl[rp - ulu]f tuqurLhfr q< lr u u'r ). 0.0

33141211t5/3 ndrUurLtuL un qnn6hplttin Lrluntuqutlhn cl( hum 2 0.0

33141)11157 4 rdzlturltuL tutt qnn6hpLlin - qurpurqLuttbp q< lrurrn 7000 0.0

33r4r2r r/575 l,:l 2L1Lu LltuU tull qnp6hpLtil - qtLrptuqurLtip (I( irrLrtrr 7000 0.0

:11 41)11 t57 6 I;J;',;fi[ onnblroLtin - ulurrttuq tttl.tL, q< hrrr rn tL)00 0.0

331412.1|5 /7 I ndrttLirLtLLrIt qnnSlrpL[rn - ulLuptLrtltulrtip
(l (. lrrurn ) 0.0

33141)11t5/ B I ndrLrruLrurlr enn6ht;LLin - LLlLunLLrqLttlttin q< IrLLrLn 3 0.0

33141)11579 lpd2llurLlLuL Lu11 qnp6ltJ;LLip LqLupLLIclurLhp q(
I rLu ul l0 0.0

331 4 2r11580 In.j^-tr..,l,rlil q.r$6i,t ;l["ir",,,],rLbp q( lrur rn l0 0.0

331 4 )111581 lpdtLturLlLuL Lu11 qnp6lrplrLip rqtrptttqttrLLilt g< hLrr ur 10 0,0

331 21tl5B2 rd2tlur!u! ru1t q!p6lrtElI:l{!1ulglrtrll q< iiLuLrt t0 0.0

,l r/ilti3 )rli ruLurl tu tr ur.tn6l rolrLit r " utulrLtrcl urllit ct< IrLLtLn l0 0.0

331 4 2111584 pd2L1ur!tul tu11 qnpSirpirLip qLttlrurqLLtltlip
('I(

I rLrtut 2 0.0

3 314 ?1 r /585 rdrtrLu[rtuL rul qnn6hDLiin - tttunurclutlbn q( lr urm 6 0.0

331 4 2 r I /ti86 rdrlr u Lr LuL tu rr c1nn6h DLLin - ultLtn ru<t utltLl q( hLuLn l[) 00
331 4 21l'1587 rci lLrruUurlr qnrrdlrtrL[;tr rclLuU [igr ci< hurur 100 0.0

331 4 ).12t541 ndrlrLuULuL utrr Ltnualin q< hrun 100 0.0

331412121502 ndrULuLrLutr LUlt l.lnuatilr q< hturn 400 0.0

33r 41 2t 2/503

3314t2231516

pdrllLullLLrL Lg;!nqaLp cl< lrLum l0'l 0.0

Pd2l.1ul1urU Lu11 qnlr6lrPlrl,p - LqLttllLtrqtitliLlt ptucltlLuLlnrIqnLbLur (l(
lputlurqrl l 0.0

33r 9r 3r tils03 !r tq!4]!{19{tl]l Llllr S! l {L,l_lUt}1t,, a]I,fh]U9_...---:
pyrrriiiaulnili[-01a603, b05ca02, cl0BacO2, d09aa]2, r02aaO5,

s0lar09 .r0?aa09 s03,ra04

q< hrrur 4 0.0

3363 r 24 0/5 0 1

q< lrrr Ll 300 a.a

3379r 300/li0 q( Irnrtn 2 0,0

33791 300/502 Lr.r u1 lr l11u urlrurturlltruLl) q< i trer ut
') 0.0

q( h 2 0.0

l-1791!0glq06
33/91 300/507

[!lt] 1ll !!l!.u.]r+1*41 q.'rtg]!l1lltlqP--.-
I Lunnttru u nn Lu LquLllLu Ltt lrttttu4lttultl:

lrLuur 2 0.0
q< Irrtttn ) 0.0

33791300/1)08 r..tLtLrrIl1ur Lrir q< hrLrur 2 0.0

3379r 300/509 rL.rLlLtr[] rLr L
(1.-

Ir rrru'r
') 0.0

3379 r 300/51 0 tL,LLtLull Lu L
(l< lrrurn ) 0.0

33791300/511 Lu Ir q< hrrrLn 2 0.0

3379r300/516 I Lupnplurnnn uu1uL1lu urpinullpurLp q< hturn 2 0.0
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33791 300/51 B Lunnnu..rmnl'r urulu[llu tuImulr]nuLp q< hum 3 0.0

33791 300/51 9 rrrlrr)lri0uilrll Lr(Jr!lllru rulrurturllrrLrltlr q< hrttLn 3 0.0

379r300/520 r.u I r rllru Ln r'rl.r ttrulur [11tu ru grur utrlputltp q( lrutu 3 0.0

37913001521 tlll!rl]ruulnlr L(r u.l ulllul Lulrurrr t llrtLtlrlr
q< hurm 4 0.0

384317101507 L1ru pntlIrL1L iilr q< hLuur 6 0.0

384 3 r 71 0/5 0B LtrLr ronrr h Lrlt Iir r
.)< IrLtr rn 6 0.0

38431710/509 IlLLr prx; lr LlL Lip q< hutut 6 0.0

2431 1 530/501 gnur6Lh ulhnot)Lrhrl g< rhun 200 0.0

24311530150)- qrudUh ulEnol)unr] q< thutr 10 0.0

24311570t503 pnnLu6 q<
llrLnn 500 0.0

30237112/505 Ltltr rLtlLILuIt 1t1 nl1
q( IrLrtLl 2. 0.0

1 651 200/504 t-!cI durqu{[iL prrLrlla q( ltLrLn 100 0.0

31 21 1 80/501 LuL 6[rlLILuL ruthLILLrL LrLufl) (unLrrrlhmn) q< htrtur 30 0.0

31 21 r B0/502 Lrrf rLrL (iL?Liu-rL lurthLlLult Ltutpl; (utilltttLltimp) q< hutur 2 0.0

314il10/505 rllrrrLrtLrLttLtrLin q< hrtrLrr 2000 0.0

331411r0/507 ( lr pu llLu u1 tip
(l< hurtn 2.t) 0,0

314 11502 Untntlr Ll[inqLtitnL dLutuLutlLiL uLlnuLttrtinnL] (dqnttn) q< lrurtn 50 0.0

314 3G1502 LIur raliLtt ht tL L, n
q( IrLLtrn ti0 0.0

3r4 [,/5 03 Lt.t, rcliut [,nlt Lrr
q( lrurLn 50 0.0

314 36/504 !tu p[iur tip[r Lilr cl< hruLrr 50 0.0

314 3G/505 ;lrLrlL,trlr[,t q< hrutt 50 0.0

.lt 4 36/506 [tLLrtLrutLinltLir r
c)< hurm 2A 0.0

314 36/s07 ui, rtLlrirbrt cl< ItLu Ln 2A 0.0

331 41 1 36/508 L1rrp[itn LipU[ip q< ltur rn 20 0.0

331 41 1 36/509 U urtaLiLnbnLbn q< huru 20 0.0

3t 41 I 36i5r 0 [1LupLitnt lrLtilr
q< hrutn 20 0.0

3t4lt36/519*_
31 4l r 36/520

L1 rLrl,Liurtil rLtrl qa.
I rLr Lrr ) 0.0

Lluya[iurtipLtip q< hutn 5 0.0

314 ) lso) LLirrLrrrLthlLLirr q< lr ur Ln 1 0000 0.0

l? ril.

33r 4
2/so3
2.1506

irLilrurpLl[1L[rp q< lriurn 20000 0,0

[rLilruptllrlL[ip q< hrrrur I 000 0.0

331 4l 4t504 ndr!LLrUurL urLrbn[rbn ci< hrLr tn 300 0.0

331 41 4/s0s r rrJ rlrrLr I rLult tLr uLrn[]iit'l q< hru tn 2000 0.0

331 41 41s07 ndl[[uLtLuL LirLrh4Ltrp q< lrtrrur 1 000 0.0

33141 7 541 ,lrr rLLlLrIrrullr LuLrhqLlip .l (- lrtLrut )oo 0.0

3314r B/:io5 rlLir 1[i1rir Lt;1 rLu yrLldtuIt hut Llut L1 ur ptqLilr
()< hurrn 20000 0.0

33141

33r.11

gi/so2
B3/503

rlrrlLil q( h Lrr rn 20 0.0

q nlr rl Lir
(i<

lt Lrr Lr r )0 0.0

3314 r B3/504 lltlr r j Lit.t
q( hrtrur )0 0.0

331 4r B3/505 qrrlrrllilr q( hurur 5 0.0

3314r183/so6 q rrLrlirlr q< hrrur 5 0.0

331 4r 1 B3/507 r r rrlr r1 L;1 r
q( hurur 30 0.0

3 3 r 4120.i/501
td2lpuLlLuL lrLi"rrucpurrtlalnrlltbplt Lt pd2l-1ul-1tuL qnp6ltplLbplr

hrlLuLlr-rh qhtLitr

()< iIulLrl 3U 0.0

3314r207/516 i.Lurr rtPutll rLull r LqulruquLl"ill .t( liLurll 30 u.0

33141)07151'/ hLirrrrrlrLuqlrtrr llr LtlurpurrlurLhp cl< ntLlur 40 0.0

3r4 ,1 1/589 ndrlLu[ruL turr qnn6hDLbn .. uunLuquLb q< hrLr rn 20 0.0

331 4 1 21 r/5!j 0 odrltiuLLuL Lul qrll6hpirLitr tr[Lirtu,tluruLttt q<
I rur ut 400 0.0

331 4r 21 1/591 rJrIuLtLuIr ur r qrrrrdhpirLin uurrrurquLtitr q< I lrLr ul 3 0.0

33141).11t592 I ndrtrur [.rrulr ur rr errnbhDL Lin - ru runtucturLbn q( hrtr Lrr )o 0.0

u1112-11p99--
33t412111594

iJ ? !1,r.1 
tillL,l1t !11tt6| pltuU _U,f,lt!LSfut, !I_-....-*

rdrUru ltLuir Lu tt qn0ShpirLit r - L.ltuilLtrq urLlil't

q-<_-
(L/

irrrrut t5 0.0

i )ril ul IU il.0

331 41 21 1 /595 nJrltuULuL LLrll qrrnShpLLin - qurlrurqurLtiyr ci( I tLri Lrt I 4000 0.0

33r4t2t r/596 rdtliurULuL Lutt qnnbhplrtin LqtunutqurLbn q( Irurur 1 500 0.0

3t 4t)1 t t5q1 nJrlrLLrLrurlr r-Lrrr cLnrrilroir[;n LrtutrrLrtttLttt[in cI< hru ut 50( 0 0.0

331 41 21 1/6()0 lndrlruLrLuL urtt qnnShpl'Ln - qurnu,qurLtrn q< hLr ur 200 0. (.)

331412111661 ludl[tLrrULuL tutt rtnn6heLLin LLlutgrtrtlLttIttip q< lrrtr ttt 200 0.0

33141).11t662 lnrJrILrrlturL urtt rtnrr6hpLLrn tLluttrttttltttLt[ilr q( lrrLrtn 200 0.0

331 41 21 U663
331412111664

r.9Zq4iUL q1119u]6lle!'qL1ggltllqurLhn
pdrUuLrurL uutt qnnShBLbn - LqruptuquLlip

q<

---!g*-huLn

3 0.0
ct< 150 0.0

ji141 
' 

11/6{t5 I nrlrl rr r rl rrr r1 rrrnblrolr Llr rLLrn q< hrum 200 0.0

3 1 41 2tl066 pd2L1 iu!uL tu11 qnp6fptrLip ltlultlur qq,!!![ q< lriLrtir 150 0.0

3 )11 1667 r,j [r.t, t,trL 11 qrr1Al1,,.L.lr t r.r.tr.'.rtrr,ltlrl oa Iruuur I 0.0

331412r1/6riB udrlr u Lrtul ru rr crnnSh pirLrr r -- Luuntuclutlttin q< hLutn 10 0.0

331412111669 rdrLtruLturL uttt ctntt6l rDlttttr - trluttrtutt uLbn q< hurur 3t) 0.0

33141)11 1670 prjrtlurLlLLrL Ltrl1 qnlr6irlrLtp LtlLupLtrrluLLi;r q< Irru r n 50 0.0

3314121?1507 nil?LlurllruL tu11 !1nqol;p q< IrLltl 400 00

331412231',i18 pd2LlurLlLLrL u41 qnp6lrpLtip .- tqLulrtLrclrulbp pLuqtltu!ntlqnLLitiLn q(
lpur [1trrc1tl I 0.0

3,3_l,q??,ql1q1_
33r71400/508

lLqruur[i1 rfrulurti q< hruur 5000 00
Ll iinLu LthLnr-uLLuqrlLuL n ltdLu[.t

(l a_ h Lrr rn ). 0.0

331 7r 4 0 0/50 9 rlLinLuU[rLrtr-uutuqdLuL nlrLILIll
q< Iruur 2 0,0

331 71 40 0/51 0 LliinrulttrlrttuLLLrctrlruL rtl rtlLlLl
(l< Irur ur 5 0.0

331 71500/501

3319Ri0/s26

fullrqnLpurl LuIrclclu4ugLIutL hLuLlulrtu6nLIL[ip !utl Lf Lupbplthp (l( hru rn 5 0.0

riitLtLnlrL Lr1
q( Iruut 50n 0.0

331 9l 31 6/506 q< hru ur 4 0.0

331 9l 3l 0/507 urttlu lrt q< hurtrr 4 0.0

CrpaHrr[1a 8



3191560/502
!l r r rg ur Lrur I ll)lrlr ci< hLrtur t0 0.0

3r9r6b0/503 111 7[1111[1urL htutlntLtu't q< hLrrur 100 0.0

3363r 2411503 p1nplrbpLrIqlrL[ 1nL6nL11r
q< rhmn 250 0.0

33631 250/503 [pLLrLnl dO8axOB, v03ab] 6, v03az0l cI< rhmn 1 000 0.0

3843r710/513 Ltiu turcrlrLtL lin cI< hrtrm 6 0.0

384317r0/514 !ur lonq lrLlL Lip q< hum 6 0.0

38431 71 0/51 5 Lturtanq IrLtL Ln cl( hLum 5000 0.0

lur l!r) p ur rn r r lr L 6r lr tI[r tu ! tuL tuq4utrl n rpti (ntituqtrbtntrtrp)

3]r41).111 lC'0 pd2llLuLluL ur11 qnp6lrpLbp - rqurpurqLLrLhp q< lrrurn 1 1 7000 2 234.0

331412111 t61 pd2!u[1urL urlp qnyrdirlr[Lp u.ltupLtrqLuLiip q< hru ur 6700 35 ?.34.5

314 2111762 rdrtruLuU urr onrr6holrLin ururnutoutLtin g< hurn 64000 2 12 8.0

314 ).111'/63 ndrlituUurL urtt qnn6hptrhn - tqutputquLbp 9< lrruLn 2)_00 4 B.B

3l

3t

211lre!_
21v765

nJrllLutlirrL tLrlt qnnbhpLlin - trlurptLrqurLtip q<
I rtrr Ln r 000000 l 1000.0

pd2lrqfllCl! uJt qnn6hBtrt n - qr q<
I rLtt Ln 240000 I 240.0

:114r223/:t0B pd2ll LLr Llutr ur11 qnpSlrpL[rp qupurq Lutrbp purclLILu !nLlq nLbLtn ()(
lgrurIlLuqtl 48000 6 288.0

31412231509 pd2LlLuLluL ur.1g clnp6irptrbp - qupurclurLbp puqdLu!nLlqnLLiLun q< lptu[1uqtl 3G000 6 216.0

31 41)231510 pd2t1 ur LluL tul; qnp6lrptrLip qurpurqurtrtip ptuqdu !nLIq nLbttttr q< lpurtltuqLI 69r 000 3 2073.0

321 r l2ul504 qUrrllr)q C-col /qyrrlprqlr npn2LILuL p[iu1a lrLur"[u-rpLu6nL q< hurm 22.t300 20 456.0

321 r 1 30/503
tunlnuuhpnl CIIOLESIEROt- /CLrlhLulntp funlhuutf pftLf pbup -

hLrL[LupubnL/
q( lrru Ln 22000 1), I08 0

321 1 i 40/506
[!lrljrrrrrLl,lrU [] lir ubirr /['lrrllrutinLp rrLrlrrl pIllrnntplrtrlr nprr2tlurL q< Ir urur I 9999.92 50 1000.0

.t21 1 140/5 07
P[1[nnLpfL Bilirubin /CL4huLntp ' nLqf q pft1|rnnLp[Ult npn2du.tlt

p [irrp-hr-u{Lu pru6rr L

o/ hLLrLn 1 5000 4B 72.0.0

321 1 1 50/504 UlrcituLlnrp t.Jrea ColilllrqulrlnLplr npn2LIuL pbup.hLuLuL[tupu6nL q< hur rn 1 8000 40 7)A.A

32| 1 60/504
LrpliLuulrtrlrL CIIEA-Col /!pburur[Llrllr npn2L.lLuL ptiLrp-

h rr LlLLr12Lu6nt

()( htrr Ln 15700 25 3 r2.5

3321 1 1 70l503 Uf qugapnL UricAcid /uhqurplaL{lr npn2tlurL pbup-huLtlupur6nL q( hu ur 34s00 B 276.0

321 I 1 B0/502
SlrlrqltigIpfr4 I RlGt.ICtRIDES /t;nqf gtipItlLtipfr npn2tJul pLiup-

i r.tr L[.u 11ru I u n L

q< hLtrrn r 8000 6 10 8.0

33).112441503
f) - r-liu Ln nlr 11 :l,ultlur nn [.u ut Lipu Ren ratuoid factor-lex

/0 riu ur nlrrlurllrL t,LuL1 LnnpLhplr n1 rn2tltuL pbLrp I rLuL[uLpu6nu/
q< Irrum 45960 7 321.7

3321125015A4
U-rrLiuLlurl r{ ulpnmLilrL-luuLipu C-f?eactiv Protein-lex /C-nburLlurlr(

uqlrLnur!ntgfr rrpn2rJu.rL pLiula-hutt-[LupLu6n/
t< hLrr rn r 70200 50 8510.0

321 30 0/502 !rutqhnLdh niln?LILLtL pLiLtl:-httrLlLttlrtudrrL +< hutn 1 6000 45 720 0

:121 41 0/503 .l rrLrl Lu p ur LutllrUrttn pult ti$,Lipurq c)< lrLuLn I 6800 4B 806.4

332 420/503 U1 LuLlru Lu tl lrL nur grurt"rr"rll,IiptLrl q< hLu Ln I 6800 4B 806.4

321 430/503 U1$Lu LuLIlrlurrlar q< hLu Ln 50000 40 20 0 0.0

369f(i2l905 t ur tulrru ulr.rfl urq0 urLln lptin (o[rtucl [LulLhll) ()< llurtn 9000 60 540,0

33691162/906 urlr pr r [in (nLiure[,lrt]rLbn) g( hurtn r 6400 55 902.0

33691 l 62/907 turtrrlrtuurltr ui(lrf LuLIrttJLl r (rtLrutql,)-ttrtLlilt) ci< hurur 22000 46 1 01 2.0

33691 1 62l908 IttlllilllLLlulrlll rtrqrlLltlltlLla[1t (rrL;rtrt1[;irurirl;p) q< llurut 34000 2 68.0

33691 1 62/9( 9 lLutrr rtlruuullr ur(lrltuL!rtlJiilr (nLiLLlqtiLtnlttrp) q< hurn I 3000 45 5 rJ5.0

3369116?19_

33691 1 6219

t0 !rlrr.i Lllrl'r Lr11 r 
1 
LuL1r t1c L,-p (n[iutq ti[tu[thp) q( lrttr tn r 7800 t0 t78 0

)n0tuulrtlt u,qrlLuLlnLlltilr (ntiutqLiltLtlLt p) q<
I rLrr rn 1 00000 6 600.0

33691 I t,2/!) 2 Lip (nLituq [iirurL[ip) q< lr ttru.r 0000 50 300.0

3369 r r 62l9 3 Irutlr rllrurilnlr ur(!]LuLlnrlJtiI (n[iutc1[iltutlt[ip) ()( hruLn 1 5000 45 G/5.0

33691 t62l9 ,l lr(ltilILr.rulnI rrlqrlurtrjnrlJLil) (niiutqtiLLnL[,p) q< ltiLr Ln 33500 00 20 r0.0

33691 r 62l9 5 urqqutLlnLptip (ntrtutlL,LurLtrp) ci< I rLrr rn lil0oo 1) 1 20.0

33691 1 62l9 6 c+< hurLn 40000 4 r60.0

3369t1C)l9t / ruhtnrrrLin (ntiLuclIiLurLtin) q( lr rtt ut 295(-t0 6 177.0

3691162/9tB rtrrurrrI uiqrl Lu!Jntl;li1r (rrtiuqIiLulLLip) q( Irittur 31500 B 252 4

33691r62/9r9 iuhlnrloLil (nLiuqiilurirL,F) q< h rrr Ln ]7BBO 2

33691 lG2l920 [r.-r,rfr -.rr-rrr,rra[,n (rtLituqtnrmutin) q< hrurn 2 rl(i fi 0 2. 57.4

33G91 1 6 2/92i
t! '''-

I t tu pn n u rn n n Lrr q n LuL I n t tJ b n ( n h ur qtiUurtr b p )
q<

I rLu Ln 22000 ri r 32.0

336911tr)192') ffiffi ,*l" *ilrtilrrh. ("bLuctiLmubn) (l< Irurrn 2?0a0 B r 76.0

33691162t923 Lu nnnLu ur ntr urqrlultlnLgrlip (nLitttqitltult Lip) q< lt urur I 3000 4 52.0

336511621924 u n n n Lu ur n u Lrr cl n LuL t ]lp [i t] ( n tt ur ct tilt LnL Li n )
q( hurur 47 0A0 3 14r ,0

3369r I 62l925
33691 r 621926

It.rr
tu,,

rlrn ur np r-r,qr ILULJn !o_ijtLlltgl,1!jy_{lltf D.
r[rulu]rrfl uqrl LUUJn tltrtilt (r rLituq lillLnll[r[,

cl<

E'
Irrrirn 82000

-airSoo

I 82.0

I rLtt ut 4 2r 0.0

33691162 t9?7 r LuLrn Lrrtin (trLiutq litrurLLin) q< hru u't 43000 G 258.0

36911621928 ILU| !rIlrrurIlll uiqr)Lu0!rtiiIit] (rrllLLrqLilltnLlilt) q( Irturn 141000 3 423.0

1691 I llrlqrq ron ruLrnLrobrr {rr[iurcrLiLiuLLlr) q( hLu Ln 2Bt 000 3 84 3.0

33691 r 62/930
t!:littL .]:]g.L|.--.-J

l,ro,,n*rnn urqr ruLrnlrtirr {ntiuqL,LurLLn) c)< lrrum 350000 3 1 050.0

33691 I 62/931 IrIrr]f rLr t,r nlr urcltltitItIrLpLip (rt[,urq [,irtrrUl,p) q< hrutn I 71 000 B 1368.0

33691 1 62/932 Irul,rlr.rurlf tL tgrltLiLlntlrLil r (nl:,LtrqiitrtnlrLrp) q( hur tn 148000 4 5 92.0
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3369r 1 62l933 rLr pn pur u nn LUq4LUL1n tl. tip (ntiLLt qtitt Lnlthp) q< hum 1 30000 4 520.0

3369r I ('2l934 Iurirnlrilulrll ur(lr) ruLI]nrlJLill (llL,trr11 [iLtn[rLip) ci< Irlrur r 32000 4 528.0

3 369r 1 G2l935 rr []n lr rum,rn Ltrcp ;LuLp Llltip (nL;urq lilt mL[ip) q( hLum r 85000 34 6290,0

33691 1 621936 lLu,rrltLr ulnlr u,q4uirlnL1.r[i1t (niiurqLilrtnLf ip) q< lr urrn 16100 6 96.6

3369r02/937 Iurrrlnruulnn ui(ttruLillU.rLin (nlrrtrctLiLulL[in) cl.< hLuur 24700 1 24.7

3691 l G2l938 LLrf npiu[)nf] urqqLul4nrl:tip (nliurqLiLurltLip) q< hLuLn 24704 1 ) 4.7

33691 I 62/939 Lu nn n u]|ll n n ttr 0 lt tul lI lr Lr il (nL ur q I lll tnl[in) q< hum i3300 3 219.9

33691 4201758 lLupnpLuuml'r tuqrlLuLlnLpLilr (n[rurq.htrLnLhp) ptutlLlLLt!nLIqnLbUtn q<
1pu [1Luc1tl l 0.0

33691 420/759 ulrrprLrurrp u.r([r]LulUrrtl;Lilt (nt,tLrqt,LLrltr[ip) ptuqLlultlndqnLtilltn (-l ( lpurLlucpl 23 il0 t) 3 69.0

3691 420/760 trtlrIlluulrllt it,tp1LlltlrrLl.,ti1t (rriiutqt,lltrrirtip) purqtltrrIlnLiulnLtiLLn ci(
1p Lu l1 urclLI 5i 500 6 309.0

33691420//61 ruipnt)rumnp uiqrltuL,1nqaL,p (nliurq[iUmLtip) pLuqLtuLlnLlqnLbLLn q(
lpLuLlLuqd 45000 u 3ti0,0

336914201762 Irupnl.rruurnl.r LuqrlLLrlrlnLp[,-p (nL,ttrqbLLnLlrp) pLuqLILuLlntlulnLlilLn cl<
tnuLlLUqd 23000 5 1 15.0

36914',)Al /63 llulrrnululrrp urqqurlr1nt1.;h1r (ntituq[i!tnllip) puqLlLu!ntlqnLtiLm ct(. inullluqll 1 24 000 6 7 44.0

36914)01 /64 lrlrl]nl)LuLnnl.r urcllutLlntloLigt (rr[iurqLi[rurLLp) pu]qLIuqnLIqnl.ttitrm q< gr urll rucll 51 500 3 154.5

36914?.01 t65 LurlurlrruLnnl.l urclqultlntlo[i1r (nhuqhULnLtip) pLuqtltullnLlqnLhLLn q<
lpurLlLrrclLI 200000 6 I 200,0

3369142.0[/66 IurJrnl.lruLllnlt uirlqtLrlrlnLla[ip (n[itrrqiillLnLhp) pttrrltltullntlqnLliLtn q<
lpLuLlLuqLI 200000 6 1200.0

?,6914)Al /67 [LU1,rrJ11n,r,,,n u](U]ullljntlr[in (ntiurqLi!urL[ip) FLUqLltuLlnLIu.]nL[iLtn
q<

1;r ttr L1 tLttltl 46500 5 232,.5

33 691 420/768 Lulf npurmnn urqqulllnrpLin (nliurqtiLmLtip) pLucltltuLlnLIqnLhuun q<
lpur tl tuclLI 23000 1B 414.0

3369 r 42 0/l 69 [Luf!npuulnp Lt]qrlLULJr.rtlatip (nhuqtil-rLrtLbp) pLuclLILutlntlqnLtiLLn q< lpurlliutlLl 4 0000 1 40.0

33691 42A 177 0 Iu]pr)Jr.r.r.nnp urcllLLrLlntla[ip (rrtitLrqLiLLnlthp) pLLrqLIttrLlnLILLlrlLLrLm q<
lpLutlurqrl 246000 6 147 6.0

336914)01771 Iut1r]nruLnrrlr u,qtluLJntli[.ilr (nLiurqLiLurltip) ptLrcltltuLlnLlulnLliLLn q(
lpur LltuclLI 290000 ). 580.0

336914)_01772 lurl!rllrumnn urqqLULJntl;tin (nLiurclLiLLnL[ip) ptutltlu!ntlqnLtiLm q<
lptLrtlutqLl ).4600 2 49.2

336914)Al i /3 LLupnnumnl.r urqqruLlnrlaLip (nUurqLiLurlhp) pLuclLILuLlnLIulnLt LLn
(l(

lpurtlLLrclLI 6t 000 3 1 ti3.0

33691420177 4 lLulnnLuLnnI urclqutllnLptill (rlliLuqtiLLnlrbp) PtuqtlltltlnLlltlntr[rtrul
q<

lpLuLlLuclLI 54000 3 162.0

336914).0177s
q<

lpLu tlLuqd 54000 3 r 62.0

33G914).0177 6 rutnnurnnl tuqrltuLlntlahp (ntiurqLrLLnLbp) purclLILu!nfulnLhLu q(
11r ru L1 Lr rclLI 70000 IB 1 260,0

336914),tJ17 / t LupnpLuLnnl LLrclqurlrlntlaLip (ntiLuqhLurltip) pucplttrLlnLltqnlrLiLul q< , prLr [1r urlil 78000 2. t5(;.0

336914201 /78 llupnnuunn Lucllultrjntlabl (rrburqtitrLntrLip) ptuclLlur!ntlqnLtiLLn q<
lpLuLlutqLI 7B000 2 1 56.0

336914201779 Irul!nl'ririu)r)lr ur([r]l'uLrJrrtlrtill (rr[iurtltiirurllip) pttl([tlttltlndulrlLiiLul tr 1- illllr It i(l(ltl 78000 ). 1 50.0

33691 420//80 3upnnLuLnnI tLrrlqLuLlnLlaL;p (nttuqLtrmLtip) pLLrclLlurLlnLIqntrlitrLn q<
llrtLrtlrLrclLI 57000 ). 114.0

33691 420/781 LruprrfrLuurnp Llqrltulryrrptip (trtiLuqlitrtnlLip) pLuqtltu[lntlulnLL!ul q<
lpLLrLlLuqLI 80500 2 161.0

336914),017 82 [tL]pnptuu'l.rl.r urcylLLtltltLplip (n[iuiqtrltrttltip) purtlLIttrllnLItLlnLhLtn q< tnu[luqLI 2 0.0

) 43)16601504 "uLurorul 
onqruLutLturlt t;htJhutturlr Ltrtttahn q< clpru J 100 r60 16.0

2432r 660/505 o rutrLuo rul oncr uL ru LiruL t;lrtlhut UutL lr tnrptin
(i< clpu rl 1 5000 20 300.0

?36q1 I 6rlq40 urLrrrLr.,[ir r {t r[,urrrliltutltLin) q< hurm 49000 60 2940,0

33G9r r621941
JJ::]---.!:-'l

LuonnLu Ln nn uqrluLtnltaLilt (nliurqliltnLLin) (l( hltur r 62000 16 2592,0

33691162/942 I LrittIull] Lntrllirt (rrburq iiltLrtltLin) q< hLrur 32000 Iti 51 2.0

3369 | 62194 3 tJJlrrlr,Utlillll U,(lrtl\llrlrrll.,trll lrrl;rr,rlr,l,trr),1;1t)
q< hruur I 38000 l5 2470 0

3369116?.t944 LU pn lr ru ur nlr urqq LuLln Lp bp (nhLl q tiltLtllttip) cl< hLuLn 4750 0 i40 66s0.0

3 369 1 1 62l94 5 rclnruLtnrlohn (nliucl [iLtnLhp)
(l( lrLrrtn 24000 r00 24 0 0.0

336q I I 6l /c)4 6 rLrltrntnLin (tt[ituq IiLtnlrlin) q< lt !Ul 23000 t3 299.0

3369 r 62l94 7 'tutLtnLrrLin (rr[iurc*;UurLrti0) q< Ilruui 230C0 BO 184 0,0

3i6q)1 ltirlq4B ltrtiir ltLJLir I lrtLiLri.tt.i," rirt,r t) .r( 76000 t2 9r2.0

33091 l 621949 tr-rrLtn Lto[ilr (trLiu.rcl I il.r tnlrl.iF) q< lrLtn 207000 r5 3 r05.0

33691tb2/9liU uror't Lutr rn [ibn ([liLLiQ LiL ul]Litr)
()( Irru ur 1?,87 6 l0 12f1.8

33691 1 621952 Iull!nIrrLnlrir Lt,qnutLIrLrr[itt {rrlirLrt]l,irtrrltlilt)
q< hru rn 44700 40 1 7B8.0

33691 I 62/9:13
q< hurLn 76440 4A 3056.0

33691 I 62/964
33691 r 62/965

llll11llylll tr:gqLtillll:En (ntittrqlrltmLkn) 
-

rLurIIluil.nrrr nrqrlulltntrJtit) (rrtiurqLiuurlt[ilr)

q( I 44500 20 890 0
q( I ILU LN 3:r20 0 l0 3 92.0

3(iqt I 6?/()6G orrtttL u't rr..Lin {rrliLLrqtit ru rLtin )
q< llrLrl 42.480 I 42.5

3691162/967
l!-.1 -,..-J..r
lUU:fgq!11ll_qg1*UU,Lp-(r rt,urqLiuurltL

q< Irrtttn 205000 2 530.0
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369| 62/968 ILrqn LLII]lrLt,jLilr {nIiurtt l,ltutltitn) cI< hLuu 27500 30 825.0

3369r r02l969 u,cltliuLlnLpLiir (nliLtrttLLLnLLn) q< )rLLt tn 55000 3 165.0

3691162.1971 I urpnnu u n tr uq 4LuL ; n L1a[rp (n[iLuq LtLutlL hn )
q( huur 80000 1 80.0

336911621972 I u trnnLu Lrr n lr urqqtuLl n qabp (nti urqblurLhp )
q< hLu Ln 780000 l 780.0

36914)0l',t83 Lrul,rrprUulnI u,cllLLrLlrrLltlilt (nhLtrclliLulLtip) pttrclLIurtlnLIulnLt;LLn q<
lpurLlLuqtl I 70000 10 170 0.0

336914').01/84 [Lupnl]ruunn urcl4LuLlnL;atip (rrt;urqiiuinlLip) pLuqdtuqnLlulnLLi!ul q<
lnruLlLuqd 1 03000 14 1442.0

33691 420/785 [LupnIurulr][ urq+Lutrjnrptin (n[:urqtiLLnLt.ip) puqLIu[lntlulnLbltLtt cI<
lpurLlLuqd 5t 2000 t5 7680.0

3369142,At7 86 llrt[]il|Lumnn urq+Lutrlnrptin (nliLuqt;LuLLip) puqLlultlndulnirtiLm (I<
lpru llurrlLI 287000 5ltit.0

336914201787 .urlrnpLuurrp urqrlurllntlaLigr (rrlrLtrqLrLuL[ip) purcldu\nLIqnLhLur g.<
LnuqurqLI I 38000 12 1656.0

33691 4 20/7 BB LrulrnfLuutrtl.t rlrqqulLlrlrlatin (ntiurq[iLurLtip) pLUqtltuLlnuu]rlLtiLm q<
IpLuL1Lucjl 5 04 01) 15 756.0

336914).017 89 llupnpLuu'r.rl) LrqrlLuLJntlatin (nLiurqt,LutLLip) pLucltltuLlndulnLLiLLn q< lpurllruqtl 79800 15 r 197.0

33691420/790 lrLrl.r'rJrruurnll urqryLuLlnLlahp (nliuqttLtnl[ip) pLuqllLullntlu]nLLiLLn q<
lpurLltLrrlLl 25000 I 25,0

33691 420/791 Lupnpurmnn Luq4LuLlnLlaLip (n[turqLiLuLbp) puqLlu!ndqnLhLtn g<
Lf uquqLI 53040 1 53.0

336914),01792 Irrfnpruu]nn urqrltuLlntlrLip (riliurrlLilruLhp) pLuciltLrIlnLILqrtLLiLul c)< gpu!Luqtl 53040 I 53.0

33691 4r0l793 upnl.ruurrrll urqrlullJnqrLilr (nttuqLttmLt,p) pLucltltutlnLlqrrlrL,LLn gpLuLlLucirl 5-10.r0 1 53.i)

336914201796 lLUpnnLUurnp u,qrlLulipLlrLip (nhurqitLml-rLip) pLUqLIu[lntlqntrtjt]Ln q(
lpLu LlLuqLI l05i]400 I r058.4

3369r42r/515 lLupnptuuurfr LucllLuLlnLloiip (nliurq[rLuLLipJ itirlmtl cl<
I rut 1r 20000 5 100.0

3369142\,51 / lurIr rlrurilnp urc11uLlntlrLilr (ntitLrqttLuL[ip) hLitlttLtl cl<
llrurp 2000 )_ 4.0

33691 42r151 B ur nnntuurnn urqtt LlltlttLtrLitr (niiurq[,LurL[rn) htrrlnLLl cI(
thLn n 3000 l 3.0

33691 4 22l51 l LLUpnfrLULnnn uiqrlLutrlnLp[ip (nLiLuqiiLmLtip) Lf n2lt llLud qptulnL q< t1[lnqpLuLI I 0000 1 10,0

2,1321 85 r/502 LlpciLrr14n Lp / [1.up J.rtutlirrl
('|< LljrprqpurLI 1 0,0

33211120i5()5 rtltnq G-col /ctttnLLlncrlr npn2rlLult rrLiLrB-hut(tuPLu6nt
q< hru Ln 10.56 3i100 31.7

332r1r40/508
PlrllrnnLplrL Bilirubin /t)tL4htuLn4 ntQhI plrdrnntplrt]h q( hruLn ).1 6000 126.0

3321 r150/505 LIftlurLlnLla [Jrea Col/UlrtlLLrIt]ntlJlr rrItt2LIuli-] pLiLrlo ltttttuL[rultru6nL
()<

lt Lu ur 21.6 5000 10u,0

332r1r00/505
! 1r [iLu ur lrL[L C RtrA Col /Lr p fiLu Ln ltllrllr npn2dulL 1a[rtrp q< ltLrLn 10.5 5000 52. s

332r | 240/504
ir-,i"ri'l nt,I q*uiiw,n].*Lni pri tterr,ati6idG.t""i;
/f|-rirrrnnhnrrrrhlr $,urlrrnnnLhnh nnncduL abun-hu

()< lrtuLn 33.26 t4 00 46.6

3321 r 250/5 05
U-niiLuLlurlrtl LripnurLihL-tluurhpu C-lleactiv Protein-lex /C-nliLu!urfitl
r r rrlr,nrrrl rrrrnh nnnorlrrrlr ral;rrn-hrutlrttotuAnt/

cI< htu tn 33 4) 1 000 33.4

332112601502
(LLrtpuLrmgr[iLtlrnnprlrqlrtr -0 Atrti Strcptolysina-O

(.Lultu u mI hrum n I hq h!r-. !_![nztlrn!.Lltltp.hlr-tJtvptc,fuV---
Sruul qlrntntil'rl-1"1n1 Total protein-Col /CL4huLnLp uulhmu.rLlntgh

q< lr ru ut 36 I 400 50,4

33211),7 01502 q< hruLn I 2000 18.0

"r*rr^,
-LiLilLuuiSu t) {irprrtuf LuLLnfrqELlr rrpurtlur!LuL hulrnlurptipduttr

nLirla-lrru Ll ru nLu6r't r

q< lrtLttrt r56.25 3456 54 0.0

332.11410504 urpur urdlrl nmpultl g< hurur 17.88 5000 89.4

i1)11 4)At\O4 lr urL lrL ur LIhLnurnruL Lt!;i q< hurrn 1 6.32 1 2000 195. B

332r1430/504 llrll)LU tutlhlt q( lrLu tn 174 I 000 1'l 4 0

3321 1 450/503 UtrrrrLLllrL
g( Ir*rrrr r3 2000 2 6.0

33651 r 94/504 llrrLirncllrlrrL I rLLIr1r
(I< ltu ta) 2BB 0.0

i651 1 ct/ /qo5 Lrrl rrro t nnn t t lrl tl t htr
()< htutn 192 0.0

33q?l1e4l!99.----"
33691 I 62l973

rl(. irurtn t9) 00
.i< r 000 0.0

336911G) 197 4 (r rh urcl I il rurLh p )
q( hLtr tn 2r.96 3000 65,9

33 G9 r ti7l975 rLrq r r rlrL nUr [it] (nLiurqLilrurltin) q< lrLr Ll 31.5 LJOD 2',.'.?.

33691 1621976 rtn iLtltlr tt r.:L,tt 1r I[rttr(li,iltirillill) ci< Ir lill 23..1 2t) 0 00 4 (i d.0

3369|6219 // cl< lrruLrr 06 9iic0 633.6

33691 r 62l978 g< hru Ln 338.125 192 64.9

33691 I 62l979 rLtnrr;tin (nLiurqLiLtnLlin) (l< hrir rn 338 125 192 64.9

336cll1(,2/980 rirrrrrr;[;n {nliLttttLrLLrtL[in)
q<

I rrrt ut 1015.63 480 487 '.i

336911ri2/98r rtrtnLrcLin (rrliurqL,Lurtr[if )
q(

I rr rttn 4 06,25 480 r 95.0

33ri9ll(,2/982 r-uL rrrrr:Lirr (nLiurqliLmL Lin)
(l a- htu ur 125 4800 600.0

33691r62/983 llul'llDLLriilllt I LL,qI rullr rLrrLrlr (rrtiLtiill,lturLtigr) q( IrrrrLn 1)7 3456 438.9

33691162/9rr4 Lut!ntruur'rlr u,c1t1LultlnLlr[ip (nLiurqtilLLnLLip) q( Irru ur t6il 384 0 6,il,.l

33691 r 62/985 tllllllflLtlUlllll Li,Qll ruLlnLlcLil r (nLitutyiiLurLhp) q< htLrn 960 0.0

336914)0l't97
I 
trpnnr,nnn uqr1LuL.1nLpb1r (nbLuqhLLntrbp) pu.rqLlLrl-lntlqnLtiLtn cI< lptu!ruqLI 45000 5 225.0

33691421/519 Lt lrLp (rrliurclLiLtnLLip) hLirlrLLl q( llrtrrlr 3 0.0

336914?) t'.,1)
I 
L*pnnr*nl, u.qquLlnLplip (nhtuqLiLurtrtip) tlrn2f luttI gnurLnttt]bn q< LllrprcpuLI 1 0.0

33141211i/66 I pd2tlurLlurL LuJt (l r rt ldlllrl,t;l r - ttlu,l r(\,q u.Ltit, .i( 7 ruOL) l 71.0

3314121v /61 rdlttruLlurL Lu11 qnp6lrltlrLip .. Ltltttptttqttrltlip
q< l,trtl r31 00 I -t

33691 1 621986 urnnlrurur.lr LLr(lrlruLllrtla[il'] (nLiurtlliLrurhLin) q< ItiLtLn 82000 I u2.0

33691 1 62/987 rf.rtuutrtl.t L
(t< Ir!uLll I 300000 I 1300.0
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3s691 162/9BB ntLrLlruriir r (rr[iLLrrrLi'trLnL[in) c|( h rurn 225000 1 ?.2.5.0

369r lU2/989 nurL tn Lrrtirr (r.r[iLu qLr)-rLnL[in) cl< lr Ltr ur 225000 1 2.25.0

3691 I 62/990 Lru f 
rnlr ururnf uiq[LuL.Jn tla Lin (n[iur qLiitur u[rp) q< huLn 92000 l 92,0

3 3691 1 62l991 rrruLrr rrr rLirr (trLituot,ILnIt[in) q< h u.r Ln 96300 1 96.3

33691 I 621992
!:_f -!-:--J-:]-,!:::J:!:f .-\-:::'.'''''rJ
uonnum nr ulq null tn rr)Lirl (ntiuqLitrurLtin) c)< h rLr tn 25600 1 )5.6

33691 420/79rJ LLupnnuunl urqquuJnLlJbn (ntiurqLiLurUhp) putcltltu!nIqnLLiLu ,t< gpur[lurqLI 43500 B 34 8.0

336914201799 lupnnLUmnn urclqurlLlntlahp (n[iurqtitrLntrbp) pruclLILLrLlnLILqnLELtn q< lpul-1uqil 48000 10 480.0

33691 4 2O/ri00 LullnnrLruillI rLql]u-llljnrilLilr (ntiutqLitrurltip) ptuclLIuLlnLIqnLtiLtrt ct(
1lrrul1r,rc1Ll 8,101)0 14 | 76.0

3369r 420/80 r rirlrrlrtLrulnp u,([rlLUI]lrttlrLrit (rrLiLLrqi,Iutu[,p) p:LuclLIuIlnLIuplLLittLn q<
1p Lu L1 rrclLI 1 07000 12 t2 ri4.0

36914?01802 []fIltruL|nl1 u,(lrlLuL]lillrLill (nLrLuqlillLnLlip) FurqllluLlnLluIlLLll.lt0
q.-

lprLrLlLLrqrl I 070000 l0 10700.0

33691 420/803 rulrllrururlll urqrluLJnllr[il] (nLrtLrcli,LrrirLrlr) ptuclLIurLIltlLL|lltt,Ltn q( pgr Lu [1 tuqLI 90000 20 1 800.0

3691 42 0/804 Lunnlrruulrp urqrlLuLlnLla[i1r (nLiLLrilliLLnlr[ip) pLutltlttrtprtlulntrL,LLrt q<
tnurqLUqlt 1 40000 2.0 2800.0

369r 420/805 irrrrlrtumnll Lt.rcltlLLtLIlLlrtilr (D[iurqt,trLnLIip) pttrqtlLu!ntiqnllhLLn q<
lpuiLlLrttltl 45000 ') 90.0

369r 420/[i06 rupnprurnnn urqlulLJntlJLin (nliurqtiuutLtip) puclLlLuLlnLIqnLtiLtn q<
1p ur L1 urtll 3r00il 2 02.0

3b914201807 r.upnptuurrp LLrclrluLlnrlatip (nhuqLiLurLtip) pLutldurLlnLlqnhLiLLn
(l(

lpur LlLLrclil 261 000 4 104 4.0

3691 420/B0B lLupnnLuLnnfi urclquLlnqaUp (nliurqLiLurLLip) pLuclLhuLlnr-lqnL[iLm cI<
r lttLr [1 tLrclLI I 45000 6 870,0

3369r 42 0/80 9 Iurlrrlrruulrp LLrrgtLrItlnLlililr (nLiLLrqLitrurirhp) ptuqLlttlpttlulnlrtiLtn (]<
lptu lltLr cltl I 45000 5 7?.5.0

3 369 r 420/81 0 lLrrt,t-rlruur]rr urqr-)u]uJrlrlJtilt (n[iuiq L;trLilLhp) ptuqLluitlndqnLi:!u (l<
lpurtltLrcltl 90000 2. 1ti0.0

3691 420/8 r I lrupnnurLnnn urc14Lul4nL1;ti1t (n[iurql,uuU[ip) purcllLtrLprLIqnL[iLur q<
1p ur L1 urcll 28(i000 3 858.0

'3G914).01812
[upnnuu]nfr urqrlurtrlntllLp (rrtturqlilurltrp) pLutltlLuLprr.lLqrrLt,Lur q(

lpuLlurclLI 295000 l0 295 0.0

33691 420/81 3 turpnnruurnn uqqLuLlnLpbp (nliurqLiLutLhp) pLuqLlurLlndulnLtrLLn cl(
lpLLr [1tti clLl 233000 2A 4660.0

3369r 420/81 4 lluFnnuunl.r uqrlultlntpbp (n[iuLq[iLLnLbp) puqLILuLlnLIqnLtiLtn q(
lpuLlutclLI 356000 B 2848.0

33 69 r 420/8r 5 ldlrrl)ruur'rp u,qqu.rllntliLip (rrtiurqLiLurLtip) puJ(ttltu[lnLIulnLLiIlLn q(
;purLlLuqd u9000 3 26/.0

33691 42 0/B 1 6 LLutupuurnn Ltiqrlu..tUlntpkl'r (nliLtrqliLurh[ip) pLucpluLlntlulnL[iltul q<
lprutlLuqLI 61 7000 4 2468.0

33091420/Et7 upnnrumnfr urrLlLutrjntllhn (nLiurqtiLLnL[ip) ptuqtltutlntlu-lnLiilm q<
lprLrLlutcltl 96000 ). I 92.0

33691 420l81 B [upnpurmnl urq4rullntla[ip (n[iurqLiLurtriip) pLuclLILuLptLIqnLLiLul q< plrLuLlLuqrl 1 75680 ) 351.4

33691 420/81 I upnprlrur.tn urqlurLlnqlLip (nLiurqtiltnLtip) purqLILtrLlnLlulnLLiLLn q( prr r [1 rutlLI 42000 I 42.0

33b91 4 2 0/820 ulrrlxuunll u,ciqurlilnL;i[i1r (rrLiLLrrliiUrrtirL,p) JlrucltlurLltrtlupLL,LLn
q< ppur Llru clLi 7 372_50 t). B B4 7.0

3369r 420/ri21 [Lupnpruurnp Lt,qr]Lu[Untl.lip (rrLituclLrLL.nlrLtp) pLutplttr[lndqnLt;Itut ()<
llrtLrllurcpl 327 0 00 A I 308.0

33691424tt22 lulrrtlru.rulrrll [iqr]ultUnttJ[in (ntiurqLiLutL[ip) putcltltuLIrLIqn!t;Lut q<
ip ur{1 ruqd 299000 6 I / U,1.0

33691 420/823 Lulprrllu-rurnp uqrlullnqatip (ntiuqliLurUiip) pLucltlur!ndqnLLittul q(
lpLu LlLuqLI 930000 4 3t20.0

3369142.01824

336914201825

lrufnl.]Lutrn11 u,qquLJnttrLin (nLiLuq[iLtnUtip) pLutltltuLplL[ulrtt[lLLn q<
llrruLlLurpl 4G0000 5 2300.0

*rll"rxril,-*r,,'l,,.t- q<
lpLuLlutcltl 230000 I 23 0.0

3369r 4 2 0/826 lLuFnf umnn uiq[LuLUnl13tin (rlLrurqt;trulLtip) f!lu.trltrrqndqnLtiLn rlrrrltltuqll 225000 3 675.0

3369142Att,1 LupnIu..]u'rnl'r uiqr]LutrJrltlabll (n[ittrclLiLtnl-rlrp) pttrcldLLrLlnLILLlnLliLtrr q<
lpur!Lr-rqtl 14r000 I 14t.0

33691 420/B2B .urpnnurLnnn uqqtulrpqa[,p (nhtuqhtrurhhp) putqtlurLlrrLlqnLhLur (1.<
tllruLl!uqLl l2r0o0 2 242,0

33691 4 2 0/829 It",1,,,nu,u,,.,,., tr.clryLuLIrLyrl,-p (nLiLtrtliiLuLhn) purclLkLrLlndttlnLtiLLrr q<
lpLLrLlurqLI

r B1 000 2 362.0

l 0.0

3369r 420/830
l.#_
I 1.rFt,pr*np tuq4uLlntlaLip (nburqliLLnLt-p) puqLILuLlnLIqnLhLm

I

q(
1p Ltr [1 LuclLl

87000 2 17 4.0

I 0.0

33691420/B3r l1u-rpnpLrLnnp Luc14u.r[r1nq;tip (nLiLuqLiLtttLitip) FurqLlulLIntlqnLLiLm lptuLlurqLI r0 0.0

336914241832 Lurpr'rpumnn urqlut4nLptilt (nburqhLLnLbp) purcltlurLprtlqnLtitrul q< lptutltrqLI t0 0.0

33ij91420/833 ruilnlrLunnp urrl4ruLJnrtlbll (nbtuqtitrmtrtip) pulcltlLuLlnLlulttlt[iLLn ci(
1p ur L1 Lu cltl

32200 0 I 322.0

l9 0.0

3369r 4 2 0/834 q( pptu LluclLI
I I 0000 2 DO.O

Lulrlllluruilrp Lt,cLl-Iu,rtljnilJtin (ntiLUq(iLlmutip)
4 0.0

33691 420l835 Lupnpurmnfr uc14u[rlntlatigr (nliuqtiLurlhp) ptutlLlur!ntlqnLiiLm q<
1pu.t!tuclLI I 0. t)

33691 420/836

336914201837

urpnl'rLumnfr urq4LuIlJntpLin (n[iurclLiLLnLlip) ptuclLlurLlnLILqnL[iLur
()<

1p ur [1 tuclLI
53000 1 53.0

5 0.0

.uFnpurmnp uq4urLlnLloLip (ntiLuqlil.rtnll"ip) pLutltltuLlnr,lqntrLlLul q(
1p Lu L1 tuclLI I 0.0

3 369 1 420/83 8 [trrl]npruulnlr tL,t1t1rultlr.tt1;lip (nLiLuqIiLutLLip) pLuclLltrrtlntluptLLilltn q<
lpLLr [1tuc1tl 1 0.0
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3691 4 2 0/839 Iurnnl.lruurrl) urqrlurl.rlntii[ip (nLiLLrqLrLmltLip) pLtrritlttiLpttiLLlrLl,LLrr q<
11rut1LLrc1tl 10 0,0

336914201840 q< gpLuLlLuqrl
446000 2 892.0

ILUPllJlu]ulllll urql]uluJrltldull \rlLrulqLruulLrulrJ PruLltituLlrruujrruuuur
3 0.0

33691 420/841 r.,' r''lllllil llll1ltl9_qb.11'yt'bnlli*:l,lyil"-
LUpnnurLnnn urqquujnt{atin (ntiurqlilurUhp) pLUqtluLlndqnLLiULn

(l<
lpLu llLu clLl 1 0.0

336914).01842
q< l[uqurqtl 1 0.0

3369r420/843 pupnpLumnn urq4LuLlrtlctip (n[iurqLrtrurLbp) purqtlLLrLlnLIqnLbLm q< lpur!uqLI l 00

33691 4201844 LrupnlluulnJr urqquLlnLl;Lr1r (n[iuqt,trutrlip) puilLlttttlnLlulrtlLiLul .)(
1p ur L1 Luqtl 134000 l 1 34.0

33691 420/845 urpnl'rurLnnI urclqullnLgahp (nliurqLrLmL[ip) pLLrclLltrrLlnLlqrrlltiLur cI<
lpLuLluqti 1 34000 l 1 34.0

33691 420/846 .LuInnLuLnrll.l LtrclqullnLl:[ip (nLiLLrq[,Ltn[rt,p) pttrqtluLlntlu|rltrl-rur q<
;JrLuLlLuqtl I 0.0

336914)0lt\47 .urpnllruunn Lriq+urLJntp[in (nLiuiqL,LLnLLp) purtllLu!ntlqnLliLm q<
lpurLlurqrl l 95000 1 1 95,0

33691 420/B4B pnnumnp utp4LuLpLlaLilr (rrliurqLrLu[rLrp) ptuqLltLr!ntlulrrLi,Ltn q< lputltuclLl 1 0.0

33691 420/849 pnpu.ru'rnlr LuqrlLUUJntlJLilr (rrliLLrqLiLurL[ip) pLtttlLItu[1nr-lultLirlitrl q( pLuliuqtl 5 0,0

33691 420/B50 LurlItltur.lilrlr urcul[rL]nrldLrlr ([[iurqIiLutLLip) putlLILuLIrLILLltlltliLtrl q(
lpLuLlLUqd 2 0.0

3691 420/i151 lLul)nntuLnnl.t uqqtLtLJrltlJLijl (nLiuqLiLtnLtip) pLucltluLlnLItt|lLLiLLn
()(

lpurLlLuclLI 32500 50 1625.0

33691 420/tr52 [Lutrnl.rruLnr]f1 urq4uLlnLll[ip (nLiLuqliLLnIr[ip) puclLIur[lndqnULiLLn cl<
1p Lu L1 Lu tgtl 2 0.0

369r 420/85 3 ILUpnpumnp r-uqrluLlnLphp (r.rliuqLrIiurLLip) ptuqLltuLlnLIulnLi Lur q<
11rLrllLr11Ll ) 0.0

369r 420/854 Lrupnpu]mnf u"lq[urLJnqoLill (nliurqLtLurlLbp) pLucltltLlLlrrtlulllLLiLLn q< lnLutltuqtl 2 0.0

369 62.11048 Lupn0LuLnnn urc14u[qnLphp (rrEu,q['trurlr!:p) cl< 120 0.0

369

369
9!19!:__
62/t 050

ir lr r rflru Ln np Lurpl LuLln Lla[ip (ntiur qlit rtnLLip) q( httrtn 5 00

LuF!nllruurnp Luqrlu[t1nL1:iilr (rtLiuqL.itutitLip) q< lrLtr rn 300 0.0

369 62/r 051 rur [lr rlrru uri ]l tuqr]uLlnrtilit ) (rll-irq LiUulirbf )
(l(

i rnrttl 300 0.0

3G9 ) lt05?. Lrlpnnr.u Ln np urclq ulrprpLip (nliuttl ttlutltLilt) q< lturur 300 00

3691 62/1 053 ILUpnnumnn urq4uLlnLlohp (nliurqLiuLnLLip) q< lrru Ln 2 0.0

3691 6211054 [Lu pn n ururnn uc14LuLln Lptip (nliurqhlLnLbp) q( hrum 2 0.0

3691 r,.rru55 pu pnpur m nl.r uqr pull n tgahp (ntitLrqL;Luttttip) q( IrLuLir ?_ 0.0

109 r 02ll 056 lu pn 
l 
l Lu Ln i l rl ur rl4tulrl rr qr hp (nb ur qLiL mL ti p )

()< hurur l5 0.0

3691 420/860 lLupnnruur-rli urqrlulr.;nLJotip (rrliLuqtiLLnLhp) puqtlLu!ntlqnLliLm q<
I 
p Lr l1 rrcli 2 0.0

33691420/L6r Iurpnpumnn urq4LuLlnLlaLip (nLiuql;[rurL[ip) ptuqlltuqnLILqrlLLiLm q<
lpuLlurclLI l0 0.0

33691 420/862 urqrlLuLlnLla[ip (r rhtuqlilrLnLLip) pucjlLullntlulnlrLrltLn q( pLL; [1ru<1LI 3 0.0

33691 42 0/863 [iul]nltrur.r)rrn u:qrl uLloLl:tip (rrLiurql;LulirLp) ptucplLcrtlntlulr'tLLLut
(t< ,lrurlliLrqLI 2 0.0

33691420/864 llupnlriluup u,tltlLrLlrtlaLitr (nhltrqt;Lurtrl;p) ltturlrlttttlndulnLtiLttr
q(

I nr tr [1 urclLI 2 0.0

33691 420/ti65 ull)nl)Lutrlrll'l uiqrlullljntlJLit) (ri[iurclt;UtnLLp) F]u(t!iurLIrr.lLqrlLLiLtri
ci(

tJruqruclLl 3 0.0

33691420/866 [Lr]pnnu.runn uqqLulllntp[ip (n[iuqtitrLnLlip) pLutlLIu[1ntlu1nL[iLm c)<
tntuqurqll 3 0,0

336914)0tt)67 [Lu irnrrruurltl urculLut]Jn ttlqy1,ll,,t) 
rytntlulnutitrm

Lurpnfiurmnn urqquLjntphn (nhuqtilmLhp) puqdurLlnLlqnLLitlLn

c)(
lprLrt;LLtqtl 3 0.0

33691 4?0/868 q<
lpru [1 tLrqLl B 0.0

3369r 420/869 [upnJrLULnnTl uqrltuLlnrp[ip (ntiurqLiLurtrLip) pLuqtltuLlnLIqnLLiULn q< lptutlurcpl 5 0,0

33691 420/870 LLulvllrLuLlmp urcylLuLlnLla[ip (nliuqiruLn[rLip) ptuclLILLtllntlulnLLlLtn q<
lpurtlLutlLI 2 0.0

336914201871 [ufr.]J.lLLrinnI u-rc|]urLJnrlJLin (nlituqLlLLnLtip) purqr.lLuLlndu|rLtiLul q(
lgrurllLLrclLI ? 0.0

336914)Ol87). lLuf nfrLuLnnn urcpltui.rlnLptip (nliurq[iltnLLip) pLuqLILuLlndqnLLiLLn cI<
lpLuLlturlLl 1 0.0

33G9r 4 2 0/873 [LLrnn[rumnn Luq4LuLlntptip (rrLurqlihLnLL;p) pLut[lu!ntlulnLliltn (l<
lprulluqLl 1 0.0

33691420187 4 [Lirprl]lr.rulnp urrllutLlntlaLtp (riliLLrqtilrLrtltL;1t) ptu(ltltutplLlulnLirLtn .l<
lpurIlutqLI I 0.0

336e120]B1--

336914201876

,l,lt l:l l.:,*1,*r1l @l:l YI,dl1:'::,11,1:y:
uf nf rumnn urqquLint;atip (nliurqtiUuLhp) puqlluqndqnLtiLm

q(
lpru [1Luc1LI I 0.0

c)< tnruqtuqll 5 0.0

3369142.01877 luf nfrumnn uclqLu!nLptip (nbLuqL:LurLlip) puqLlurLlnLlulntrLiLm q< lputtltuqLI 2 0.0

33691 420/87 B Lupnnumnfr tuclllutllnLpLip (ntittrqlitrLntrhp) pu-rclLltrrLlntlulrrlhLtn cI<
lltLLlLlrrq(l 2 0.0
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336914)01879 IuInntuu]nlr u,cllullntlJLin (nhurqlilLnLtip) pturlLILLlIlnLIuItLLiLul q< pLu tl iuqrl 2 0.0

3691 420/tiB0 LrrpnpLuLnnlr Lt.rg1iuLlnLl:Lgr (niiurgtiLtrrLLip) purclLIultlntlLtlrlrl,Ltn q<
tnLu 

qLuqrl 2 0.0

33691 420/BB1 LrupnnruLnnn LLrq4urtrJntlohfr (ntiu"rqtrLmLbp) pruclLlullnLlulnLLiLLn q<
lpLuLluqd 200 0.0

3369r 420/BB2 LLupnItuurnfr LUq+LULJnlpbl] (ntiLuqliLurLhp) pLuqLIur!nLIulnLtiLLn cI< pu!LrqLI 100 0.0

336914 )O/irB3 Lrl,nIrurfn! u,cpurtrlrLlc[,-1r (nhuqtiLtnLhp) puqLlulLlnLlLtlnLliLLn cl a_ lpurLlLuqtl 2 0.0

3691 420/884 llutrrrl.ri.uunfr u,q4uLlntt.tip (n[iurq[iLLntr[ip) pLucltlLullntlqnLtiLLn q<
1pu [1Luc1tl 2 0.0

369 I 420/B85 lrul-rnl']umnp urcyltuLlnLpLip (nLurqLi-rLnL[ip) ptucltlLuLlnLIqnLtiltn q(
lptul-ltuqLI ) 0.0

33691 420lBB6 lurfrrl.rrumnn urqrlLuLlntlalip (nliurqLtrurLLip) ptuqlutlnLiupl[iLLn g< lpuLlLuqtl 2 0.0

33691 420/B 87 [rr]f!nl'rrrurlp LucSlurLJnrlaLin (ntiuqitLtn[rLrp) pLurllurllntlqntrhLLn q(
1lrru llrucltl 2. 0.0

3691 42 0/8 B B [Lunnpumnn u,qqurL]ntlrtin (nLiurqLiLuLhp) ptucltlLutlntltqnLLiLtn cI<
lpur [1 tucltl 3 0.0

3369r 422l51 3 [rufnpu]mnl'r urqqLuLlnLp[i1t (rrtiurq[tLurLtip) t-f n2lr llLuL.l qpuLnLlLhp q< lllrlnq putLI ?.s 0.0

336914221514 [Lrifnprumnfr ucplutLlnLyo[ip (nliuclliLLnLtip) Lf n2lr Lltrrtl g;rtulrnL[rbp q< t1[lnqputl 1,5 0.0

3369\4))1515 l1T:"nl:ry'':i 9i::"11'U1'h ll'l'11i:1':Y
.r.u p r.r l.r 

Lu m n p tu q4urLl n qo hp (nbur q[il mL hp ) r.h n2f l"l Lu LI qp uL n tlL bp

q(
L1 lr gntl 1r Lu tl 3 0.0

336914?2/1,16
q(

![1nc1pLu LI 3 0.0

3369142?.1517 urq4ruLlnLlrtip (nLLrqLiLutrLip) {rn2lr Llurtl qJrLuLntlttbp q<
t1 lr 1 

nc1 yr Lu LI l 0.0

33691 422151 B Lrupnnumnfr uq4LuLlntlabp (ntituq[iLLnlbp) f n2[ LILuLI qpuLnL q< t1[rpqpLuLl 1 0.0

"u?'1"':t1-
336914221520

.,,'"n'':r*T]Ll:'!:111!:l1uu*T1 
1!11 l1luu 

qry,unqrtin

LupnTrurnnfr urqrluttr1ntlabn (nhurqlrliLnLtlp) rf n2lr !LLTLI qpurtrnqLbp

q< L1[1nq pLuLI 0.5 0,0

q< Lllrpxllrurrl 2 0.0

336914?215?.1 uf npLUmnp urqqtuLltryalip (nliurqtiLtnLtip) Lf n2lr lluld q< I 1|r1nt 1 1 
rtLr tl 3 0.0

336914221522 [Lupnnurmnn urq[LuLJntfahn (nliurqtrlLLnLbp) qhn2[ Llutl ci( LllrlnqpuLI 0.25 0.0

336914).2_15),3 Irlrpnl.rLumr'rp urclqLuLlnLlalip (ntiurqlilLnLtip) Lf n2[ tlLtrLI qntutrntlLlip q< t1[rprcl pLu Ll 0.25 0.0

336914221524 LupnpruLnnn uiqrluittlntlrLip (ntiurqiiumlL[ip) Lirn2lr Llurd qpurlrntllbp q( lllrprrlprLttl l 0.0

336914)).1525 [LunnIu]unn u]q4LutrjntfJti[ (nliuqtihLnLLip) {rn2ll \urtl qILuIIrtltrhp cl< lllrLrrrlJruril 2 0.0

336914221526
I 
trFnnr*nn uqqruLlntlrbn (ntiuqtilLurLbp) t.f n2lr LlLuLl qptuLnL[rbp q< IllrlnqpLu LI 1 0.0

336914)?15?_7 l 1'*pnpr'uLnnp LUqnuLjntptin (nLiurqtiLnLtip) Llrn2[ tlLutl qnuJtrntLLhl cl< tllr prrl put LI 1 0.0

3369142?1528 itrt,,n**nn Luq4LrLlntlrblt (rrLiLuqLrtrur!Lip) r.hn2[ LlLutI qpLuLnttLbn q( tllr lnqp Lu LI 1 0.0

3'-r,6914)? 529 lutrntrLumnf uqlulllntlabp (ntiurqt,trtnLhp) L[n2lr LlurLI qpurlnLlLhp q( tllrpqputl I 0.0

336914))1534 ILUpnnuLnnn uqnLULJrrtptilr (nliurqtilLnLhp) f n2lr !urtl qpLrLnrllb ()< t1[1"nqpud 3 0.0

33691 422l531 lrupnnu]mnp urq4LlLlnLptip (n[iuqLiuLnLtip) {rn2lr tlLLrLI qpLuLn4trLip q( tllrprlyrurrl 0.25 0.0

33691422/532 LurpnpLuurnp u,qrlurlrlnqrhlt (nlinrqL,UurLtip) Lirn2lr LlurLl qptuLnLlLbl cl( t1[pqputtl 0,5 0,0

33691 4 22l1i33 lLulnf runnl.r urcl4LutrlnLphp (nliLtrqlit:LnLbp) {rn2ll tlurtl qpLutlnttLlin q< [1lrgn<1;rurtl l 0,0

3365142.21534 i,;r;rr-* -**r*rrlrr;uqutrurLhp) Lfrn2[ L;tutI qptutrnLlLhp q< 11[pqpLuLI 2 0.0

33691 4221535 urqrlutrptpbp (ntiLuqtiULnlrLrp) tlrn2f tlutd qpLuLntltthp q< t1[prqptutl 5 0.0

33691422/536 u.rc!]LuL.JnttrLil.r (ntiurtll:lrurtrIip) tlrrl2lr LlurLl c1l]urLni[rhp q< L1lrpx1 ltutLI 5 0.0

3 3(,91 I (;2/ I 057 ruqr) LuLJ rlqrbn (ntlulqL;LLnLbp) q( lrLl Ll 684 120 82, l

33691 r 62/1 058 rrpLu ur np u.qritulrjnL;rtip (nhurqiiL LtlL bp) q< Irrtrur 0ti4 120 82. I

33691 1 62/1 059 iru pn pLx m np urcl4Lutrln tgr Lip (nL;uqLilt tnlthp) q< hrum 1044 120 125,3

3 3(i 91 I 02ll 06 0 rrr I n lr ruulrrp ur t1q LuLln Llahp (nliurq[tLLnLtip) q( lrurur 1720 60 r03 2

33691 r 62/1 00 I rupr rlrLu Ln np tuq+uUlnrlJbp (nhurqtiLmL ltp )
q< hurur l 680 r50 252.0

33691 r 62l1 062 ru lrr lr rLrm nn u,qr 1urll n Lp [t1r (ntitttq[iLLnLtip) q( ltLuLrt 1440 30 432
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33 691 1 6 2/t 063 LLupnnLu Ln nn uqlLuLJr'r tptjlr (n[iuqtiLmL ttp) q( hurtl G200 20 124.0

33691 1 62lt 064 LLu FnpLU Ltrr nn urq4LuLin ilaLip (nliLircll,L mL Lip )
q( hru rn ?.520 2A 50.4

3369r162/1065 [Lunnnuunn urqnLuLJntlabn (nLiurqtiLLnLbp) q( hum 4200 20 84.0

33G91 1 62/r 066 l.u lurlrru mnp urqrlurltln Llrlip (nLiur qti).r LntrLip) g< irLrrur 1 500 BO 1 20.0

3369r162/1067 [Lu pnlu m nn urcUJLuLJr) tlJtin (nUurqtiL mLhp) q< hLuur 3000 35 1 05.0

3369t 1 62l1 068 tr.upnfrur Ln nn u,qrl urltlnrlcLip (nLiurq[iLtnL bp) q( LI I 4333.3 30 4 30.0

33691 1 62l1 069 iurpnpruurnp rrrtlr;luL1rLloL1r (nLitLrq[,IurltLip) q< hum 7,1000 10 7 40.0

369r r ti2lt 070 [Lu pnl.rrumnn Lrqrl Lul4rr Lpbp (nhurq tiLLnLhp) q( hrutn 750 0 1 7.5

3Jb9rILj2/1()71 [Lu []nnLum nn u,qqLul.r1n tlitin (ntiur qt;lLLnLtip) q< irrLrLn 20000 I 20.0

336911G).11072. lLu pn n rum nf urqqrul-t1n L1a Lip (nliurqLi!LnLLip) q< lr Lrr Ln 30000 l 30.0

33691 r 62ll 073 ILU l n l.r 
rum nn urqqLuLln tp [ip (ntiuqliltultLip) q< l.rLu ur 111000 1 1u.0

3369116211074 ruFnpLUr.lr'rrr urcl4uLlnqaLip (nbuq[ilLnLbp) q< lr ru ur 58000 I 58.0

33691 I 62/1 075 [u] [!nnLu ur np urcyluLlnrpLip (nlittrcltiLmL bp) q( Irt!ul 25000 l 25.0

33691162/10/6 [u]prlluurrl'r Lt,c1t1LuLt1nL1c[ip (r.rLiurtll,LurhtiJr) q< lrrutn 57000 I 57.0

33691 I 62l1 077 llu lup rlr ulnfr urqr1lu[Un tptill (nlituqtilutLtrp) cl< IrLuur 47000 l 47.0

33691 1t,2/1 U/o Lru l rll lu n nl r urqr1ui-rJ n tlJ [ilt (nLitLrqLrLLntrtrp) q< lt urLn ) 4040 l )40

33691 r 62l1 079 .ru lrf lr Lu ur n l'l ur tlqLut4 n t1a[i1r (n[iurq[iLmL [ip )
q< hurur 50000 1 50.0

"9?l,u'll9:9__
3369t 1 6211 08r

itlrnnrU ut rllt urclq tuLl ntJaLin (nLiurcl liltuLtrp )
q< IrLrtin 36000 1 36.0

lurpnnuru']np u.cpiLultlnilrLip (rrLiurqiiirutltLiJr) q< hurur 53000 l 5 3.0

3369r162/1082 u nn{rur ur nn u,qr} LULIn ttJ[ilr (nliul q iiULnLhp) q( Irru rn 9700c) 1 97.0

3369 r 62lt 0il3 LLupnpumnl uqn,r"utrlnL1:Lilt (nLtuqlii.rurLL;p) q< hruLrr 97000 1 97.0

33691 1 62/1 084 lu pnptu u'rr fr urqrl tuLl n Lp [ip ( nLiLLtqtrl LnUtip) q< hurm 1 9000 1 19.0

33691162/1085 ullllIuLnnn uiq[ruhjnrpL]I (nLuqtiLLnLhp) q< lrLuLn 21 000 l 21 .0

33691 r 62l1 086 LU 
f 
url.rru u'r np u.qrl LuLln Llrbp (nLurtltilrurLhp) ci< hruLn 24000 I 24.0

33691 420/BB9 LU[)nl]rrunlr urqrlLul.r.J,rLldiip (nLituqt,LutrLrp) ptuqLtu!nLIqnLtiLm ct< lptu!utqLI 525999 50 26300 0

33691 420/890 rupnl'r.1runf uqrluLlntlabp (nburqLLLnUbp) ptucLLILUtlnLIqnLtrLur q(
lp ru Ll LLrqL.l 12r0000 40 4rJ400.0

33691 420/891 [tul]nnLLrulrlll u,qrltuhjnlllLr-lr (nLiuitl[;Ltrrl-rbp) pu.rcpltr!nr-lqnL[iLur (l(
Ll ILU tlttl([rl 2 l 5000 4 860.0

336914).01892 lurtrrl)urunn LL.qryLu!rL1,Li1r (rrLiurqL;trutlUp) pLuclLILutlntlqnLtiLm q< lpLulluqLI 151200 3 453.6

33691420/t,9-J Iurl)|llLrulrln Luqqrultlnrlatill (rt[iurqt,trLnIlLip) purqtlul!ndqnLt,Ltn ()<
1p iu [1 LurlLl r57998 I 15rJ.0

36914201894 lupnIrr]mnl.l urqrltultlnLl;Lip (ntiurq[,Ltrttrtip) pLLtcltlLuLlnrJulnLLrLtn q(
lpurLlLuqtl 85998 1 86,0

3369142r/520 [rrrllrrlltLrurrrl.r ttr(Ulull.]Jrltlilin (n[iuiqtiLLnLtrp) hLir}lLt1
(l<

llrurp 0.5 00

33691 422l1i37 Lrupnl.rLuLnnp u,c1qr.ult1nt1o[ip (rrLrLLrqLrUmLhp) qhn2lr tlut] qfuLntLtrbn cI( l1[1ni1 
1 
tut Li 0.5 0.0

3369 I 422l538 ;--r,-", ***i*pr,'-il-'r, *, * -*** q< L1l rprqptu Ll I 500000 0.1 150.u

3369142?.1539 IrLrpr'rl'lLuurrp uqrlLuLlnLphp (nLiurqLitrtnLrlip) {tn2lr tltuLI qpLuIrnLlLhp q< tlf lnqpud 1 1 82000 0.1 118.2

3369t102/1087 [u] l Illr trluIrlr uqrluLJnLlJtill (nhtuqt;IitrlLhp) (i(
I rtLr tn

i I 2800 20 2)t;c) 0

)o 0.0

33tj! II('2ll0UB lLirf rnpur ur np Lt,qrluL1nrlrLip (nLiuqliltmLLip) q( lrrtrLl
6840t) l 68.4

1 0.0

33691 I 6211 089 [u]pnIu Ln nn uq4uuLln LlaLip (nburq[iir mLLip) q< hL.trur
54400 ).0 t088.0

2A 0.0

3 36 9l 1 ti2l1 09 0 llupnl.rumnn urqqutrlnLphp (nliuqLrLLnLhp) q( lrtu rn
20 4 850 2A 4097.0

2A 0.0

3369 r I ri2lr 09 I lrul]nnLumIl urqr]ull.JnrtrLill (nliurqLiltttttttip) q( ltru ur
68400 I 68.4

1 0.0

3369r162/r092 lru pr]l.ur.r m nn urqrliuLlnLl; [ip (ntittrqLrLtnltip) q< hLutn
68000 20 1 360.0

20 0,0

336 91 1 62lr 093 ILu f r n u m n n [] qr ]LUll1 rl lld[il ] (r ri;urq l,ir ulL L p )
q< hurur

I 92000 l I 1)2.0

24 0,0

c\/ 97200 l 972
1?l1O116i1/1nO/ 1,,,,,.,,..',,,,,'1-',
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,l, u,!t, twuJi'rtuvL, \,1r'wYUuu rs!rl r/ 0.0

33691 1 62/t 095 urqQuLJntlrtin (rrtiurillilrutrtip) q< hurLn
59500 59.5

0.0

33691162i1096 LLrq4urLlnL1,rhp (n[iLLrqLitttnlti;p) q< Irru ur
B1 600 81 .6

0.0

33691 1 62/1 09i urq+LULJnrlrh|1 (tr[iLuglitturLhp) q( hLu Ln
44 B0 00 5 22 40.0

2 0.0

33691 I 62ll 09B |l.u lr nnru uillr LrrqrlurL]n r Jrti| (nliLuqtiL LnL [ip )
q( huru'r

68000 68.0

0.0

33691 I 62/1 099 [ull)r]lrlllLil Jlll LL,t|1tLtltlrtt1.rl;1t ([[itirql,irtrlirLip) c|( hLu tn
68000 6B.0

0.0

33691 162/t r00 Iur I n frtum Jrn urcl4urttln tpliyr (nhLu qLiLLnIthp) q< hurur 40000 40.0

3369r162/1 101 1u pn num nfr urtl4LLrLln t1a[, p (nhur qt,L utltttp) q< h Lr.r ut 190 1 000 190.0

33691162/r102 urqquLlntpbp (nhurqLiLLn!hp) c)< httrm
83000 25 2075.0

25 0. (l

33rj91162/r 03 u,qrlurLlnrtJblr (ntittrqIiuurLtip) q< I rLtr rn
62000 1 6 2.0

1 0.0

33691r62/1104 uq4LuLlnLlrtip (nLiurq[iULnL[ip) cl<
I rrttur

66000 ?2
).5

1650.0

00

33691162/1105 lu pn lr ur ulnp u qrlLutrln Llc Lilr (nlitu tlLrL LnLlip) q< huLn
46/5A I 4G.B

1 0.0

33691162/1r0ri ru Jrrllru Ln n Tr urc6tull nqrhp (niiurqLiLtnLbip) q< hru rn
2t:i000 )_5 5375.0

25 0.0

33691 1 62/f 07 Lu prl'lu Ln rlrl Lr,qrlLLrLlJnrlJLin (llLiuqtittutlt hp) q< ir ru tn
78000 1 78.0

1 0.0

33691162/1108 LU []n p uulr.rl.r tucl4ruLln Lp Lp (nbLl qt;LLnLhp) q< hutLn
t2li000 )5 3l2i;.0

?5 0.0

33691r62/r110 rlpnpLuurrlr LLlcltlutltlnLpLilr (rtIitLrclliirtnlLtip) q< hrrrr.n
89250 B 714.O

2 0.0

33691 r 62ll |,1 Lru l rr l r u m rl p u, qrlLultl n L;o ti p ( nL; ur q t iL trlL [i p )
q< hLuLn

901 00 4 360.4

2 0.0

3691162/1r15 [r] J]rr rt Lum nf u,c!]uLln rlJ Lill (ntruq LittutL[ip) q< hLuLn 7n50 1 7)3

33691162/11r6 [u]pnnLuLnnp ulclluiLJnqrtjn (ntiurqlrUmLbp) q( lrLrut
99450 I 99.5

I 0.0

3369r162/11r8 lLLrl'rrl.lrxulnn uiq+LuLJnr[d[in (nLituqtiiLmLhp) q< IIrutn
671 50 t5 1007.3

t5 0.0

33691 1 (i2l| 20 Lu pnI Lufl nI u,qr]LutrJn rtl Lilt (nhurqliliLnLbp) ().< hru tn
5t000 I 51.0

1 0.t)

3369r 1 62/r 293 LLulnnu Ln nn urqluu1ntpLin (ntiLrqliULnLtip )
g< hrrrur

45900 3 137.7

') 0.0

3369116211255 .ru pnpu ur]I u,(LrlLuLJr ) lldLilr (nLiurqiill ullt Lip )
q< lr LLr Ln 51 000 I 5r .0

33691 r 62/1 298 Lu I nnru ur np urqtlLul.tln Llahp (nLiurqliL mlL hp) q< hum 331 50 1 33.2

33691162i1300 lLirpnnrumnn u,q4ui!ntpbn (nhurghuLntr[in) q< Irnrur ?,397 00 7t9.1

33691 1 62l1 303 [(u J]nntumnl.l tL,q4urLlntlrLip (r rlittlqLiLLnLtip) q( lr rLr ur
44 9650 1 349.0

0.0

3369r 1 6211 306 Lu pnnLu un nn Lr,qr) Lull1nr ltrLip (nhurqtittutlthp) q< lrrrrur
r079:i0 215.9

o-0

33691 420/895 cI< lpLulpuqLI
59500 59.5

Iurlrrrllru[il]p LL(|]tutl.|'ltlJLill (r1L;ulqLiuul(runl FultllrLullnuujr 0.0

330 9t 420/U90 Lt!ri,r)l]rurJrrrl'r n,cuiuluJntliLill (n[;urclLitrLnl.rt;p) ptuqLIttlqnLIqnLLiLm q< lpLu!uqLl
59500 59.5

I 0.0

33691 420/897 g< lpurtlrLrclLI
7 3 9:t0 7 4.0

LLulrllrLULnnI Lr,(|l]Lutr]nrlrLil.r (r)Llr.tl(ili(ltnuLi|]) pttl(llltuLlt'luu|rutiut/l
0.0

33691 4 20/89 B
(l<

lpullLuqLI
59500 59.5

[Ll]nnlrLuuilrI tt]qr]ultljntlJLil) (r)LiurclLiULn{rtin) pultLtluLllruu-llluLiurn
0.0

3369r 420/899 Iul,r]nruutrllt urqr]u.rLjrlttiLin (ntiurcl[illmtLLip) ptuqtltuLlnLlulnLLrLLn cl<
lpLrr [1 tLrclLI

73950 7 4.0

0.0

33691420/900
,l< lpurLluttll

122400 122.4

Lrr(| lurtr}il1 )lilr (r1tru1(l lilltn{rtil.l) ptr(ltlLr llllllulr
0.0

33691 420/901
()< ppurLlLuqLI

66000 6 396.0
LLc|1ult]nt1rL,ll (ntiur(lL,UulULifl) puq0ttlLlnLlLLIr'ltltiUUl

6 0.0

33691 4 20/9 02

33691 420/903

Irrl,nlrruurrI rtrqtirul4rrLloLi! (nLiurq[ttrtnL[rp) pLuclLlur!ntlulnLtrLLn (I(
lpurLlLuqtl

37 4AO 6 2).4.4

6 0.0

q< lpLuIpuqLI
140400 t2 1684.8

lurlrDl]lLl[]nlt u cllutltlrttlr[i1r (nLiltlqtitlLl]0Ln) ptu([tlluqnLlu]rlLllitlLll
l3 0.0
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33691 420/904 lrut)npLuLnr'rlr r"uq4ullUntlJLilr (ntituqlilutt[ip) ptuqLlLutlntlqnLbLLn q<
lpur Lltu clLI

45360 4 181.4

2 0.0

33691 420/905 q<
lnu[luJqLI

73000 12 876.0
ItUnnlltLlulllll UlqlltuUlntlaq.l (lltiulqLrutllLlLilll Plu([t]L{rtlrrLiul

13 0.0

3369 t420l90rJ q<
;pur!ruqLl

26000 20 520.0

ILUFnlltUUrnll urqllLUU]rlllJufl (lltiL(rqt'uLllLlti|l) pu](ltltllLlrltlul
15 0.0

3369r420/909 [urpnpLumnn uq4Lutt1ntlotr-p (rttiuqltLtnlhp) pLuqLltuLlnLIulnLLiLLn q<
11rrutlL.uc1LI

26000 20 520.0

15 0.0

33691 420/91 3 pLrpnnuLnnn LucyluLlnLgatip (ntiLuqtiLmLhp) ptuqdLLrqnllulntl[iLLn g<
tnLuLlurqd

I 64900 I r64.9

1 0.0

2431 1 360/50r Ii-uLrrnlrnLtih t:llrrnhut
q< I llrp rrlpLu LI 2000 2 .1.0

33691r62/548 lurrrpLu Ln np urqrlurll n tlJ Lip (nLtLrqLiLmLtip) q< hLtrLn 90000 90.0

3691 I 62/549 ru. cl r j Lult t r r t lr Lr l r ( r l r LLr (l t r il ulll iilr )
q< lrurtn 99000 99.0

3691 162/550 [u nnr]u ul n n LuqrJuLJnrlrLip (nhtuqliltutltbp) q< lrLu u 1 29000 129.0

3369i 1 62/551 I ur pnpLu u r)fl Ltrcl qurLln L1;[ip (n[iulqll U inll Lip )
q( hLu tn 31 5000 3r5,0

33691 1 62/552 I rlr Fn llru Ln nn urcpltLrlrln L gri, p (n[ituqtiL mlt hp) q< hulLn 84000 84.0

369 r I 62/553 l ur tln l'rrumnfr urqrl LuLln Lptip (n[iur q LiLLnLtip) q< lr ru ur I 08000 1 08.0

3369r lu2l554 prr 
l 
rn p ruulrrp tt,qrl rulln Llc hp (niiurq LiittnLtip)

(l< ltruur 78000 7 8.0

3369r r 62/555 pu lT r'\nLLr Ln n n ur c1quL1 n tpLip (nhtuqlilmLtip) q( Irurrn B1 000 Bl.0

33691 1 62l556 .rupnpLUunp LL.qr1tuL1nLl-ctip (nbuqlilLm!tip) q< ltrrt rn 72040 72.0

3369r r 62lss7 .Lu I, illttu u rrn tt,c14Lull1n Llchp (nLiruq lrL LrlLLip) q( IrLrLrr 26r 000 2Li I .0

3369r 1 62/558 Lu pnfiuruinfr urclq LuLln L1ab1t (nliurq[iL LnLhp) q( hurrn 9tr000 !)G.0

33691 1 62l5s9 ruf nlrtrrulnl'r u,cllLitLlntqrLip (ritiurq LiLurL[ip) c)< hrurn 69000 2 1 38.0

3369r102/560 I L\rf nl.]Lum 11l r urqqull ntlatilt (ntiurqtiLLnLhp) q( lrtrrLn 72044 7)..0

33691 lt,2/561 ILU l]npru ur rlfl u.qrl uirlnt;:[.ip (nLrurqL,IttnLtip )
q( lt Lrr Lrt 90000 1 U0.0

3369r 1 62/562 tnlrruLnr.rlr u,qr1 Lutrln Llotip (nbutqtlL LnItbp) q< hLrrur 288000 2BB.O

3369 r 1 62/563 Lutr rpu..rulnn uqrlutrlntlalip (nLiurqLilLutlttip) q< hru ur 387000 387.0

3369 r I 62l56,1 LLullnnLu ur]Tr ttrqrluLJrltfJtin (ntiuqLiLLnLtip) q< lrurur 69000 69.0

33691 1 62l565 LLuFnl.rLuumn urc14Luh1nLla[ip (nbLuqLiLmLbp) q(
I rru ut 87000 87.0

33691 1 62/5ri6 l.n n umnn uq rt LULIn tlahn (nhurqtil-rtrttthp) cl< hrutn 7s000 75.0

13ggll-62/!91... _-
33691 1 62/568

lllll [yurg11r1tttxtr111pL,n 
(ty$I'u]gn)___

rlrt.Irnu$nl1 u,q+uujnttoL'n (ntiLuqt,LtnUhp)

q< Irrurn TBOCO
't8.0

q< hru ur 300000 300.0

3369| 62i570 I Lu trnllur ur nn LLql urhjntl Jtin (nLiutq L,utnl Lip q< lr u rut 1 68000 1 68,0

33()9|6215/1 rnlrumnn Lrrq 4Lul]ln tptilr (nlrur qtilLn'trLin)
(l<

lt Lr rur 57000 I 57.0

3369116)15/2 rpuurnp urqqLultlnLloLrlr (rr[iuqLiLLnI
(l< hurLn / 440 l0 l4.0

336911621576 I
q< hurLn 3,15000 1 345.0

33ii91 420/1,23 lrut]il1]LuLnr'rl'r u,qr]!ullnrlcLip (ntiurqLiLurltrp) ptuqdLu!nLlqnLtiLLn q(
lpLLrtlurclLI 1 80000 1 180.0

336914201524 [tul,t]nLuutr.ll't LL,cylLutqnil;Li1l (rrLrurtll,irulhLn) puttltlurLlnLlqnLLLLn g<
lpLLrLlruqLI 1 200000 1 I 200.0

3369r 420/525 lLulIrl.t!ulnrr u,qrlurlljnrtr[il] (n[iLuql,LLnL[ip) pLuqLIu!ndqnL[iLLn q< pLrtLltirqLI 17.r000 l 17 4.0

33691420/52r., It,rl,,,l,u,r,nl, 
u,(UtLUltJrttJLiF (n[ituqLiuLnLhp) purqdLutlntlu]nLtiLtn cl< gpur!tuqLl 90000 l 90.0

336914201527
I 
t,rpnnrrnn uqqLuLynrphp (nhuqLiLmLbp) purqduqndulnLbLu q<

lpLrLlLuqtl 90000 1 90.0

33691420/528 lLuIrlr(uLnnJl uiqrlLULIJnlliti[ (nliurqtiLuLLip) pucltlur!ntltqnlLlrliul q<
lpLutltuclLI 90000 1 90.0

3369142.01529 ILUpnlru]ulnfl urctrluLJntlJtr[ (n[,LLrt1[ilLurl[ip) purqlLu!ntlqnLtiLLn q< rpLu L1t.u qLl 90000 l 90.0

3369r420/530 LuInl)LUmnlr urq[urLJntlJh[ (ntiLuqLLurLtrp) ptuqdLtrLlnLIqnLtilttt q( lpurlpuqLl 90000 l 90.0

3369142ri503 [Lupnnuu]nn urclltullrtLle[.ip (nLiLLtqLiLmLtip) hhrlnLLl q(
llrLnp r 800 20 36.0

33691 421 /5 04 llu pn lrrumnn urcylLuLln Lptip (n[uqtlL LnLhp) hbqntll g(
llrLnlr 2000 10 2 0.0

3 369 r 4:12l51 0 Lrurrrllruurr.rt') u,qrltuLJntpLin (ntiurqliLurtrhp) tfrn2lr !Lutl qlLuLnttLb q< Lllrp.rqputtl 6000 2 I 2.0

33691 4l2lir 4 0 LruJrnt)LUUrnJr LL.cpltLrLlntl:Lip (nLiLuqlitrmlLtip) t.f n2[ LlurJ qpLuLnLlLbp q< t1[y rtlgrLuLl )2oo 2 4.4

336914)).1541 [uJprl']LuLnnn urcpLultlrrLJ':hp (nLiurqtilLrlLlip) Lf n2ir Llutl qpLuLnLlLbp q< [llrprqlrurd u00r) 4 )4.0

336914221542 tlupnnuLnnn uq4uuLlnLpLp (nliLuqtiLLnLLip) Lf n2lr 11uLil qpLuLnrlLbp c)< llf prqputl ri000 1 6.0

336914)).1544 lruirnnu-rurnl'] urclpuLlnLptip (nLurqL;trLntlhp) t.fn2[ tlLutl qpLuLntltthp q< IllrLrrllrurLI 435 30 r3.1

336914221545 Lull,ill)ruulrlI u,qrtrrl]lnllJLllr (rliiurtlL,LurLtilr) r.llrr2il llLtrLl qlltuLrlLlLLip
(i< Lllryrtl gtut tI )250 40 90.0

33G9116).1577 llupnnur unlr Lt,qr l urltintl rLil l (r rtiruqtlLLrtL hp )
q< irLrrLn 12 0.0

33091 1 C21578 [Lu nnnLu u]nn u,qr1 Lultlnilrhp ([Llurq[rLtnhLip) q( IrLttLn 2 0.0

33691 I 62/579 Lrrl4LuLlnLgcbp (nLiuiqiiLLnLhp) c|< hulul l0 0,0

33691 r 62l580 .ur p n l 
r Lu ur n lr ur tpl uI4 tr t la Li 

l 
r ( nt it t r cl hL urL [i p )

cl,< hrum t0 0.0
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336911G2/5Bl [r\.lprrfr u m nl'] urqrl uLl n tla [in (ntiurqtiLurLtip) q< hLLrLn l 0.0

33691 r 62/5B2 LrupnnLu uil-rI u, clquLlrLp Llp (r rliu qL,LurL[ip) c]< hLuLn 1 0.0

3G9r 162/583 lutInnLU ul nf urq4ult]J rlrlrtin (ntiurqLLmtLLip) q< lrurtn 1 0.0

33691 r 62l584 lu [rnnLU u,] rtn uqnultr1rtt{J[itr (nhuqLiLLnLtip) cl< ltrLrrl l 0.0

33691 1 62l585 [Lupnpuurnn u,qrlurlrlnLlahp (ntiurqt,LLnltLip) q< hLurn 2 0.0

33691 1 62/586 lLLrpnf ruunn uicyitLrllnLpbp (nliLLrqtiLmLlip) cl< htuLn 7 0.0

33691 1 62/587 r l rni.rru ur nfr u,c14 ttrL1n t1;[ip (nLiLLrtliiLtnL[ip) q.-
I rLrr rn I 00

3691 1 62/58 B u pr rl.ru Ln np urqr) LulUn tlr[ilr (nliLuq I iL mLlip) q< lt rtt rl 1 0.0

33691 1 62/589 u pr rpu m nl.r u,clqLultln Lptip (nliuq tiL LnLLip) q< hurm 7 0.0

3369 r b2l59 r u pnl.lur m nn u.cl4 urtrp Llrlip (nLiurqliL LnlL hp) q< lrurur l0 0.0

33691 1 62/592 lurlrnpu ur rrlr u,tpiLuLlnLlrbl r (rrLrurqi,LurLLlp) cI( hurLn I (.).0

3691 1 62/593 1u Fn n rumnn u,qr1 rulln Lptip (n[iuqlitLLnLhp) q< h ru Lrr B 0.0

3C9r 162/594 rr 
[ 

] n [] ru ul n 
l 
l ur cy l LrLl rr Ll r b p (nLi ur q t:L utlt Lip )

cl< IriuLn I 0,0

369| 62/595 Lupnnru ur rrn ucjltuLlrrtl;hp (r riiuqtiLmLtip) q<
l rur Ln 3 0.0

309r r 62/596 Lulinl.rr.l.runll Lr,qqLul"rlrrLlohlr hurqtiu inU L:ip)
q( lruur 2 0.0

36911ii2/591 Lupnlruruinp uqrlruLlnLptip nbutqlittult[ip) q< I rruLn 2 0,0

3691 1 62l598 urllnlrLUrrr'rp urqrluUlnLlo[ip rrLitLrqIiLuLhp) q< hruur 2 0.0

3691 1 621599

3691 420/531

trxlrnnLuLnnn uqquLJntpbn (nt:iLuqtiLmLbn)

[u-]tunumnn u,qqurL.,nrlrbf (riLiurqtr[rtnhhp) puqiltuqndqnUbLLn

q< lrrurn 4 0.0

('I (
lprLrLlrLrqLI 6 0.0

3369 I 4 20/532 lLupnlrLr.rmnn uqrlLULIJntrrirJr (nLiurqLiiiutLLip) puqLILu\ntlulnLtiLm q< lpur lltu clLi 6 0.0

ffi;il; Lrul\rIruurnfr u,qqullntpLip (nlltLrqLiLLnLlip) putqLIuLlnLILqnLhLur
(l(

lp tu ll Lttqr-l 9 0.0

3369 r 42 0/5 34 IrLrprpLuump urqqLuLlnLpLip (nLiurclLilLnlt[ip) purclduLlnLlqnLL,Ltn q<
lpLuLlurqtl 7 0.0

336?1429f3s _
33691 420/536

[upnf umnn u]qr']urlljnttatr-n (nhurqtillLnillin) pulqllulqndqnLhLm

LurpnfrLuunf u,qriurLrlntpLip (nLtrqt,LLnLbp) ptuqdu!ndqnLbLm

cl<
lpLLrllurqtl 300 0. i)

q(
l1rLLrL1ut1LI

300 0.0

33G914?.01537 rpLuLnngr LL,qrlLultprl;trp (nlir.uq[tLmL[ip) pLuclLILullnclulnLLiLLn q<
lpLu [1Luc1LI t,l 00

33691 42O/ii3B Lu]FnlrurulnI u,qquirlnttJLill (nliurqLi);mL[ip) ptuclLILuLlntlqnLiiLut q<
lprulluclLI 5 0.0

33691 420/s39 LrupnflLULnnn urqrltuUlnLpLrp (nhLuq[ilLLnLtip) purqduLlnLIqnLLiLLn q< lpurLltuqtl 1 0.0

33691420/540 llut,rrfiLuurrtlt Lt,qrlurLlnLlrLip (nL;LLrqtiLntrtip) pLuqtltuLlntlulnLLiLLn c)/
;prullLuclLI 1 0,0

3369r 4?0/541 [L][]nl.rumr.rJr u,qrlLULJnrtrti0 (nliuqL,LmLhp) puclLlur!ndqnLtiLm cI< tn(uqurqll I 0.0

33G914201542. [ulnJ]uJrnnl'r tuclqLuLlrrtJrLip (ntiuqLiLurLtrp) ptucltltlLinLlulttltLiLut ct(
1p Lu l.1tuc1Ll I 0.0

33691 42 0/543 lr.i.rpnnuLnnn urqrlLuLyrrlaL,-p (nliurqi,LmLbp) pLucltltutlnLIqnliLiLLn q(
1p ur [1 tLrtlLl I 0.0

33691 420/544 ILUpnlluu]ntr urqrlL!LJntptilt (nliurqtilrurtrhp) ptLttlLlLutlntlqnL[iLut q< ppurLlurqd 1 0,0

33n914201545 pill)nfrLuLnnl'r urqrIurl.rJriLlrtitl (ntiuqLiLLnLtip) puiqdluqnLlulnLtiLm cl< ppurlltuqLl l 0,0

3369 l 4 20l546 uqrlLuLJrrtliLin (nLLuqLitrtnlLbp) pLurltlurL|rdulnLLiLur q(
i Jr ur [1 ttrclLI 1 0.0

3369142tJ1547 u,qrlLuLlnrgrlip (nLiLuqiiUtnLLip) pLuqthuLlntlqrtLL,Lul q(
lpurLlLLrclLI I 0. (_)

33691 420/548 urrlllLutrliltld[ilt (rtLrurcll,uuluLill) ptuclLlLtlllnrlultrUl,llur cl(
lptuLlLrqLI I 0. (.)

3369 r 420/s4 9 l prp,,pu,u,rp u,qrllulJnttalitr (nLiLuqtilLurLtip) ptuqLlu!ntlqnLLiLtn q( prLrtltutgLI 1 00

33691 1 621600
I L,rl,,,n,rr,,,l' tr.(U lulljntlrtil.l (r rLltt,Lli..rurlltip)

(1.< Ir,uur 4 0.0

33691 r 621601 lur FnlrLU unll u,q4urLln Llolip (nLiLlqtitrtnLhp)
(I<

lr tu ur 4 0.0

33691 1 62/602 Lulpnpu.rurnl'r urqrlulll1rtttJLrll (ntituqLiltutL[ip) g< lr ru Ln 4 0.0

33691 1 62/603 LLuFnnurmnn LxqnuLJntpUn (llbuqtiLtnLhp) q< hLum 1 0.0

33691 1 ii21604 Llr,)r tl tLLlulrlr Lr-tplLuLlnLptip (nlir.uqtitrulltIp)
(l< hutn 3 0.0

3691162/ii0lr tutlrlrtumnf u,qrlulll]ntt.Lill (nburqULutllip) q< Irut Ln 4 0.0

33ri9il02/606 Lru [!r ]pLu urln u'c1 1tulrlrqrL;p (ntiLuqLilLutLtip) q<
I tLtr Ln 5 0.0

33691 1 621607 [Lupnlrurmnn uqr]LuLJntptil (nbuqhlmLhp) ()< lrrLtrn 4 0.0

3691 r 62/608 lLu pn prumnp urqrlLuLln Lptip (ntiuqLiLLntLhp) q< Irrtrur 12 0.0

33C9r 621609 Lrutrntltrtulrtn l.rrqrlLuLl.JnItJ[il) (nhuqtiIILnLhp) q< lrtru 14 0.0

336911C2/610 Lru l lllru]m rrf tt,clqullntlJLitl (n[ituq LiltutltLp) q< lrtrr trr 4 0.0
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336911t,2/611 LrulnnuLnrlll urqqtuLjnltrhn (nhuqhuLnLbp) q( lrtuLn 6 0.0

336911621612 Lrunnrtruurl)ll urq4urLjnrlaLrll (nlrurqliLtnLbp) q( huur 10 0.0

33691162/613 lur pnlrulLnnfr uqrl r,uLln Llotin (nbLu gttL urLLip) q< hurm 4 0.0

3691162/6r4 LulpnnLumnl urq1ultrjnttJLin (nLurqt,Lutl-ttip) ci< hum 6 0.0

3691 I 62161 5 LrulnI ru ur nl uqr.]LuLln tlJ hlt (r r[iurqLiLLnLhp) q< Itrtttn 6 0.0

3691r62/tjrb Luf r rpu.r ur np urq4urltln tpLip (nLutqliunLlip) g< hrtrLn 3 0.0

33691 1 62161 7 LLupnnLuLnnn uqqutrjnrpbn (nhuqtilmLbp) ci< hLu rn 12 0.0

3691r62/618 I L] 
l 

r il p Lu ulll l.] u, qtl uLl.l n l lr Lin (nti ur q t i u LnL tip )
q( lrLttrn 3 0.0

33691 1 62lt,1 I tLu pnIumnn urcl+LuLJn rlJti0 (nhurqiiu ullthp) q< h ntur 1 0.0

369r 102/620 LLu[]rrl'ruimnn uq4r,uLlnLpLip (n[iurcllilrutirLip) q<
l.r ur ur 6 0.0

3369r r 62/62r Lupnnumnf ruq4urLlntfilhll (tttrutqlilLLnLtip)
c)< hLir rl 2 0.0

3369116).16).2 lur]:!nrrLur..nnn urqr]uLJnrphll (n[iurqtiltnLLip) q< hLuLn B 0.0

33691 I 02/623 u ; rnnrumnn u,qrlurL1rr ttrtip (nLituqt;LmLL;p)
(r {- Irru m 4 0,0

3369 r 1 62/624 Lur lrnnLum np tr, qq r"uLln L1;Lip (nliiu qti.tutLl,p) g< ltur ur 2 0.0

33u9r r021625 LrutrlnLU U n Jr u,q4uLlntluLip (ntrLuqL,Umlttip )
q( I rtrrrrl 2 0.0

33691 1 621626 lu lr r l'l Lrt u] n0 urqrl LuLltt Llo lil r (r rLiur gl;l ul tt[;p) cl< lr Lu Ln 6 0.0

33691 I 62/627 Iru pnpruur nfr ur qqr"ull n tp [ip (n[iuqLrltmLtip) q<
I rtrr ur B 0.0

3369r 1 62/628 LLr pnfrLU unl.l u.q yurLrprllLip (r rliurqii tr utlt L:1t)
q< lrLLr ur B 0.0

3369 l r 621629 Lu I 
r r I I tu ut n 0 u, q4 ruLl n L1o h ;r ( nLi Lu q [ilr urL Li p )

q( hurrn 6 0.0

33tj9llb2r'{-,Jt) LrtllnlIuLnnn u,qr]ruLJr'lrlJtip (ntlurqliLuLtip) q< hnrut 6 0.0

33691 1 62/631 [LupnpLULnnn urqqurL1ntpbf (nbLuqtitrmLbp) cI( hurtn 5 0,0

,ru?llurfrl __
33691 l 62/633

Llilly1 -q4.,t r ^tt, t,* f19T1__
LUrpnnumnn u.q+uujnrrr[irl (ntiurqtiumtrhp)

q< ltrurrt B 0.0

q< Irtttur 10 0,0

3309 r I C21634
()< IrLttur 2 00

33691 r ii21635 urqrputr.1nLlcbp (ntittrtlLiLLntrLip)
(l< hur tn IO 0.0

33691 r 621636 tuqlLuLlntpLip (ntiLuqIiLLnLtip) q< hurm 10 0.0

336911rj2i637 [L!] ilrnLu ul rln u,qrl LuLJntli[il] (n[iL| gtilmlrhp) q< huttn t0 0.0

33691 1 621638 llu pn lumnn u.ql ttlLjn ttJtr'l1 (n[,utqLtliuitLip) q< hLu rn 10 0.0

33691 r 621639 Lurnnpum nl uLclqrull n L1r[ip (ntiurqtilm ulip) q( lr LLr trr 12. 0,0

33691 I 62164t) *r;,*,.*-*t:p,,", [uqbLrnL bp) q( hLuut 10 0,0

33691 r 02/64 1 tlupnf rumnrr uiqr'lurLJntlct'ilr (nLiLuqtiltmLhp) q< Irurtn 2 0,0

33i,91102/t,42 lti.l1,rr11,ru,,',,'' urq4[!l]lntlrLll (ntiurclL;LmULp) ci< llrLtLI ) 0.0

33691162/643 Lr.u 
pnpLU Urlp LurlqLuhlnLpLip (nliLuq [tLmL bip)

ct< lrLuLn B 0.0

33691 162/ij44 Iru ltn nrlmnn uiqr] ulry1 tlrtn (n[iurq[iLuLlip) ct( hruLn l0 (.).0

336911621645 Lupnpurfi nn urqputrlntpbp (nLurqLiLmLbp)
()(

hLLrur t0 0.0

33691 lG21646 r,rlllr*ln 1 i*tr,p:n (111!,,-t,t,n) 
.

lurpnfrumnll urq4utrlntlrhn (nbuqtrlmLLp)

q<
I r ltl tIl 3 0.0

336911b21b47
q< lrruut B 0.0

3369t 621648 u,ry 1uLln t1r Lip (ntiuqlilurLl.ip) q< Ir ru rn B 00

3369rr62/049 tuqr]uLJ n rlJLili (n[ituqLiLLnU[ip) q< itLrLn u 0.0

33691 1 62/650 urqnurLJntp[i[ (nLrLuqtrlmL bp) q< hLuur 6 0.0

3369 r 02165 r Irri)nnrLltnrllr uiql]LuIlJIltlJtill (rrL,trrtlIrLLntrbp) q<
I rLtr ut t0 0.0

33691 1 621652 Ltrr l-rnpLu m nf urqquirJntlJ Li J1 (r rliuqL,LurUi p) cI< lrurtrr 3 0.0

33691162/653 trrpnpLUurnp urqryuLlnqabp (nbuqLrlttntLhp) q( ltLuLl 2 0.0

3369 l l 621655 Lupnf ru u nn uqr lLuLlnL;obp (nLrtLrqtrlLmLhp)
()< Irru un B 0.0

3369r r 62/656 lur l.!nIu m nn urqq ullp L1a[ip (nliLuqiiL LnLtip) cI< lr Lu rn 6 0.0
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33691162_1657 [Lxl,r]lrtuulnl urclrJuiLJntlrLilr (nburqLiLLnLtip) q< Ir ur Lr 3 0.0

3369 f 62/658 uInnLr.rulnn uiqrlurLJntt.rLip (nLiurqLfu LnLLip) q< hrrrm 3 0.0

3369r 1 621659 ILUlT nnrumnn urqrlLuLlnrpbp (nburqtiLunlhp) c)< hurur 3 0.0

33691 r 62/660 Lru pn p ur ur np u qrlurltl n tl.r Lip (nt iLr qt iitutLLip) q< hLu ur 2 0.0

33691 I 62/661 lurI11l]rumnfr urqrlurlr1ntptip (nLiurqLiLLnL[ip) cl< hLuur 6 0.0

3JU 9l I ()2/tr62
lL{r I ! n p iu m n n r qr} Lult1 r r tir ti I I ( nIi ur qli iL LnL L, p )

q< hLuur 3 0.0

3369r 1 021663 [u pn l.r uu]r.rl.l u,qrl LuLJn rtJtin (nbui q[iLunLbp) cl< hutrn 6 0.0

3369 I r ri21664 Ltrli)r)llurLnnf u,c!1u-rtrlnL1:[i1r (ntiurqLiLLnLhp) q< hrrt tn 3 0.0

33691 I 621665 LrupnpLuulnll uqquLlntlaLip (niiuqLiLLnLtip) q< lrrrr ur 3 0.0

33 ri9 r rr,2/6 67 u | il lt Lu ul n n [. qr] urIlJ n t lr Lii'r (n ti LLr qLiL tntl ti p )
q<

I r ruirr 4 0.0

33691 162/66r1 LuPnnLu ur rln u,cll]uujntlaLil (trliutqti uLnL Lip)
q( lrLrttn 5 0.0

3369r I ri21669 Lu pl )pLu urlp ucllLuLln rp[ip (ntiLuqLilL utLbp) q< lrrrur 5 0,0

3369 r 1 G21670 Lupillluullll ttrtltlultlnilr[i1t (r ItrtrrqiriltnllIin) q( hlutn 12 0.0

33691162/6/r Lru pnnLum nl uqrlutrl rrLlabp (ntiuqtiltnLhp) q( hrum 40 0.0

,"rr-l* Irrrir'rpLuLnrrn Luclriurlrlrrqrhlr (rrt;urqliUmLhp) q< lrruut ).0 0.0

3369i 1 621673 ;trrr-"1r **r,**,l ("*qtiLmLbp) q< hruur 3 0.0

33Ct91162167 4 lru pnnuru]nll urct[urlr1n tl]tilr (n[ur qLiLLnlL[ip)
(l( Irurur 3 00

36911621675 Lupnnumnn urqrpuLlnLgrhp (ntiurqtiLurl[ip) cl( hru ur 3 0.0

3369 I r 62l076 [upnnuJLnnI urqrlullnLlahp (ntituqhLurlhp) q< lrutut 4 0.0

3Jb91162.16/7 lurlr.llrrumrrn u,qr1LuL1nt1:[ip (nLiurqtihtnLLip)
(l<

lr ru ur 4 0.0

3369r 420/550 *,.*-r"r*,r*,,(ril;-*r)tr-rrq**-* q<
1p tu L1 LLrclLI t0 0.0

33691 420/551 rrlluulr.rJr urqluLJntlJLi0 (niiuqL,LmLtip) pr.uclLlur!ndqnLLiLur q( pLLrtlurrlLI 4 0.0

331412111564 rd2lLulurL Lu11 qnp6lrplhp - ulurpLucluLLin q< hutLn 72996 I 73.0

"'111L:-1--
33141223/502

,.31i1-t:'_*-1111

pd2llLu ltuL ru1t qnn6hBLtin

rrlr.(ll rr q urLlifr purqLlLutlntlulnlt[iLm

rtpulrruqurlrtilr pLuqtlLutinLIulnLLiLLn

c)( gptLrtltuqLI 40000 63 25?.0.0

q(
lp ur tl utclLi 87 999 2 1 7i-i.0

33t4r223/5C3 pc)2[pLrllLLrL LLrlg qnpSlrplrli1r Lr1LLtptuclutltbp pLuclLltul-lntlqnL[iLm q<
1 rtrr I lirr clLI 64999.2 5 325.0

3314122315C4 pd2!iu LILuL u11 qrrpS[pL bp u1 urpLtrqu!bp puqLllutlndqntrbtrm cI< lptu!cuqLl 25998 1 ).6.0

33141223/505 p,J2LlurL1ur: Lu11 qnp6lrl2trLilr ' trlt-rlJ.rttrclurLlitr ptucltlurllntlulnLLiLLn q( lpurllutqtl 39996 I 4 0.0

3314122315\2 pd2Llur L1 LuL u1 1 qnp6f ltLiilr trj urlr rr(l utlbn puqL[u LlnLIq nLtiLun q(
1pu.r L1 ruqtl 39996 I 40.0

33141).231513 pd2tlu LlLuU ur11 gnp6lrlzlr Lip - Lq Lu pLuclurL lip pLucltlurllndulnL[iLLn ()<
lnuLltuqll 3900 0 5 1 95.0

33141?.231514 pd2LlLLr[1LLrL ur11 clrrp6lrplrlilr tLltupLtrclLtiLhp pttrqtlttrLlnLILtlnLLiLLn q<
1;rLLrLlLuqtl 849999 2 1 700,0

33 r 4t 22315 l 5 pd2L1r.uL1tuL ur11 qnp6lrpLiilr 'tqLLtlrLuqurLiiJt purqdLULlnLILqnLliLLn q(
1p ur [1 Luqtl 240000 2 480,0

3309ilr,2/678 r l n p Lu Ln n [ [ qrl tulll n tl ) tin (nti Lu qtiL tnL ti p )
q< Irurrn 7).990 2 14 6.0

3369r r 621679 r Pr lnru u] nll urtl4LuLln Llltip (nbLuqtiltulttbp) q( hrrrtn 5r 99G 2 104.0

33691 1 62/680 turclrltuttlntlrLilr (ntiuq li!Lnlltrp) q< hurLn 63999 4 256.0

33 691 1 o216 81 I 1*.,1,,,p,u u, n1, uqr l utLJrlttlLill (ntlurq [iLLnLhp) q( lrLrLl 89000 30 2.67 0,0

:.r1.1f"_
33691 1 621683

r f nf Lu ur nn Lrrqq r.uLin L1:[rp (nLiLuqiill utltLip)
(l<

lr ru tn 1 25500 30 3705.0

[Lupr]fruulr.rp urqr.]L!LJlrtlrtiJr (ntiLrLqLilrtnLIp) q< It ru ur 50000 30 1 500.0

33691 I 621684 lupnnumnn uq4ruLlnLptilt (nLiurql;ItmLhp) ci< lr u rrn 59000 30 1./ /l).o

33691 1 621685 [Lu pr]nLu Ln nl'r ur qr ]utLJn rlrtin (ntrurqLiLurlhp)
() a- hLuLn I 38996 ) 27 8.0

33C91 l 021686 t.rltrrlruLnrtlt u.qrlulLlntll[r0 (litituqL,]rLnLt,p)
(l< lrutLn 9r 99B 4 36B.0

33691 1 62lC87 ru []r'rf]Lu ul nI u,cIituLln tJl[i1r (ntiurqLiLurLhp) q( lruLl 6/992 1 68.0

a*rrt/*t (l<
lr Lu ur 1 03999 5 520.0
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33ri9lrri2/689 u,q4LuLjnrlr[ilr (nLiuqliLuL tip )
(l a- lrrrr rn G4999 IO 650.0

33691 1 62i 690 uirl4LuLlrrrlahp ( nLiurq[rLurL Lip) q< hLu Ln 61 992 l 62.0

33691 r 62/691 Lruf npLuLnnp uqryuLJnrphn (ntiLuqLiLLnUtip) q< lrurtn 798000 2 1 596.0

3369r r 62/692 [Lu llnlru] u nn u,c11urtr1n LJrtip (r rliuqiiL url L 
1r )

g( lr tu Ll 60000 2 120.0

33691 1 62/693 [u] pnpLu ur nn u,clqtuhlnLphp (nLiuq[rLmLtip) q< hLu rn B4 000 )_ 168.0

33691 I 62/694 [u]lrrrpuu'r)p urqrlLuLlrrlo[.ip (rlliulq[,lLtnLLip) q( lrLttttr 9199 B 2 190.0

3369r I 62169s tlupnnuunn urqqLutr.,ntpbn (nhurqtrlLnLbp) q< huLn 57999 2 11 6.0

3369 r 1 621696 L l l, l l ll tu ul r l n u' tl4 LuLIl t ;c h ;t ( r r Li u q tit'r tnL h p )
q( IrrttLl 3t 9998 1 3 20.0

336914)0t',:,5), [unnnuunn LtcllutLpLptip (nliLuqlilurLLip) pulqtlLttLlntlqnL[iLm ()<
lpuLltuqLI 69000 1 09.0

33691 420/s53 [LupnIumnn LrrtyluLlnLl;hp (nliurqtilrLnLLip) ptutlLlui!ntlqnL[rLLn q<
lptLrLlrLrclLl 42000 1 42..0

33691 420/554 [rupnlumnp u,c14LuLlnL1otip (nLiLlgtiLLnLbp) puqLILutlntlqnL[iLm q(
lpur lltir clLI 69000 1 69.0

'l:_:'i191::_:_
33691 420/556

lLunnnruulnfr u.qqutrlntJ:Lip (n[iurqliLLntrbp) ptucltlLuLpLlqrrltrltn (l(
1p tLr l1 LurlLI 69000 1 69.0

Lupr'rfrLuLnnI u.c1t1tul.1nt1:Lp (nLiuitll,irurltip) pLuqdtlLlnLIqnLLiLLn q< lpurLlLuqrl 39996 1 4 0.0

33G9r420/557 LupnpuLnnn urqrlLuLJntlrtin (fttiuiqtrLurlLip) puqLILu[lndulnLliLLn q<
lJrLLr !LuclLI 1 08000 1 108.0

33691 420/558 Lupnnurmnfr urqrlLutrlntlah;r (nhurqLiIiLnLbp) ptuclLlLu!ntlqnLtlLm g<
lpru LluqLI 2t4998 I 215 0

33691420/559

33691 420/560

[ruf nnu]mnn urqltuLlnqobp (ntiurq[itrurLhp) pLuqtlurLlnLIqnLhLtn q(
1;rru[1Luc1tl 36996 1 37.0

LulrllrLuumll tL,qrltuLlrrtlohp (rrL;uiql,LLILLp) pLuclLlurLlndulnu[iLLn q( lpLuLluqtl 33000 I 33.0

33691420/561 lLul)nl.lLumnn u,c14LuLlnLptilr (nLiurqLiirLntrhp) ptuclLILutlndqnLt;LLn q< gpurtlutqLl 69r.)t)0 l 69.0

33691 420/562 LupnnLumnf uqrlulir1ntlr[il) (ntiurqlitrmLtip) puqLIu!nLIqnLLi!tn q< gp ru L1 LLtclLI 32,19 6 1 3?..5

3369r 420/563 LLu,rnnLUUrnn urqrltuLlnLphp (ntiLtrqLiLmLtip) pr.uqtltuLlntlqnlrLrLLn q< lpuLlLuqtl 3?496 i 32.5

3369t420/564 [,]l,illrruLnilll u.qt]urujnltJtil (rrliLuql.iLtilLhp) pLuqLlurtlndqnLtiLLn q(
lpur LltutlLI 42000 l 42.0

33691 420/565 lLulupu.rmnfi urrltlurLlnLlihp (n[iuqLrirtntr[ip) ptuqLlul-lnLIqnLLiLtn q(
lpurLlLucltl 42000 1 42.0

3369 r 420/566 lLrri,,,l,rrnn urqrlullJnt{)t.itr {ntiuqtrLLnLtip) pLuclLlurLltrLIuIrLLiLur q< intuLluqtl :i5992 l 56.0

336914201567
I 
L,uRnnrtnnn LuqnruLJntphn (nhurqtiutntrbp) pLuqtluLlnrJqnLhLu q< , p Lu [1 Lu clLI 76998 l 77.0

3369r420/:i6B [-rl,nlluu]rtl-1 urqriLuIlJntlJbn (nLiLlqLlLLrlLLrp) pulqllLutlndulnL[itrtn g< purlluqLI 42000 1 4)_.0

33691 420/1i69 Lruf nfrrumnI u,qqurLlnLpLi;t (nliuqLiLLnLttp) pruqLlurLlntluprLtil.rm q(
lpLLr\LutlLI 46998 1 47.0

33691 420/570 r,Lrpnpuru'r'lfr urqrlurllntlJbn (ntiuqIitrtnLtip) purqduLlnLlu1nLL.LLn
(t<

I r rLr L1 tur1L1 42000 I 42.0

336914),01571 llupnlrruLnnn LLqrlurlrlrldLrp (nliurqLrLutltip) pLucpluLlndqrttrLiLul cl<
lpLu LlutclLI t0-r999 4 4r6.0

.runr*:0,::-__

336914201573

,,,,,,11::l:unlllltrJ:ll 0 it,:uqt :':li,t:-:1l11yll:11
[Lunnprumnrr urqrlurtr]nrphn (nLurqliluilriip) ptucltlLu!ndqnL[iLm

q<
1ptul1tuc1l 20 I 999 4 ur)8.0

q(
lpLLrLlLuql 20 l 999 2 404.0

33691 420157 4 lrupnntuLnnl urqr]uttJntlrtil.t (ntrurqtiLtrrLtrp) pLuqtltuLlrLIqnLLlLLn ()<
11r rLr [1 rLttlL) 354 99 2 710

336914201575 LupnnLuLnnn uqrluLlnqaLip (nLLuqlrtrtnLbp) pLuclLlruLlnLIqnlr[rLLn q<
;pLrr Lqrurlrl r 03998 I 104.0

:Yli'':li_
336914201577

u'|."tyll::.!illl1"II]!:1111.'r)J::i:19'i:':*
LupnnLumnf urqnul1ntlr[ilr (rrl.iLuqLirrurltip) ptutlLlLuLlndtqnLLiLur

q<
lpurLltuclLl 58998 l

qcl o

()<
1p Lu L1 uttlLl 354 999 2 7 t0.0

33691 420/578 u,qrluultlrLlrbp (nhuqliUtnLtip) pLuclLILuLlndulnLLiLtn q._
lpLu lltutll 99996 l 1 00.0

336914201579 uiq4urLlnrpbtr (nburqlrtrLntrLip) pLuclLILu!nLIqnLhLm q< lpui!tuqtl 63000 l 63.0

3 3691 420/5 B0
I

I 
l,rnnnr*nn urcUluLlnqrhp (nburqliLLnLbp) ptuqdLuLlnLIqnLLiUul q<

lyrtuLluclLI 3t 999.92 50 I 600.0

33b91420/5Bl
T-._-_--
I 
t,rt nnu,rnn LuqqurU;nqrbp (nhLtrqtrtrmlrhp) purqtlluLlndqnL[,t]Ln q<

11rrLr Llruqrl 32 4 99.75 ti 260.0

3369r420/582
1.-.--.---..--..---_-_
I 
t,upnnu,rnnn wq4urUJntlohn (nburqhtrmUbp) ptuqLlutlnduln!bLm q<

lJrttrtlurqLI I 02000 l 102.0

33691 4 20/i;83 lLupnnumnfr u-rqrlLultjntptit) (nbttrclL,utrlLLrp) ptutlLlurilntlqnLiilm q< lptu!urqtl 294000 1 294.0

).43?.185115t)1 tllrqtulrlnLp / !tuppurtlf a +< tllr prqp Lu LI 1 0.0

Crl)alrtrua 21



33 21 1 32 0/50 1

([irtltuurlrur t] L[frpntulr LuLurhqbLh npur[1utL1urL htLlrnLurpLipLlulr

ntirrn-h rrrrlru otr6rr L

q< lrurut 1 0000 0.0

3369 I r 621697 [u IrIur Ln nn u(l+Lut]Jrltlrb{r ([Liurqt;lttnll bp) ci< l'ttrr rn 7 0,0

3369r 162/698 lur nnlrurulnp urqlullljn tlJh[ (nhurqtiL urliLip) q< hLuut B 0.0

33691 r 62/699 rupnnrumnI urqqurl]ntphll (nliuqLiltLnLhp) cI< hLuur B 0.0

3369116).1700 lrdlrnntu ur r'tlt u,ql uLJr'r tlJ Lill (nhulqlil]ullthp) cl< lr ur Ln 5 0.0

3369r 162/701 Lrupnnruur rrp urc11-uLlntlrhp (nhuqLrLuLLip) q< hurLn 5 0.0

3369116?t70). Lu lrnfrLu Ln nn LuqluL1ntlrLip (ntiurqhlmLtip) cl< lru Ln 4 0.0

33691 I 62l703 .LLrpnlrtuulrn urqtlurLlnLla[rp (ntiurqi,LurLLip) q( lruur B 0.0

,*n:.r*r:: 
_ _

33691 1 62/705

Iur pn Jr urur.rp ur qq ulrln LlaLip (nliur qlit-rLnLhp) q< hurm 3 0.0

lu] nnrrru u nl Lr,qrl uLJnrl,rLin (nhtuqtiLmLti p) q< hLuur 5 0,0

33691 162/706 u pnpuLnr.rn u,qrlLutrln Llcbp (nLiuqtilt utltip) q< lrrutrt B 0.0

336911621707 Lru pn n ulm nll urqrlLULl n tlr Lill (nlrur tl[ilr t[LLip) c|< Ir ru rn 5 0.0

.'_'::_lfi,l:'_ __
3369r 1 62/709

tupnnuunnn urqnutrJntpbn (nbuqbLml,bn)

[u.ipnnLu Lnnfi uiqnuL1ntla[rlr (nbuqt rUm utip)

q< hurLn 7 0.0

q( lrrum 5 0.0

3369il62/7r0 ;r*-", "-*rr*t1l (rtr-,o*rt q< Irrrrrn 4 0,0

3369116)l /11 LLtlFnlrtuulnI urc!iluIlJntlJLil.r (nLiurq[,Uullt[r1l) q< hum 4 0.0

3365116).171). gr lrn fl ru uup u, qrlLuLln Lp Liyr (ntiurq LrL utltLilt) ci< hurtn 3 0.0

'3'3691\621757
Lrul)nlrru ur rrl.r u,qrltllqntlabp (ntiuqLiltutltti p) q< lrLrru 5 0.0

33691 r 62l758 [u l)n n Lr.rLn nl'] r"t,t14ult4n L1rbp (nbur qLiLnLbp) cl< hurrn 5 0.0

33691 1 6 2/7G5 rpruurrp tuc14tuL1rt1:lip (nhurqLiLurLtip) q< lrtrrLl B 0.0

33691162[/97 uqr1Lutr1n rlat'in (nhuqtrL LnLhp) q< h urLn 4 0.0

33691 1 62l822 r.li,nlltLlutrtl.t uiqr1r,uU1nLl:[i1l (rrtiurqhuLnLtip) q( I rttt tn 4 0.0

I

| 
3369r r 621823 Lu Irnnru ur nn Lt,c11 Luttlntlrhp (nLiurqlilLmLLip) q< lr Lrr rn 5 0.0

33691 I t,2/824 [d I r ] | u u'r.r l.r u, rI l LuLl n tp h ;l ( nliurqt ilt ult Li p )
q< irrtr tn 2 0.0

33691 1 62l825 lrrrlrrpruurrp LLrclluiLlntloLrp (niitLrqLiirtnllhp) q< hruu 5 0.0

33691 1 62/826 [Lu onpu Ln nn u.qq urltlrttl:bp (nhLuq[iLmLtip) q< IrLrrtrr 4 0.0

3369116)lB)7 Lru p r r n u m n n u, qr 
1 
ul-r1 n L1 r [i 1l ( nti urq[ I tt utlt Li p )

cl< hrurn B 0.0

33691 r 62/B2B uqquLJnLltrtip (nt.iurqLrLurLtip) q< I rrrt tn 4 0.0

33691 I 62l829 .Lu F nntu ur nn urqrlLULJrt tlJtt[ (ntiLuqL u tnL Lip) q< huitn 4 0.0

.rur1,ur1::.:_ _
336911 62l831

I lurpnprutnnp uqqLrtrlntphp (nhurqlilrtnLbp)

I 
rrnnnr*nn uqrlutr;ntplip (nLtuqt,uurubp)

.l( lrrrrur B 0.0

ci( Irru Ln 4 0.0

3369 r r 62l832 lu pn trumnp LLql Lul.t.Jn ttrtip (nbtuqlilturttLip) q< hurrn 4 0.0

33691 r 621833 LupnnLuulnfr urclqtuLlntphp (niiurq[ilLnittip) q< hrLrLtt 4 0.0

33691 1 C2l834 r.u pnnru Ln nn Lrrclrl LuLJn rlDtin (nliurqtiL tnlr Lip)
q< IrLu t n 3 0.0

33ri9r 1 62l835 Lrutrnl.rLumnn u,q4ul[UnllJ[it.l (rlliu,qi,irtniLLlp) q< lr ru Ln 3 0. (.r

33691 r 62/836 rullnnLU Ln n lr u,qrltul]lnrltLip (ntiurqt,iLLnltiip) q( lrLrrLn 3 0.0 '

3369116),1837 llulrnnuurrlr u,cyltLtLltLlrL I (rriiuriil,ilulLillr) q< I rur ur 10 0.0

33691 I 62/B3B pu pnn Lumnn urqqLutrln Llabp (n[iuqliLul[tL.ip) q< hru Ln 4 0.0

33691 1 62/839 LLL1[ rrILu u rr Jl u,c14tut]l nt1r bp (nburqt,irtnLi;1 r )
(l< Itut ur 4 0.0

33091 r (i2l840 LuInlrLU uml.) u,qrluhlnq;[ip (ntrurqLiLurLtip) q< lrLtr ut 4 0.0
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3369 r r 62l841 LLupnnururnp urqrlLUL.lntpli[ (nLiurqLiLtnLhp) q< lrrrr ttt 4 0.0

336911621842 [ul)nnLuu']nrr urcl4ulLlnrlaLip (nLiLuqlilurltLip) q< hutn 10 0.0

36SrA)./843 lrll ir][rulu]nl (1.(U]ulLJntlrLrn (nLttrqL,LulL[ip) (l< lrur trr 3 0.0

33691 1 62/844 Lruf nntu Ln nll uqnuLJ nrtJtin (ntiuq[,LLnLtip) q< hLutn 3 0.0

3369 I I 62l845 LruIn Jrumnn urq+Lulllr.rttJiin (ntiLlgLiLLnIiLip) q( lr ri tut 4 0.0

33691 r 62l846 Lru pn p ru ur n fr ur q1LuLl n tpb gr (ntiurqtilitnlhp) q< hrum B 0.0

336911G).1847 l rtllrnnru u] nf ur clq uLl n tll Lilr (nliurq tiLLrlLIip) cl< Irrurn 3 0.0

369i 1 62/84B lLuJrnnu.rLnnn u,cylulrlnqrlip (ntiLuqliULnLtip) q( hLru 5 0.0

33691 r 02/849 ILU prr f rumnfr urq4LuLJn tlJtip (nLiLuqhL mLbp) q< Irtuur r0 0.0

33691 1 62l850 Lur pn I ru Lnnn Lu q+LuLJn rla Li[ (nliutqlilL urttbp) q< hutn 5 0.0

3369l]62/B5l lLr l)nl')rum np u, qq LuLl rr tlaLip (nhuqtrLLnruLip) q< IrLrtrn 4 0.0

3369r 1 62/852 upnnrumnI LLrq4tuLJntlrLin (niiurql,ULnUtip) q< lrLr:ur 3 0.0

3369r 162/853 u llnl.tLu Ln nTl u,qquiljn rl rLrf (llLiurq[iUtnL Lip )
g< lt tu rn 3 0.0

3369r r 62l8s4 IrLrlrrnruullll u.rplultlrLpLip (rrIitriqLiLtrtLLip) q< h Llrn 4 0.0

3369r I 62l855 uilnpruLnr'rl'r urqrlurLlntphp (ntiurqLiLLnLhp) q< hrutn 7 0.0

33691 r 62lBs6 ullnpu Ln np LL.qriulJ nrlJLilr (n[iruqL,ttutlttip )
cI< hrrru B 0.0

3369r r 0;y857 llul!nJrr.r.ruil]11 u,qrlruL.irlrlJtiJr (nLiurgtiLLnltL;p) g< ItLrur 3 0.0

33691 r 62/B5B lLUpnrruurlI rrrrlqurLlnrl;[ip (rrlir!clilllullrtill) q< lr urtn 3 0.0

33691162/859 LupnnLuulnn urqnulllntpLin (ntiurqhtrmLbp) q( ltrrt rn 3 0.0

3.it)9 I I b2llJtjU [Lu t]nlLuunf u'c!]urL]n tli[ill (flLiurqi'ir ulltLip)
(I( hLuur I 0000 0,0

3369r r 62lB6l Lur I rn n Lu urnn u, qrl urLln L1a[ip (n[iurqliltuttLip) c).< hru Ln 50 0.0

33691 1 60/505 urctquLjn rl,r Lin (nliuqlittutLlip) q< hurn 12.0 0,0

33691 1 60/506 urqrlurtrjntp[ifr (nhLugbLLnLLip) q< hLum 5 0.0

33a.t9|60/507 )i)ill r ur lluir LurylLut4n tlal,p (rrLiutl llL LrlLli Jr)
cl<

I rtrt tn 300 0.0

33691 1 60/508 Irhrh*-t ;;rr,rut, (nuuquumtrLp) cl< hnrtn 300 0.0

33691lt,0i!09 I lr LII ru; !LuL LuclqtuLl nLp ltp (ntiLuq LiLurLLp) q< I rru tn 3U0 0. i)

336911 621862
| 
1,,,pn1,,,,r,,.,1, LLrqrlur14nrl;Lrp (nhurqItLutLhp) q< hru rn 960 0.0

33691 r 62l863 [rul !r]lrLuuull Lt.qriLuL.;rrL;lhp (rtLiurqttltmltlip) ()<
I r rurn 281] 0.0

3369r162/804 lrul]nnrumrrl'r u.rcU]url.ljnttrtin ([L,ulql,UulL[ip) q< hLurn 192 0.0

33691 1 6?/865 pupnl.lLu ur nn uq4LrLln qrLilt (ntiuqL,ltut utip) cI< hurn 19). 0.0

33691 1 62/866 Lu.r {lnptu url l'r urtlrluLl n qoLip (niiurqL,itutittip )
g< hur Ll 2 0.0

33G91 I C2l867 Lir p nl'rruu nn u,qq rulln Lptip (nLiurqiiU urLhp) q< IrLrrn 2 0.0

33691 1 62lB6B urpnnurmnl urq4r,ult1tL1:h1l (ntiiuqLLLnLlip) c)< lr ru rn 2 0.0

33691 l 02i 869 ILUl]nnLULnnn urqriurLlnLl.rLip (nLiuq[iLurltLip) q( hurn 2 0.0

33691 1 62l87 0 [upnlu]mnfr urqrlr,uLlnLphp (nhLuqLtuutthp) q< hutur I 0.0

33 691 1 62/B71

':-:y:_
,rur,,:if1_
336911621874

33691 1 62/875

r:'i"l.y :l 
*:11'111::':l(1y1!:1y') 

-

[uJFnpLULnnn u,qr1uu1nq,[ip (nLlurqiilLullttip)

q< lrLutn 2 0.0

q< lrrrr rn 1 0.0

[rufrnl.]rutrl1111 LL,qriLr"rtrlnL;ilip (nLiLuqtiumltttp) q( irLuur ). 0.0

[Lu pnlumnn LuqrlLrLp Llrbp (nLrurq Litt utltlip) c)< hrrm 2 0.0

lLu l.!npu.r u nn urqrluLpLphp (nLiLuqtiL LnLlip) q< hiutn 2 0.0
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33691 t621876 q< hLLrur 2 0.0

-1,69116)1877 LLu [rn I Lumnn uiqluLln Llrbp (nhurqLiLLnL[ip) q< lrurrn 2 0.0

369t I621878 LurpnnLU m nf urqryurLl n L1a[ip (nliuq[iLLnlLtip) q< hurn 1 0.0

33691 1 62/Bi9 IrupnpLuLnnn urq4urLlnt1;hp (nLtLLtqtiLLnLhp) ct< huun 1 0.0

33691 162/BB0 ,i [,r]p' u Ln rr n u.qrl urLl n tpLtp (ttliutclL:Ituttthp) q< lrum t0 0.0

369r 1 62/BBl [u.] lnllru u nn ur<UltuLlnLlrtrp (nhurqL,Lurtrtip) q( hru rn 2 0.0

369 r I ti2lB82 pu 
l rn n rumnfi urq4urttln Llrhp (n[iLtrqtrl LnLLip) q< h Lrrtn l 0.0

33691 1 62/B83 pir frn p Lu ur nl u qqLuLln Ll.rLip (n[,uqLLuLtip) c+< hLuur 5 0.0

3 (i9 I I (r2l8 B4 Irr l]| Iru ul r'rI u,qrluLJn tlltilr (n[iurgLrllLnLtip) cI( irrrrLn ).0 00

3691 1 62/885 Lul.rnnLu m n n ui qq LuLlnrllhn (niiurqliuLnLbp) g( hrum l 0,0

33691162/BB6 [rL]f nnLULnnTl LLrcgltuLlnLl:[ip (ntturqIittLnLtip) q< I ru rtn 1 0.0

3691 r 62lBB7 lLu pnlumnl.r urq4tuLln Llohp (n[iLu gtiL LnLLip) q< hum 30 0.0

3369r 1 62l8BB | 1,u1,npru Ln n p ur qq uLl n tlabp (rrhurqLilLnLhp) c)( Irtrrrn 2 0.0

3369 r 1 62lBB9
| 
[,rrl,,rl,,ru,,tn u:qr tuLJrltt)[it] (rrLiurqt Llurttt,p) q( lrLu Lrr 1 0.0

3369r 1 02l890
I 

-r;,,r--"*-*,r,r.t; t"irqt,r,rLhn) q< lrrurn 1 0.0

33691 1 62/891 1,,;^;,-, ;,q,*r;*, i,i,,ouu*uonr g< htutn l 0.0

33691 1 62/892 u,clqtulrlnLpbp (ntiurqtiLmLtip) q< htrr rn 1 0.0

33b91 r 62l893 LLul'nltr0ulltf uiqtlLuLJntlJLill (r iIiLtlqlilrtrlLl,p)
(l( hutn 3 0.0

3369110:r894 ru pn Jrru ump urclrltuLyrqr[ip (ntiurqtittut uLp) q< hrtrut 3 0.0

33691 I Li2l895 Lu Pnluunn u,qr1r.ulln Llatip (ntiLuclLil mLLp) cl( hrLrm 3 00

33691 I 62l896 rupnJruimr'rl.r uqrlr"utrlntlatip (rrtiurq[iLLnLbp) q< hru Ln 3 0.0

33i911A?.1B97 ru{)nllLuurnn uclltuLlrrtlthp (nhuqLiltutlttip) q< i rtir tn 4 0.0

33691 r 62lB9B [Lu l]rrlrul mnn u,qrlLutt,;n Llobp (nLiLuqtil.L trtL hp) q< lr L! tn 4 0.0

33ti9 | 62/ti99 q< hru Ll 2 0.0

33691 1 62l900 lulrnnLuulnn urqquL.1nLpbp (nbuqhLLnLbp) c)< lrurLn l 0.0

33691 4 00/54 3 plrLllrtLrtlLuL LucylLultlrLlclip (nliuqlrl,nLtip) pr.uqtlu[lndqnLbLut q( lpLrLltLtql 2 0,0

3369r400/544 Jr.I|rtr'r-r r*-r,qai,p f ,i*qt r,rrr,up) puqLILutlndqnLbLm q< lptuLluqLI B 0.0

33i,91400/1,45 plrtllrurLluL Lurl4urllrtplip (ntituqLiLurLt-ip) purqLIuLlnIqnLbLut q<
r p tu l1 LUqLI 5 0.0

33691 400/s46 ltlrLllrLLrLlLuL ur(plLuLJnrlJLip (rrLiLutlLilurL[ip) puqtlLtr[1nL[4nLtiLLtl cl<
lpLuLlLuqtl 2 0.0

,ru:,10:1t1__

33691400/s4B

,tluLt 1!iy:it:'lutll 1"u1'll':1ltl lT-y1u*11:-
plrtlILuLlLuL tuciqLuLlntptip (nhuqtilutl[ip) puucltlLuLlnLIqnLhLm

qa
lpLu [lLtt1Ll l 0.0

q<
1gr LLr L1 LLrclLI 5 0.0

3369 r 4 o0/549 lllrLllru[1Lutr ucl4LuLlnLplip (nLiLuqtilLn[rLip) pLu<1tltu[lntlqnLLiItLn (i< gJrLLtLluqLI 2 0.0

33691 400/550 plrLIlrurLlurL tLti pltu14ntllLip (rr[iuril liir rlLlip) purclLItLrtlnLIqnLLiLur q( 6iullruclLl 2 0,0

1:11"91:i_
33691 400/552

tuh..l 
q:ll:llylI'l':l lityll' -'llY-':I'-li:

plrLlIurtlurU LutirlLu14nLlatip (rrLitutlLiiru[rlip) pLuclLILutprtlqnLtilLn

q< lpurtlruqLl 2 0.0

q< lptuIpuqLI 2 0.0

,ra*a** turlrlLu!ntpiip (n[iLuqbLLnlLlip) pLucltlLu!rrdqnLtiltur q<
lptrrLlLurlLI 200 0.0

33691 400/5s4 LurplLLrlqnL;aLp (rrLiurqLiILrtLi.ip) putcltlLLtLprLIupritLiltLn q(
lpurLlL.uqtl 100 0.0

33691 400/s55 LLrcplLutqnLpt-p (nLiLuqhtruLLip) pluqLlurl-lntlqnLliLLn qa ppurLlLLrrll 2 0.0

3rU9 l 400/556 irft*, **r.1rri,,**,ltitrLrrLLip) ptuqtlLu!ntltqnLtitrm q< lpurlltucltl 2 0.0

33691 4 0 0/s57 tlrLllrLLr!LuL rucpyullnrpi-ip (nliuqLiLuLtip) ptuqLlLuLlntJulnLtiLLn cl< LnurLluiqll 2 0.0
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4 0 0/558 Lu(1]urirlnrptilr (r rtiLrrcltiLlrrltlilt) ptucltlLLrtli rLItqrrLlilttn c)< tnruquqd 2 0,0

33691 400/559 tlrLIlrurLlLutr LLrrltlLuIlntlatip (rriiurrllitrLnLiip) puqtlLtltJrrLILLlnLLrIlm d/
1puIlurqLI 2 0.0

3369 l 40 0/560 rlrLIlrLr,!uIr Luc4LuLlnLJairp (rrtiLurliiLLnLiip) pLtrqt)tLrtprdtqnLliltun q<
1gr ru [1 tuqr) 3 0.0

33691 42 0/5 B4 ruDnlruunn urctrluujnrlJhn (nliLuq[iUmLLp) ptuqtltuL]nLIulnLhULn (l(
lltLLr[]urqrl 30 0,0

3369 t4 2 0/5 r.J5 .LuFnnurur]ll urqlurlljnrtJLip ([tiuicl[,LmLlip) pLutlLlur!nLIqnLLiLLn 9< 1p tLr [1 utclLI l5 0.0

33691 420/586 LLrInfltuulftn urqrlLultlnLlalrp (rrLiuiq[iLLIlrtip) pLutltltuLlnLIu|rLL,Ltn q< tnuLlLuqLI 1 0.0

33691 420l5B7 .rr.rl!rnrLrmrrf Lrqrlullljr.ltlJtill (nburqL:iiruLLip) ptutliurllndulnLliltn (I<
lpur [1Luc1Ll 1 0.0

33691 420/5BB utrnprumnfi u,qrlullllntlrhtr (nLiurqLitrurL[ip) ptLrrltlLuLlnLIulnL[iLLn c)< ptu!tuqLI l 0.0

3369r 420ll 89 .iulrnltruulrll't urqnutttJnrp['in (nburqliLmtrhp) puqtlLULlntlu]ntrLitrm q<
lpru!ruclLI 2 0.0

33691 420/5 90 urq4LuLJnrlatin (nLiLuqtiLurL[ip) pLuclLILLrtlnLIqnLtiLtn q(
tnLuLluqd 3 0.0

3369r 420/:t91
lll, lll1l''n :1l:1"'l,:ll-(i1' l: 1'11'lli:1'llltn'lr,,nrrt 

Lm

Lrupnnumnl urq4u.tL1nt1c[ip (ntiurqLiliLnLLip) pLucltlur[lnLlqnLtiLtn

q<
lpur[lLLrqLI 3 00

336914).0159?_
q< lpullLuclLI 2 0.0

33691 42 0/593 u.rpnpurunp LLrqrlutr,1ntlab-p (ntrurq[iLtnLlrp) pLucalutLlnr-lqnlililrur q<
lpLu L1 rLrcgLI 6 0.0

3369142_01594 LLulrrlrtuurln u,qriuIlJr.lllrLill ([Liurtll,Uulll[ip) pLucltlLuLlnrlqnLtlltttl q< lpurLlutpl 6 0.0

,run,or:f1:_ 
__

33691420/596

l-l li'll1'll 1.1 l1!:1":1 
( 

1t*:l',i::l:!lJ::'1-l':Y1',Y-
[upnpLuunnn u,qr']tuL1nttd[in (nbuiqLuutlttip) pLutltituLlnLIqnLliLLn

c)< jrtLr[1tuc1LI ii 0.0

q<
lpLu Lltucltl 1 0.0

3369 r 42 0/s97 lrupnl]umnn urq4LulLlnLlo[iyt (n[iuqLitrLn[rhp) ptucpltutlnLlqnLiiLtn q( lptu!ruqLI 1 0.0

201598 LupnnLumnfr uq4tullnLlabp (nttLuq[iLmLtip) pLucplLuLlndqnL[iLLn q( lpLuLluqtl 1 0.0

3369r42r/506 Iru 0nf u mnp u,cl1LlLln t1atip (nLiLuqtiUulrhp) htiqnL[1 c|<
lirLrr;r I 0.0

3369r 42r15r 0 lrulr)nt.uu]nf u,q4ul.tjntloLilt (rrtiuqt,lrurUlip) htirlrrLtl q<
llrut p 3 0.0

336e142r/sil 
|

,**r,o" i

ut!nirurur.rp Lt,qrlLultlntyt[ip (rt[iurq[iLtnLLip) h[iqrltLl q< llrLnp B 0.0

[Lupnnumnfr uiq4LlltlnLlcblr (nburqLiLLn[rLip) htirlnrtl q<
ilrrnlr 3t) 0.0

33691421/513 lru l]r)nu u1 nI urclq urll n rpbp (nburqliLLnlbp) h h1n Lt1
q(

llrLnp 5 0.0

33ngt42,tl5t4 Lulfl trruurrrp u:cl4tulLlrrqolip (nLiuqtiltnlrtip) hLlr}rLL1
(l(

1lrmlr 1 0.0

336914)).1546 [rL]lrnl'rurump u,clqurlt1nLlahp (nburqliLuttrLip) tfrn2lr !urtl qpLuhnLlLbp q< lllr 1nq p LLr LI r,5 0.0

3369142).1547 Lurprpruurrp urq4Lu[tlnt1oti1t (nlituqLitrmu[ip) tf n2lr !LuLI qpLuLnLiItbp q< t1[LnrlpLutl 3 0.0

336914))1548 LupnnuLnnn urqqullntphp (nhuqtitrmtrhp) Lf n2[ LlutLI qptulnLf q< tlfrpqpLud 3 0.0

336914??.1549 Irrli,IlrlUulrtl] u,cil1ut4nL|;b1t (nliuqhlrLnLLip) $rl2lr Lltutl qpLuLntlttbl (l< lllrgrqputtl l 0.0

3369r 4221550 ilr,,*,,, ""*r,;:,;, o;;;t;tr),1,,;il, -*, c)< t1[ gnqp Lu LI I 0.0

336914)_2.1551 uiqqu.rllnrlchp (nLituqLiutnLtip) Lf n2lr LlLuI qpuLnLlL[ip (l(
!frlnqptu Lt 2 0.0

336914),21552 .Lupnl.rurunp u:q4LuL,1nLla[i1t (n[rLuq[iLutlLrp) (rrr2ll LlurtI qlrLuLnLlUtip q.< t1[lnqpLu Ll 3 0.0

33691 422l553

336914221554

llLul,np,Lrmnp urt11url4nL1:tip (nhurqLiLLntrtip) {n2lr tltutI qpLtrLnrfrhp

t'
ILrt,nnru,nl', u,qrlutr]nttjUn (rrtiurqLlLutUtip) (rn2lt !r.urI qpu'rLnLlLbp

g< t1[1nc1 puttl I 0.0

q< t1lryl1IrurLl 2 0.0

3309r 4 22l55s lLupnptumnfr LUqrlulLJnrtJtrJl (nL;urqtrULnLLip) Lfrn2lr Lltutl qptuttnt[tbp (l< l1[prql rtu tl I 0.0

| 
3369r 422lss6 lurl]fptuuulr Lr,tylutltlrrtlolilt (nliurqtiirurLlip) i.lln2lr LltLlrJ qpulrrlL[rhp q< ilir yrtl 

I 
t ut tl l 0.0

t*r,ou!??, 
__ _

33691422/558

"llllnll:]y':l_*111:111y1 il::',] yh !::., 
o,:lllTl

LUFnlruur)p u.cyltultlntlaLip (ntiuql,irurtrl,p) (lrr2lr LlurLI gllutrntLLtin

q( tllrprq pur Ll I 0.0

q< lllrlnq ptLr tl 1 0.0

3369 t,122l559 Lupnlrrumnn LrcltlutLlnLlattlr (nLuqLrLullihp) {ln2lr Llurtl qpLuLrltll \(. lllrgrqputl 0.25 0.0

336914D.1560 LLupnnumnn urrl4utrlnLphp (nhtuqliliutrLip) tlrn2lr LIuLI q q< 11[pxlputtl 0.5 0.0

3309r422/561 rupnl.lLumrU urclqurllnqrt.ip (nburgtilLLntrhp) {rn2fr \urLI
q< [; lrlrr1 p ur tl 2 0.0
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336914221562 lurirnnLUu]nll Lr,qIIulljrlttr[ilr (rttiurqtilLtnLLip) Llrrr2lr LlLud qpuLntltrbp q(
l1 lrprq p Lu LI 1 0.0

33691 422l563 [u]pnntuunn LLrqrlLLrLirrLlabp (nLiurqtilLtnLlip) Lf n2lr tlLud qptuLnLlLbp q< tllryxlpLutl 1 0.0

3369142?.1564 [u"]pnnuurnn uq[uLJnrlrtin (nLiLuclt,UmlrLip) Lf n2lr !ud qpuLnLlLbp q< lllrlnq pLu Ll 1 0.0

336914).?_1565 ILL]lnItuuull urqrluLJntlrtiJr (nliuiqtiLtnLLip) (rn2lr llttttl qlrLuLntlLiiI q< ![lnqpuLl 0.5 0.0

guqqhU trlnrpbp

3369114r/501 hruLn D.00 3000 6600.0

41111/41502 lril[rttJ u](Ultil q< lr,l B 0.0

1d2!iu!urtr u rutrputlnnntdtr [ilr

33191110/501 .u L[Ln n L11Lu LILtip
cl< lrru ur 1 350000 1 1350.0

33r9r5r0/5C2 rnluLtipurp[ltlLuL ttLupp[rp - qrrpSlrpLLip q< hLutn 2 0.0

33r9t510/503 ('rrluLtipLuptltl"ulL uu.rpltlilr qn1rr)lr1rltL,p q< lrLLrLrt l 0.0

37411580/501 rylr r L1 r urtlirp u urr rLu pr-uLL Lip
q< h Ltr ur 2 00

36431 370/502 rrplLuL muppt;pp hu.r2(LipL utupphlr q< hurLn I 0.0

391 383 I 0/502 pLrtl[1ur Jann, 2tLrpduLlurlr
q( hurrn 2 0.0

33111100/501 nLiLLncl[iL LrtLrpl)Lip
cI< huLn 1 0.0

331).1).001502 Lrlrmlr tu2fuLuururlplr hLrLlnlnrl;luttr uurppbp q( lrutut 6 0.0

33121260/501 nr[!rrlrIrdu,JLLu]hll ulfuurilnrr2Lltutt Ltrtrlrl)L;Jl
()( lrLuLn l 0.0

314117 4502 pdrllLuLlLuL uupp[iplr hur(uJttu6nLLLip q( hLutn 1 0.0

3t5t)1 050). fr,nLLuL[Lug(Lu5 1a1aL{LrSLlr tlurLnLuLltLrpuptlutL uup12bp, npnLp

li j r;r unLin Ld [i[r 1a1aL[u.r6L LullrL pL;pur LqIuln tLI

q< htrrtl l0 (.).0

33151 340/501 il,[rl]rUrlnrLnr2urLltutlnqL 6LLrrlttlcl tulpLIull pd2!urtlttrl uuppLip q< hurtn l 0.0

3r6r2C0/501 [trq rruLlnulLLip q< hur rn 0.0

J3ruillu/501 lr rii)r rll riulil(Lir uur nl)Lilr
q< iriLrtn 0.0

331B1480/503 ,,{.1-1, _lfu,yrttil r-parg,lrt rrlA, cI< ll t rrn 0.0

33t91110/502
(i< lrLutir 0.0

3843 I 360/501 LrLupd2LlurLlLuL LrLrplrLilr
,l< hruur 0.0

38431 360/502 .ltLLrurpd2LlurLltuL uut1r1 rLilr q< hrLr tn 0.0

3 B4 31 43 0/s0l cur(rurhurlr[1Ltip - rlptuLg u1LupuquuLLipp aa hrLrut 0.0

3b51 r220l502
iii 

"iqt*,t |.t irt"t,.rtt n Lu t,@
r r ruLu rhl-r tkuUnu nhtn Lr ltLhn

q< IrLlttl 1 0.0

21 21 3r 0/503 rd2llLuLluL [rulLuurLuLgIiLipntI LllrlrLunr[nq LqnLIulLip q< hturn 10 0.0

21 21 31 0/504 pd2lliu!Luir Lul ru Ln Lu LlLLipn L[ l-1ir pu-inL[nq q ndqhp q< I rur ur 5 0.0

ru{irurrnnduLfr

6041 1 200/l Il.LrLnLLurlrrlr o lurllrlt LlrnfrrttrrlltLILtrL 6tutrttt.lttLlaltLL (Lttt[lturtnnLILr) UU Ir u rtn 25r 236 1 251.2

uL rrtL 4

:) 321 200/5 I 0 ruururg(u6 lrlrrrptip q( plr ur gr 695 2440 1668.0

5:121200/5 t 1 fLrtnutgL[Lu6 hlntpLip q<
1l rLn 1r

797 39[,0 3 l llr-l. l

1 5821 500/503 pl u Lltu61;Lu pllr 
I 
rL Lil r

q< L1[yrtlputl r 200 1 200 144 0.0

58421101502 LlrrLJ,[iLn, 2ntln;urlutulLtrtn
c|< L1[lnqpuLI 500 0.0

s8421 1 0/s04 Llrrll,LiLn, 2n11n1uiltuu1LLrut
q< Lllrpqpurtl 1 080 00

rrrb tn bu ru [1 ttrtr [r 2.1rL rup up ru ! tutr Lr2tuLu!n lfajruL ruu lpur!plrLip

4 9t r 900/50 l Lrurllrtlir urulrLc\ cI< [1[;nq 
1 
rtutl r 200 0.0

31?.2124t1501 qtnrtLllif qulrtulurq (l( ltrtrtn 2000 0.0

31221241150) r11n Lulti1-Lt1 Ln n LtnLu L1
cl( Ir Lu rn 40 50c 20,0

3122I2U1/501 {p(rpruqlLuuLrr
(l< ltutrl

1244 30 ?42

l0 0.0

3,te)t)t;01501 Llitululru LrlntLtip
q< hurLn r u]4 2A 3 6.3

4)6714A01501 Iuurtlrrtp
q< Irurrn 40 0.0

4?tJ714001502 Ir.rtu dnrlr q< lrLttut 40 0.0

44163140/5ol gplr'- qnprp2rrr lurrlnLlurLlLLp
q< rlLiLr r p 30 0.0

441 63200/501 lunrln(u!Lbplr LIILugLIurL tlutLtbp c|< hLuLn 20 0.0

44t6T,00la02 L,rrrlnrlullUtrpl r LIlrLugLItuL LILutrhp g< lrrLr tn 40 0.0

4.i i 63200/504 u r rr y rrlLutl uiilr j r Llirurgtltttlt tlttt t,bp hrrrtrr l0 0.0

44163200/:105 f 
ri r rr y rtlLuLlir Lipl, LI jru-r g dLuL duitrUlt 9< llrur 5 0.0

41r63400/501 (irlLLrLnpnqL)tul"r LuLnt[L[r-n - qtupclnrLuQ[rtip q( irLuLl
B3L] 70

30 0.0
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441711001s01 uLutl )qLLip (2lrLLupurlrrrrl lurIr)
q< l)rl I llBl; t15 1 70.8

441711001502 uurllrLlLLip (2lrLLupurpnLg.lutl) q< prl 1199 115 137.9

44r71100/503 uarl[L1Lt p (2ltLLuputpnLl-1LuL) q<
l) Lt 1172 68,0

4,1t7il0u/504 ruLu ll r!ULip (2ltt,u pLu pn Llrl tuh)
(I(

ll tl 120 0.0

44)11614150?. urLLllntLLlip q< hum 30 0.0

44)211401503 qrru[iI q(
l) LI 31920 ).5 798.0

4441t/ 4{J1502 qn tqu grr"uLuriinlip q< lrLu in 7 0.0

44531 r 60/501 qirrlLiplrptrL;p - ulurntuullLiilt g< Llf lnqpuu LI 1 944 IO 19.4

44:t3]]60/502 qLqtrpIptrLrp ulmntLnLLrtlLLip q< \[pqpuLI ).544 10 25.4

81.11 100/501 2irruururLprulfrtr dhnLr rgL[lgr cl( qnug t64 ).40 39.4

B4 21 1 30/50 dhoL nqL[ip q< qrrrJ(+ 68 r 500 I 02.0

B4).1140150 LIlillLLrtrq udlu oqLnruqnpSdtuLr dt;nLn gLhp q< qnLlq 2.6 30000 78.0

B93l1Bili50 Lr, ul lruLpLtrpI Llr ur pti gaLut[nptlLuL m nq pu Lli.tlip q< hrutn I 2000 0,0

1 8931 1 B0/502 LLr ulpurlpltipf tlr u pLipur L[n p LIU]L u nqpu!Lbp c)< ltrtrtn I 2000 0.0

1 904 I 000/50 r tL;n1lrt;1alr1L,LtrrlltL u1urpt1, urryrlr hLutlup q( lrLrrtn
79 5000 3 95.0

5000

1 9641 000/502 u1 n1i r[plr$ilrLu.ll rL q Lu pL1, tur lpf r h LuLILup q< hurur
).3 1 0000 230.0

I 5000 0.0

1 964r 000/503 qr r1l rl,pI gtiLLullrl u1 Ll p[1, ur rpl r h Lu tlLu p q< huru
9 20000 1rJ0.0

I 0000

r 9641 000/504 u1 r r1 lr f plrltiLtullrL Lqurptl, Lu rlp[r hLu LlLu p q< hurrn
6 30000 180 0

50000

) 4 4511 41 50) LufriLnurhurLlrl lrhrlnL! trlnL;aiip q<
Lh Lr,n

444 )00 BB. B

300 0.0

3144100(.)/5lJ l .l,Lr1 ruLlrrg, AArr uhuut\lr q< l.rLuLn
60 00 ir.0

150 0.0

31 442000/5 01 urpLntlng, AA uL;Ltuttllr q< hutn
60 00 6.0

r50 0.0

31 44?100t502 rrrtnur[1[1 r[upLnLlnglrtiJr g< hruLn
)t0 30 6.3

2A

3t,14).1001504 LlnLururLlf l tlutlrmLlnglhp q< hrtr tl 350 200 70,0

331411 lrJ/505 uLdtrnngfr!Ltip q< I rru trr 535 50 )6.8

3314r201/501 lutlulrlL[i1t cI< lrrutn
2.4 200000 480.0

200c00 0.0

33i112r0/501 rllitiurLqLudlLrr oqmuqnl r6{r.uL t"ttUdt,nngf !LLp q< hiuLrt r.99 600000 r194.0

33i1r4B0/501 o6LLtn
q< hru rn

I 09.9 200 22.0

30J

3375 l r 00/501 Llri[lLuLqu LilLLt oqurutl r ;r6LIttttt Lrrur[1r1lr;rLLip q< IrLrrur 245 100 )45

33751100/502 LliillLuLqurLIlLu oquruclnlr6rlruL LrrtulpllrlrLLp q< lrurrn )45 100 2.4.5

3376r 000/501 ([rr(lrulrLuLh 1anL1p, nrrrlnln{ q< IriLtLn 71.25 4000 23ti.0

33761 ooo/502 qrrrqunurLh pnLrlp, nnrlnlnL[ q< lt rrr tn
90 2000 180.0

2000 0.0

33761300/1i01 dt,r4tlr ptlab uppltlttiP q< lr rrr tn
lB0 500 90,0

50.)

3433r400/501 LLrLIurntlLipliLLulrhnh qnnqt;p q.- hLuur
I 250 20 25.0

20

39221 350/5 0 r rJLillLulrqudltu oqLn ucgnl rSLltuL ptud tu LlLLilt q< hru Ln 4.4 500 2.)

39)?.14101501 LLrtLtiltrlifr
q< hrtr tl 1 350 500 678.0

3922142.01501 r nclLultut llltIip q< hrum t)20 IC 12..?.

3922r430/s0r rrnquLu!-uqnttrq urulurL;fr LlurlrptiprL hurLIurp, ntiLn[Lb q( lrLltrt 30 0,0

3922 1 4 B0/501 c1urputrlr [LrrrqLuLuLlltbp
q< hrutn

480 100 4 8.0

t00 0.0

39?21490i501 uqnrtrquLip
c)< hr-u Ln

87 400 34.8

400 0.0

39224331/50r rinql LLlputrutLIruub
(t(

lrLti tn
440 l0 4.4

'/0 0.0

39224 333/s0 I rpql rltiurLurluillurL q< huLn 122t) 5 6.1

39).2431?1501 rtrqt\LllrLIl, tlLrtnurryuu
q< lr rr rn

3700 50 1 85.0

r50 0.0
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39??.43.1)1502 rtr rLLrl r[lt, LIiiLr rurr1.lut
(l< Irrrrtn 65000 r0 650.0

39),243441501 urrprupLll' plrJrLirltu q< Itrrrtn
1 380 50 6 9.1)

150 0.0

:;;iio[06 uurrlurll-rhp q< lturLn {(l rl 200 7 8.0

3951 3200/501 prlpLi tuLd[inng[11, t pL12[ipur q( htu ur 200 600 120.0

400

3 vr223J 0/50 I tl,,irp1 rnq [1tnt rpUt:p
q<

I rur ur
247.38 3000 7 42.1

1 000

3971 341 0/501 lrLrurtutllr LIurlr rLLuIi LrurlrlrLilr q( h Lrr rn
3000 50 150 0

150

39831 I 00/501 plLugnrl Llntptip ct< llrurp
139 50J 0!.5

r 000

3933| 00/502 ltlLugrrrl Llrtlrtip ci(
1[rmp

71.4 3000 ).14 )

3000 0, t)

3_q B3r 210/5 0l uulLuuplr p[LL,gJLuL rytturbpqLiltmLbp
q< hLuu

110 400 44.0

30u 0.0

39831 243l501 liiurqpI Lf n2lt tuL[tnndurur
(l(

t 1[r1nq1tLu tl 350
'/00 24'.i.0

39831 243/s02 Lt[Lugph LhnZh uL[mntltuur q< L1[lnqpLutl 790 ?.5 19. B

3-q 8312.r:V501 <i6Lun, hhqnLLl
q<

llrLn p
285 r 0c0 285.0

500

39831277 1501 o6unlr urlurnLiLum rlhurqt,LuLipLtin
()( hruLn 7990 6 47.9

3983i278/501 rtlLLrul>f plurgJuL fi n2lr q< IrLrrLn
I ti:) 50c 82.5

2000 0.0

3983r 280/:r01 .LLltul.1fr LILtrlr;rLryrL Lilrgnq q( lirrnp
350 300 105.0

303 0.0

39831 283/50 r huuru[1[ 1L[LugdLLt! 1tu1.r
q< I rru Ln

Bfl7.B 300 2{)6.3

200

39831283/507 hurur LuQlr 1L{tugtltuL lutp
q< IrLltn )44 :) 800 1 95.6

39835000/501 hurur uL1 LlLLtgrlr[iprL dtr11, Lt1;tu utnr)tuLrti, (rLulurlLu q< hrLr rn
820 2A 16.4

30

39836000/501 tLr(1,1, LrntlrrnLulltull q< lrtu ur
715 200 143.0

l0J

39837000/501 g .r lLr ur LILr1
q< hLr.rrn 400 l;0 2A.O

3rs3r1 o0/5or

24152.241501

qr rtltrplru!, u,rpp hutLltuptiprL hLutlup, dnln{ (l(
IrLrr rn 14/0 50c 735.0

rru11tuL1, pLnLuumult, Lll,tq urtlnL[ q< lrrir tn
I 9900 I 19.9

l 0.0

42961300/501 hhq hiiLhLt q Lr pLuqurtr Lip fr 4lrLiq [iLtrbplbp q( h Lrr rn 3600 20 7),.0

442112801501

445211201502

6,tr 11,1r

q< lt tLt Ll
260 r00 26.0

r00 0,0

nrrLu[r Lhur[lurLlrtin
c)< lrtu Ln IO 0.0

44521241503 lrrurU (rLuLlurLlttip q( hLrr rn 7,1tt) rt, 7 4.2

1 8421 1 30/504 q< q.n lcl 2000 0.0

)44511411519 hLirlnL! [t1nL1a[ip
q<

thtn n 500 0.0

35111390/504-__

3841 1 200/506

?.tl rLlry rn,,lL nt;
(:) < Irrtrur 4 0.0

rLr q< Irtutn 40 0.0

391 B0/504 ru gcrrri clpLuubIlurLlullrL q< hru Ln l 0.0

39r 2201501 p urq[1u pnn' rlLrLpu L{Lrp l

(i( lrLrLn I 0.0

3951 130/5r2 uurt{uLLhp q( hruur l:r00 0. (.)

3951|30/513 Lr Lr L[tuLL[ip
g< hurrn 200 0.0

3es???3ol?93--_-

39/r 3500/502

tl t.;4rru1 [1uu,guL,1]_ _ ____
L t L;tttrrt ruUtutt Lunrln tLlLitn

g< Irru ut 4OCL) 0, t)

q( hrum I 0.t)

3983n471504

3983 r 28 3/509

urluu rutlrurLntt h[,tlnLtf irLtrLlrttrlqr)l]qh hLuLlurp (fttmLuLlnLp) q< lirrnn r 500 0.0

1".*-1il,r tr-trr,lrt t,rp
(I< hurrl I 5C0 0.0

44?.211401s05
,:l (

I )r) t5 0.0

4452112A150'.) nurtr LfLullurLLbp
q< hum 50 0.0

3.1141430/1 rlrdtuLlurtr nLtip t Itl illLlUl 990000 I 990.0

33, ll,liJ0/502
q< h Lrr ttr 50,J 0.0

3376r 400/{l0l I pql:l.i LlLdt nnglrLtLbp
q< hLuLn 3000 0.0

3 
q"?, 35 0/!i02 1d,,-q-rq-J@ q( Ituul 10i100 0.0

-) /.)-\-)1.)vt
I .-
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39711140/50r [i,n,r,.1r,1lTl*"*rr'ltt,r,rr,rr,n
q< h Ltr ur 7 0.0

397112901502 rllrLlpnurl[pLullrU L{uttupruLLtip q( hLu Ln 3 0.0

39714200/501 orlrputt1f l q< hurn 3 0.0

39 63 I 283/51 0 rr.urur[1f pL[utgtlLuL 1L,rp
()< Irurur B00 0.0

4)).111401501 uLLqlr quru JrrirumLlLrtr r,lunLuputLL[ip g< lr Lu Ln 1 0.0

4)t;111)81501 orilr cltnlrlLbp q< hur ur 14 0.0

425111281502 orilr tlurlrlL[i1r .)( hLttLn 30 0.0

425111281503 oqlr qLn[11[ip q(
I rru Ln 4 0.0

4).5111).81509 orllr qulrlLtip g< hruu 9 0,0

1',llt :irl 9y r] r ilrrltLi[t irLrpl)ur{nlrnLdLlilr cl( t1l|rn 1 0.0

0921 I 11 0/502 i,,i,di i-r. r,rqrr, 
- uur'urblutrhhulutr_l 4t,mLu1Lt

q( L1[lncl purtl 3 0.0

33r 1 1 2l 0/5C l iiurlrLL; urur!dlrL1 q< hLrr rn 50 0.0

397D.4001s41 11 !trlgLur1u1lrL Ln[iluLlrLlurllr LILuuLip q.< l.rlu m 50 0.0

39 /)) 4AAl!t?,1 u11 l"ltilgur 1ur1 lrL urtif rrLfr!tu1[r LILU uLip q< hLLt trr 50 0.0

3972.?4001522 I Lllilr grrrrlL.r1lrL ur LiIuLl t!ur1[ dtu u[ip (l( IrLrrtn 50 0.0

istiiooi23 - ,,i qt:ur-*,hu *lrrhtt-lh ,l-,,Ln ,..l < hruur 50 0.0

3e2):!091524

3972?.4001525

ur 11 LlLiLqLLl1ullrL Lrr LiluIr irLlurllr LIurtr [ip q( lrrrrrn 50 0.0

Lr11 tltiLgurqu4lrtr mblutrlr!ur1[ dLuuLip q< huim 50 0.t)

397224401526 u11 l.l LrL gur rlLul l'rl Ln LiIuL lrtl tul lr LlLu Lttip q< hum 50 0.0

3972_24001527 r1,11 l1[iLqLu r lLrllrl urLiluLlrLltLrllr tluruL,p q( IrruLn 50 0.0

397?_?4001579_ *_
397224001530

y!_!t{,s,1!yll,L rllrlllluth r.ltuutin

rq1 tlblgLurltulpti mhluLitLlutlI tlLuutip

q< lrrLrtn 20 0.0

q< httt ur 10 0.0

397)).4401s31 LL ;1 L1liirqurrlrLrl jrL ur[ilutrlr!ur1lt LlLuuLip q( lr uln 50 0.0

39 /2.2.4001532. LlliLqurqurllrl urhlLrLhLlurllr tltttttlip q< hrLrtn :;0 0, (l

397224001533 Iur11 t,LiLgurqLul rL LnLilulrlrLltullr dr.rttt,p q< hurLn )a 0.0

397224001':t34 t,,,,tt-,tm,f.t *fr,;f-rtr..,rnTr rin q< htum 20 0.0

1e/?2:90:t3:_
39/22400t536

I u1g LiLiLgurrlu4irtr mtilutrlrLluqI duulip

| *f, Lrlr', g*,1r.rX,t, r,l t lrt, iilidltttrr.tr,l

tl (.. hLuLn 20 0.0

g( lrrutn 20 0.0

1e122.4!9!5u_
39/2).4001538

11 L1L;ligu r1urll rlt ur LiluL I rLlurllt tlLLttt [i1t q< lrrrrtn 2A 0.0

111 ![iliguryulltr inb[utr[1Ltt1[ duutrp q< nti[| 2A 0.0

397224001539 ulg L1i;trgLur1urllrL mLluLlr!u4[ LlLuLttip q< lrurLn 30 0.0

397)),4AA1540 u,11 LlliLgur'1urllrL Ln[ilulLlrtlurllr tlLuLtl,p g< hLuur ?0 0.0

?:/n4_0:y:41
3ti224001542

u,11 LlLiLqurrlurlirlr urLiluLlrLlurlI tltuuiip q< Irru ur 5l) 0.0

11 LltiirgLt qLullrL urliluLirLlLtll r tlttrtr[ip
(i(

I rrtt trt 50 0.0

397n400ls43 u4 1" ![iLgur rltLrlirL urLluLl rLlurll r LlLu utip q< hrum 50 0.0

39'i).?.4001544 tu11 LltiLqur rpul lrL urliluLl r! Lullr LIU uLip q< IrLuLir 50 0.0

397224441545 u 11 L1 LiL gur qLuli rL m Lilull r! urllr LlLu LtLip
q< nrtlln ?.0 0.0

397224001s46 u,1 I Lltil g Lu r1ur.1lrir u r Lil uL I r LlLullr dLu u L, p q< lr ur Ln 20 0.0

3 
( r7 ?.) rl i I illl,1 7 yr! !|!lgr| nlylr! g![t l*tvlLUv$:r-

'ltrliltl'g:ill'yl't'$Lltriliyl'-ll.].li'n --
tu11 \tiLguqurllrL mblullrtlwllr LIuuLp

q< hru tn 20 0.0

t< lrrritn 40 0.0

lzstzL+oots,to
l: cziia ools5 o
t..__. _.-. _---.
lzgtzzqoohtr

()(
lr u rur 4A 0.0

u11 LgLiL gurrlurllrL ur hluLi rtlLulf t tltu ttIip .l< lt Lu tl 40 00

r',,.1, Lf,frr-qril,1, - hlrl, hLlr.rdl,f -r.,rlrn
(1< Irtu ur r00 0.0

397224001552 u41 L1[,LgLr r1u.rllrL ur tilutr irLlurlf LILuu [ip q( hurm I (.)0 0.0

39 /2.24OO15i;3 tL11 [1[itrgLu lu4lrti ur[iluLl rLlullr LILUu Lip q< hur rn 100 0.0

39B1 2s00/502 g nurl LLlnrLthl_.t1n rfalilt

gpudtitlnLultl t4ntPtip

(i a- I rrtrur 10 0.0

3981 2500/503
q( hruur t0 0.0

4:t67 r4 00/503
q< hrrr ur 2 0.0

42G'/ 1400t504 I tLr LIrr tla
q< hrrm ) 0.0

42671400,545
q< ltLLttir

') 0.0

44r63r21/501 lu r rrlr r L[LLI L1L i.,1r
c!< tlLurp 60 0.0

44163121150) 
- _ _

441631211503

.iLu,..r l,.rrrtnLlLu[rLl,tt
cl.< rlLrurp GO 0,0

rurLqL[uL Iur,r1nr"[ul1Li, gt
ci< LIL,tr r 1r

60 0,0

!4)g_3ll1rl.'!!
44t63r2r/505

9[rnn iq LltuL lu r r rlnL[u.t LlLLip
q( Ll[iurp 100 0.0

girr r n rg tlutL lu rLrlnr-[Lu LlLlip cI< tl[i Lr r;r l0c 0.0

44 1 63r 70/501 nLrrnlrtrb lLrnqn{uL1
cI< LILiLrp 50 00

44 1 9263 011t0 l h[iryntu +< h Lrr tn 100 0.0

4441t10O 504 5rr1r urLlLL:1r
q( lrrtrtn r00 0.0
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qrqiiroolsoi - - q( hurLn 2A 0,0

44411100/506 5n1rLu[1LLi1r
cl< lrurLn 30 0.0

444111001507 c\rr lrLLr LlL Lilr c+< hrtiu.r 100 0.0

444113041502 tLlurtLu nLuLL [in
q< hrLrur )a 0.0

444115001501 (ruLlurli' qLqurd - q< hum 20 0.0

44 i11500/5C2 (rurLlurIr' q!rltLrd-
(l( hLurn ).4 0.0

4.141 t500/503 (rtuLluL'c1Lrlurd-
()< lrLrrn )0 0.0

44 4 t 500/504 (rLu[1r"ul' qLrlurd . q< hrLrur 30 0.0

4441 rs00/505 Lfur!urU'qtr4urd- q< hnrtl I (_)0 0.0

4441r500/s06 tjrLutltuL' qL4urd- q< ltnrtir 100 0.0

444115401514 LlrLLrLlLuL'rlLqurd g< h lu ur )-() 0.0

4441 500/515 rruLlurU'qLqurd Ct1 hutn ?,4 0.0

4 {,il 1500/51 6 rL"LlilL'qtrrlurd
(j< hr,rrrn ).0 0.0

4.14 500/51 7 tftirLlurL'qtr0urd- q( htum 3[) 0.0

,1{ 500/5r B Ll ttiLluL' qLqLt d q( h Lrr ur 5C 0.0

444 500/5r 9 (,Ll11uL'c1L4urd- q< lrrutn 100 0.0

44411s001520 (ruLluL'qL4Lrd- (|(
lrLu rn r00 0.0

444115041521 LfrLLrt;urU' qlLrlrLrd- c)< hru Ln 5 0.0

ril 50 0/522 tl,LuLluU'qLryurd- ltru Ln Etl 0.0

444117 4) l5A5 clrrrcl Lulrt"uttur l1t rlt ltlr tltif tr tuLlrcpl
(l< hrrm 100 0.0

4411't 4) 1506 c[,]rl LLrnLuLuqr rLpI tltiluuLltqd q< i rLt lul 30 0.0

4411 / 4)1507 c1nLr1 LulrrulLull rltplr tlLilutuLlrqtl q< lrurur 50 0.0

Qrrrlp b utr14nrlL Lullrtr ulunutluLtin

IU31lr90/502 fLr Lu pu 1r
q< irL.r rir

3,680.00 10 36.8

2A 0.0

39141200/503 Li.i1 rpltLuLlItl.ip q< IrruLn
26240 )a 524.8

20 0.0

395r 1 1 0O/505 L{bptlLu!Lhp q< IrtuLn
4844 3rJ 14 5.3

4Li 0.0

3951 r r 30/507 Lr,Lrr[LultLhp
q( hurn t4t]0 20 2.9.6

3!1,1|3.r/5lB u.r. r[LLrirLtip
()< Iriuut 1 200 30 36.0

3951 1 1 30/5r)9 trLu rlLuL[rLip g< lrru Ln u80 40

3951 r 150/501 LlippUuLlI fuurur!muL[L[ip (LlutnpLtip) q( lrLLrLl
2_840 150 426.0

50 0.0

3951 61 22l502 purph, ufLphuftl q< hLurn
1400 70 98.0

BO 0.0

3951 B I 00/501 I r n. lL,rIr r 
1 
ur rr n g r.r1 f L u LL1 lr Ln Lu L1 Li qtitr

(l(
lpur l1 Lucll

4400 200 BBO.O

240 0.0

331 9r1 50/501 hirLlurlr r 1LuLnEt11|rL dLu I r6tLr L1tu ;L tip
q< lru Ln t0 0.0

39ilr40/501 t"ulrrrrtl,Lip
q( lrLurn

750 0 it, 7',.;.0

li0 0.0

39111180/502 ur prrn' qpLuLrlillur[1tlllrl q< hurLn 60 0.0

39r 1 t 801503 Lt, grr rri c1 pLu LrLilqurtlulirtr q( lrttrrn
25000 12 30r-).0

lll 0.0

391211 0 0/5 ')1
pLuuIirluLL[i1r q( lttrt ur 15 0.0

39 1 21200/501 .rLr'1.ruIL[ip
q< tt|[]

30000
'I

2 r0.0

?3 0.0

391 21520/501 -1 lrLrr Lr1 Lu I r tup LLtLUlip
()( lttuur r0 0.0

39 r 321 00/501 | 
(.LLrrrurruprll:Li, rlr qulrLlruL qtulriul rLuLLhp 9< lrurrn 30 0.0

3914112C/502 r1,rr pLLrlltr[iprr',{ !Lltulttu I 
lttlltl.lIin

(I( lrLLrut 5 0.0

39141260/5C1 Fil,,.-'.*r*
(l< Irur tn

24373 5 121.9

35 0.0

39t4t 26Ai5A',) r1q i, Lrurru ulLu hLupr.uItLbp q( lrLum 3t) 0.0

Ulu ur tuh Lutr Jr1 tr.; nrlaLp Lr odtutr ryrut1 rqu[]Lu(]ttr bp

244511401501 LlfuurLtrlrLuLf 1 LlntpLip q( Il,l 30 0.0

)4451141 503 Uf uurLulrurlrlri 14ntpbp cl( llrmp l0t) 0.0

24451141 1504 LtIuururlrutrlrl LtptgaLip
()<

1lr ur p r00 0.0

241,5t1411505 UlirurLrhurLlrl LlnrpLip q(
1lr Ln p 6 0.0

2445|4tl5a6 llluurLrhurLlrl Llnqabp q<
1l rrrrlt :) 0

244511411547 UluururhLuLlrl LlrLlaL;r q< llrurp 600 ().0

Crt)airilr1a 30



244511411508 Qutnur hLutr[1 trlnqabp
()< (rurp 400 0.0

24451141/509 Llfumurhutr[i trlnLpbp q< pf rnp 400 0.0

2_44511411510 LtlrrrnLLrhuiUlrl LpLp[:1r q<
lf rmp 50 0.0

24451141151l| tllLrurLrrhtLiLlrl irlnqa[ip q< tlrtnl t{Jt) 0.0

244511411512 UlritrrLL liLLrLlrl irlrrtlcIip g< llrurlr 50 0,0

2445|41/513 UluururhuLfl LlnLplip
()(

llrtnp 6 0.0

24 511411517 Uf uururhurL[1 ulnLgaLip
(l(

llrLnlr Ii0 0.0

1 s00/5 01 I rl q 
I r I 

I 
r u m n p LI Lul r 

I 
r t;ur c1t r p 5 L[ur 6n t1a1 LuIr q< hLu Ln 5000 0.0

33r 1 1 500/502 I rl r1 | L1 Lu ur r r p tl LuL p l, u qLi p 6tIur5n t 1a1 iulr q< irtuur 3000 0.0

331 I 1500/503 frU'llrLlLuurnp r-l,l[rpt'uq[ip6(u.r6nL1altutr
()< IriLrLn 700r0 0.0

331 I 1 500/504 f 
r tr r 

1 lr L1 Lu u n p LI LuL p [Lu q[' p 6 (Lu 6n L1a1 Lull q< hurrn 100 0.0

33 il 1 500i505 lr!rlIrLlurr"nnp LILuLpl-ucii,pd(ur6nrplLuL q< irLLttn 2000 0.0

33t 1 1 500/506
I 
rL r 

1 | 
r ! ur ur rr p LI ul r p [;u r cii, p ir Llur d n L p1 r Ltlt

()< IrLurn 2000 0.0

33111500/510 lrlirl I rLlruurnp dLulrpt;urqtipdLIur6rtrlalLttlt c|< hrLrm 3000 0.0

zzasrroolso: 
- 
-

qn uu titr1 uqu! frtr tu ulptutrptr bp tr

;{,i;;;q,d,L{, --T
LlnrJ.ibp

q( IrLtrtn 20c 0.0

2285 1 20 0/s 04 1c 
r11:tLr rr1 Lui-rur [1i Li;r

c)( lr urLn 100 0.0

22B5r 200/505 p r11: urLq rutrLu LlirLiJr
q( itLuLn 100 0.0

2285r 200/506 pqpruquLurqL[in q( hurLn 200 0.0

22851)001s07 prlpuLLqtulur[1ttbp q< h iu trr 300 0,0

22 tJ5 I 200/5 0 B rrlr:ur r t1 ruL ur! r lip q< htrr Ln r00 00

2rJS1 20 0/5 09 1c 111:LurqruLr,u L1L[ip
q< lrurrn 100 0.0

3014r200/s02 rur2LlurLrupl;, q pLuubh,1LuLlLulirtt q< lriuut 20 0.0

30r 92r 00/502 rLiLrlrL huutttl,LuLl q<
l.r ru ut 200 0.0

301 921 1 l/501 'auLrLL-r g2[ l!Lu palhLll]tin q< htrrrn 30 0.0

301 921 r 4/503 ourLLup, LlLfrltlr pupdftlllr htutlutp cl< hurrn ).0 0.0

30192114/504 purlurlt, !Llr1zlr ptupd[t1[ hurLIu-tp q( hrrLrt ir0 0.0

3rt92t).tl50). 1r1 r1 ilIirllrLlLutptp
(:l < hr.rrLn 3500 0. t)

30 r 92r 2sl5 01 rtr I rLlL,l rltL I r
cI< hum 50i) 0.0

30 r 92r 30/502 LI,r., u iirLlLlip .)( ltrtttl 400 0.0

301 921 33/502 ul)i ):L Llr q< ItLuLrr :i0 0.0

301 921 60/502 2ur 1 
rl rluL Lr p

(I< huur 800 0,0

30192r60/503 2rn I 
rlrlrrL Lip

('I( lrrull B00 0,0

30 r 92231/503 Liilrrl
(l(

i rrttur 300 0.0

3019)7101502 r,r n LrLd tutlutur I r Lrt, qnur LrtiLlul tluJl rL q< hru rn I 500 0.0

30 r 92800/504 lrLpLLLr!Lq;nLL ulltLnLuLlLLip q< httt rrr r 0000 00

301 92U00/505 r'ulrlLir !ulynrlt u1 [ru Lu!Llip q< hurtrr 5000 0.0

30r 95700/501
qnurn ur fu mtu[tLLinh tlurl:ndul hu L[LlpLu6n LLtip LIu LI

tLrtu rrruq.LULhn

q< hLutn r00 0.0

30t97r00/502 i

:or6ziivsoi 
-- - i

[1,1r 1rl r1[ LItim Lu rlLu ltupb tlurultip, Llh6 q< urntLft LO 0.0

Ll Ltrpl rl jr r"lt;ur Lu rlLu Lur ltLi ljur uttill, (r r )l)n
(l(

rrr r rLLlr 2il0 00

30 t 97il 2/502 Ll,rt,rhrf , r,lh,- lqunt Lpr.,,ftn, ,1 il'lf,
q< Lrrrr tI 30rl 0.0

3019t23v50?- pqlrur tq url rq, u1 nllrLltil rurlf L Pttr[urtrp, $LUJL
ci( lr ru rn 15iJ00 0.0

3019 /32) i50 ) LlLuplri, 20-50 p[ipgalr I rtutltup q( lriLi tn 100 0.0

301 9734 0/:i 0 2 LrrulLu!utpiri q< hurm 30 0.0

30 r976:r0/1j01 1onLr11o, A4 $,rrpLIuurlr
q< tIr rtLlr 3000 00

3u I 992U0/502 r.r,urrrL[1 U4 dlrutlr q< Irru m 7000 0.0

30r 99420/l'02 pntrlJa li2nLdLl,plr hLuLlurp, trntrlrd(Ludpnt[ q< lr ru Ln 600 0.(.)

392.41210150?. LIql lrrrul, cl lruru Lil.rlu.itltu1llll
q( hru Ll t00 0.0

392632 o 0/5 02
qpuuL,LlurLlLulirL c1[rpB, dLuultuL, 70-200i9, r.nnlurLlr, uLqhLnLuq

l ohnntI
q( ltLrtn ?,0 0.0

39263400/rt 02
I 
urrllrLuLl, LI[9lrL cI< tul rLrf t0u 0,0

3926 34 I 0/502 tt.ti1 ruLl ( rn1 ,1r urrLrlr I (.) (.) 0.0

392635 I 0/5 02 Lrtir$u,11, Lirrrl:p q( hurrn 20.J 0.0

39:263530/1'02 rutiriLiiLrLl, Llti6
(i< hLuLrr :100 0.0

39).9).5101s02 l)(LnL'LIL,urturlJLU
q( IrilLl :i0 0,0

8931 lB0i li'J3 urLillrurLpLLiplr (rurpLi;arlttlttyrLIuLL urntLIlrLULlll['il.] q< hruLn 5000 0.0

h Lu tl rrr [1 ur p q1 tu1 h tr u u tr p ttr t[n p n L dtr ti p ttlt,.li)tuq rutr b11

302t 2 B0/50 r h.t;rliuLlLuncll r, Lutlnnngtr tlbtlntLl q( IrLLrut r5 00

302321 r 0/503 1Lur1[:prulfrL ntqhrLhn q( lrur Ln I 00
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3or]riio/sil - - 1L r 1i,1i Lrllrir L rr 1lr.irIll q( IrLrrrn r0 0.0

3A23).13A1502 tlnrlrLuL[rrJr mullriLtip cl( h Lrr Ln l 0.0

3A)3/11)1501 uUnLqrlLrL p1nt1
(l( ltrrttrt 3t) 0.0

3023711)1503 uLnrgdLuL ppLl q< hLrrur l 0,0

302374111502 LI!Llrt1, huLIuLlutpqlullrL, pupnLl cl< hurLn 40 0,0

3 02 374 I 2/501 Ll 1lrlr11, hurL[uL1unq,u]lrL, urtrlLurr q< hurur 5 0,0

3242r001501 glrlrgLLr.1lrtr dLulnLluLLip cI< tltiur p 610 0.0

3?4).12C01501 g.LrLgu4lrL pLurlur4p[1[ttt1t cl< huLn 200 0,0

212.)3001502. gLL.rL gLul[rL prud urlltu put p q< Irurur '). 0.0

32421300/:i03 gtirgtullrL lruJurLtulrrLtyr
.)< lrtuLn 4 0.0

3242130015O4 guLgurl[L purduLtupuip ()< huLn 5 0.0

24 2 I 300/505 g,LrLgutlf L pu,iJurtLLupurp q< hLrur t0 0.0

255 I r 70/501 tL.[,1ru1 r I rhr.rLu 
f 
unuLtrp q< IrLrrut :i 0,0

32551170t5C2 urtrlurp hbnuf t,nulrbp cl< hru ur 4 0.0

2551 190/501 huLl rurllrL lr[ir;ulurruLr[ip q< hLurn 5 0.0

2551 1 90/502 I r"Lrtrl rLullrL hhriLulunulLIi1r q< lrrtrut l0 0. (-)

32551 290/501 LhrILiLIUtip
(I< hLum t0 0.0

rur rl LUq n rull ruL 6u nruj n lPJ n tr iii r

7982r180/618 r r.!i Lr(l I rur LILr.L - pLr.t2iu LIuL Sunullrr LpprtLLhp q( rllrLril 0.0

79821 1 B0/61 9 ur LLl Lrrcl lrLu Llurlt -' ptu2lu rluL 6u nLul rt qrlnLLL [ip q< qpurLl (.).0

iss2r sol6ri Lr Lttlrucl JrtuLlurL pLu2lu LlruL 6Lu rrLuy rtplnLLLbip q< rllrtrrl 0.0

ttgazriusa i rq Lutl 1r Lu [1 LuL - pLu2lu ilulr 6Lu nLuln Lpln LLLbp q( rllrrutl 00

798211801622 .rLL1urcl puL1LLrIt prLu2[u L1uIt 6unutlnLp1rrtULtip (I<
r1 1r 

Lr LI 0.0

79821r80/623 .r LL1 Lucl pLu llurU .. pLu2lutlurl SLunuln tpl n LLLhp q< q purLI 0.0

9821 1 B0/624 I uiLuq lrru LtLuL - ptu2[u tlultr SunulnrplnLLltbp q< r11rurI 00

7982l1B0/625 u rri[rjr] l rurlluL - pur2lu t)uL 6Lu nLulr rtloln LLLlip q<
4pLu LI 0.0

79rJ2r lB0/62G urulruclpLu!LLrL pur2lutlurL 6LunLulnLlalnLLLbp q( q ptr Ll 0.0

982rf3U1627 ,, , I ,. 1,iur1u,t, ;;;N,,rL b*;;,,*;*un q( q prrr LI 0, i)

7982118016)8 m rq LLrq pr"u Llul-r pu2[u LluL 6ur nul n tplntirLtip q.< r1;r u rLi 0.0

79821180t6)9 rurrlurrllrutLlurlt pLu2luLltlL 6turtLtqrrLplttLLhp cI< qpurLI 0.0

79B2r80/630__ 
_-,

79821 1 B0/631

Li rriu.r(llruqtrrL - lrtu2luLIurlr 6LuntultqalnLLIIbip q( rlpurtl 0.0

urLLl[u(l J]ruLlurL - lrLu2lurltuL 6LutlLuliltl;.ltltltltLip
(i<

111rurrl 0.0

79821 r 80/632 LrtqLrrtlJrLrLlurL liLu2lutlnrL 6Lunu4rrL1clnLLLbp q< rlpurtl 0.0

79rJ21r80/633 urr.Llr.LiqpurIlurL - pLu2iuLILLr[r SurnrulnLlalnLtrlttip q< rllrLrti 0.0

79B21 r B0/634 m q LUq nL| LlurL pLl2l u LIult StLtnLulr Lloj ntLLtip q< rlpurLI 0.0

7982r r 80/63s ur LL1 Luq pu Llurl - pu-t2f u LILu tr 6LunLul n LplnrLLhp q< r1 p LLt LI 00

79i121 r B0/636 u ril rucl nruLIurL lrtu2lu LIurlL 6tuntulr r LpIrtlLLLip q(
11 

1 
rLLi tI 0.0

/9u2118u1637 urr.rlr.urllrWqurir - pLLr2{uLIuiL 6LunLL]Jr rtlJJrlllllrLln
(I< rylrurtl 0.0

7982r180/638
I 
ur Ltluq p ur [1urL -- pLu2lu LIurL 6Lu nLu.lrrLpln LIILlrp q( qprLrtl 0.0

79rJ2i lB0/639 lrr-qrqn,rq-t - prrlr,ilf,I*nr1n,p1n,t,t,up (l< rllrLrrLI 00

798211BAt64A I 
Ln q tuq pLu Llurt-r - pLu2l u,) LuL 6tur tul'' LJ l rt tLLtil t

q< tllrLurl 0.0

7982118A1641 rr ul Luqnur qLUL - ptu2[u LILuL 5urnul n LplntLLhp (l( qpurLI 0.0

7982.11801G42 1ru2|uLlLuL 6tuntulrtplrtLLligr q< q JrurLI
0.0

7, d2 I I 6u/64 3 q< rllrLLrd 0. t)

l?Bl_B!!:!!_
7962r I B0/645

,r;,]ilq- r; r,,2i;; i;; ;il;,;'pr;i,r'ir,. q< 4purLl 0.0

r LLlLuq p u lurl - 1ru2lu rluL 6u nuln tpln LILL[:p q< rllrturl 0.0

iseinBo16a6 I Lrt urrlpLU quL - pLu2lu Ll uL Sulluljr r [pJr]tl.llltil q< qlrurtl 0.0

7982 BAl647 ur Lt1 Luq pLr LILuL ptu2lu Ll LuL 6Luntul rr qa1rLLLbp cI< qp urLI 0.0

798?. B0/648 r u; urq ptu!urtr - JrLu2lu LIurlr 6ur nLul nLpp LLltLi Jr
q< tlpuiLl 0.0

' ') . ,1, i,l 11rr.,,LU!il rul,[ul] . JrLrr2lutlurlt 6Lulltujrltlc.Jr.ltllL[il] !( rylrrrrrl 0.t)

79 B2 r1 B 0/0:i0 urttlurtl ptu LltLrL - lrLu2lu t)LuL 6u r rLulr r Lpln LLIILp q< qpurd 0.0

79E21 I B0/651 ur Lq urti pLu LlurL - lrLu2iuLlutlt 6unLu.lr I L1aln LLtlbp rllrurtl 0.0

7982t1801652. rrLqurtllrLuLlu,L - ptu2[uriLul.r SrunulrlLplntl-rltip cl< 11purtl l 0.0

79821 r B0/653 ur u1 ruq pru LlLutt - ptu2lu L] urL 5r-uttuln L1a1 rlrLLLp c)< 111r Lu Ll I 0.0

7982r 1 B0/654 rr u1 urcl pru Llutl - pur2[u LIurL 5unul n LplrrLLL Li;l q< q p urLl 0.0

79821 1 B0/655 nrLiur(l[]uqtLti - Fttr2lurlLult SttrnttilrrtplrLlrl.rbp
(l< rllrrrrl 0.0

7982r r 80/656 urttlr,uclpuLlurL - Jrtu2furlLuU 6unLuJ, rtp.JrltllllLin q< rlpurLI 0.0

79B21tBOl657 ur rq urq pullLrtr ptu2f u Llurtr 6ur nLulr r tpin LLLLi Jr
q< tlpurtl 0.0

79ti2 I r B0/658 u r tLl tucl pLu tlurlr - grur2iu Llutr 6u nurlnLplnLLLbp q< rlpuLl 0.n
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79821 1 B0/6s9 m ul Luqpu LILUL - Fur2lurluL Stuntult Lpln LLLhp q( rlnLU d 0.0

798), 1 B0/660 LrqLugpu.r!urL - ptu2fuLIuL 6unLulnLppLLLhp q.< lpurLI 0.0

7982 r B0/661 r.nrrtLUqlrulqLr.rL - nu2lurlurtr 6runLulrrtpjnLLIIbp q< qpLuLI 0.0

79u211801662 urirlur(inuquiL - ptu2lu,lLuL 6LunLulrttlolrrtLLlip
()(

q 
1r urLl 0.0

7982r180/663 LnrLlLLrcl pu!urL - pLu2iu tlurL 6u ntul r rtplnLLLLip q< rlpur I 0.0

7!82 r r BrY664 urul u.r(i f ulluL - ptu2lu rl Lutr 6ur nLul rr tplnLLL hp q<
4pLLrd 0,0

7982r I 80/665 mLq uq pr"u LlurL - ptu2lu LIuL 6tunul rr LplntLLttp ()< rllrrrLI 0.0

7982 1 B0/066 Lnul uq nuLILutr - pu2[u LlurL 5u nu4 n r JalnLLLhp
cI< qpLLrLI 0.0

79t],2.11801667 nqLuqnurliuL - pul2iuLIUrL 6unurlntplntLLbp (:] < q p urLI 0.0

7erJ2r r B0/668 u,tqruqnu[luL - p[u2lu tlurl 6tul.llul r rtl]Jntllu Lin q< q purtl 0.0

7982 I 1 B0/669 urultrrtllrLullurtt - pLu2lutlLuL 6LunLulrrLlolnLLIihp q<
4pLuLI 0.0

7erJ2r1U0/670 Ln Lr[uq lru quL - pLu2f u rlult 6u nLulr rtpln Ll.tlt[ip q< rlpurLI 0.0

798211801671 urulrucypu[lurL lrLu2luL)uL 6Luttttl riplrrLILIt[t1r q<
r lpLu rl 0.0

798211801672 u,rLltuclpLuLlurL lttu2lrrLIurL 6ulnutlrLplnLltltlip c|< rlpurLI 0.0

79',d211801673 ut Lll uq nur LILlrtr - pLu2futltuL 6runLuln rplnrLLbp q( q purtl 0.0

l'r'o211801614 rru,ru(illurl.iurL - pur2luLlurtr 6tuniulrrtl:lrrtULhp q( r11rLrLI 0.0

7e8211B0lG/5 ur ri1 rurl I rutllurlt ptu2lu LltuL 6Lu t.ttu1 r r tplnrLL [i gt
q< 4lrurLI 0.0

79'd2.11801676 urqLucl lrtullurL yrLu2iu riutr 6Lu nLLrlrtqcln L[rIrLlp g( lgrurtl 00

798211801677 u r Lqurqp Lu !url - lrLu2lurlrulL 6Lu nLu,1r r L1aln tLLL;p q< rllrruLI 0.0

79821180167 B u rLllrrrtl pur[1urL - lrLu2luLluL burntulrtlolrtLIILLip c|< rlpurrl 0.0

1 B0/679 u:LilLLr(lJrLULlLLrl.r - lru2lr.rrluIr 6r-unLLrlnLl:1ntLL[ip q.- q pLu tl 0.0

,' . . ,lrl ,L!ird!il)u]Llu.u - Jrrtt2luLlurL 6tunLuJrrtllJrltlllltlf cl< r lltLrtl 0.0

79821180/6Br tn u1 urcl pu Llurtr - pu2fu LIurL 5unul.1r r tplrrLLLiip q< qlrruLl 0.0

7982r 1 B0/682 rr r L.i.il:rll ll ll l,til:, il rtlil ,l,LrttiL. lr Ll.,lrlLit'ri,ll
(I< rllrttrLI 00

79 U2 r r {J 0/6 tj3 LlrLluclnurqurL - pur2lutlLuL 6tunulrrtplnLLtrLip q< typurLl 0.0

798211801684 purLquL - pLu2lutlurL 6LurrLulrLpltlLl-rLip g( lpurtl 0.0

798211 B0/685 - pLu2luilLuL 6unulnLpptLLtip ()< rllrurLl 0.0

, 7 'l t\)
cj< rllrrtrr"l 0.0

79821r80/687 Lnquclputllur[r - Fu2[u tlurl 6tu nLul r, t1l.;nLLL hI ci< rlpLu LI 0.0

982 I I B0/6BB urrqrirrl pur!urL -- pur2l u LlurlL 6uJ ntujr rtplntLltblt q< rlpurLI 00

79B2trri0/689 rr L rlurl put [1urL - pLu2iu tlurl 6Lu nLulrrtpp LLIILip q< t1J rur LI L). U

79821 I B0/690 u ul Lucl pLl !urL - plu2lutlulL 6Lu nLu.lr r Lpln LLLLip g< rllrurrl 0.0

7982f 80/691 ur u1 LLrrl pLu LILLrL - pLu2lu LIui"r 5utnuln tpl ntLLtip q< rllrurrl 0.0

7982lr80/692 _ _
7982i i 80/693

rrrlru(illuLlrriL - 0ru2itiLlurL 6LuntLtlnLplntLLtip q( tlptLrLI 0.0

uiq Lucl nuqLuU - pul2iu Ll urL 6untulr I rplnLULtiJr q( qpurL) 00

7982r r B0/694 r t. r1 l,[] lrr lL l,trl:) u rtrll irL.lrr .tl ll rlllLitll[rll cI< rllrrrrl 0.0

I ) .. ). 
' 
.,. t\..')'., , ,,1,.,qpu,,1*t - I-r2r,,r,u O-,,rlr,lrr-t Ut I q< lpurLI 0.0

79B21lBOl69tr mqrucl ptLrLlurL - ptu2iu tlurl 6u nLLrl n tp.1 r LLIrbp q<
4pLtrLI 0.0

798?.11BOle)97 r.nqLuqptu!iul pLu2fu tlLuL 6u nLuyrLpln LLI-rbp q< 4purtl 0,0

1tt?,'-19'
798211 B0/699

Lrr L.ltuci llu-r!urL - pr.u2lu L[uL 6Lu rrLu|rtpln tLLbp q< qpurtl 0.0

u,Lllrlr(llil.lrllur! - lrLu2juLIurh 6Lunr!lJ, illrJr'lllill[il'] q< rllrurd I 0.0

79821 l B0/700 mLq uq nur quL - frul2lutluu 6LunLu,lrl Lpln tLLtip q( rllrLLrLI 0.0

79ti2t1L\41701 turLqruqpuLgLt,It - ptu2lutlLLrtr SLrntu.lrrtplrrtLLtip
()<

t11 rLrLi 0.0

79B211BAl /0?. urq LuqpLu LILuL - pLu2lu tlLutr 5unt.u1 rt tplntLL [ip q< t1;rurti 00

7982118017 03 m u1 uq pLu !urL - ptu2[u tluL 5urnu1 r r tplnLLLtip cI< rllrurI 0.0

79t]2118017O4 mtLluqpuLluil - pu2iuLIuL 5unulrrrplnLLLbp cl< qlrLutl 0.0

letj2rItJu/705 u irriruq 
l ru llull - lrtu2lu LIuL 6Lu r )tuJ, L{PJntullLill ,r( rlpurLI 0.0

7982r180/706 Ln u1 rurl p ru [lurL - J]Lu2lu t)utr 6Lu nulr r L1'o1n tLtrbp q< rl pLrr tl 0.0

/,, .)' i:.,ii.ii ur q LuclpLu ilurlr - pur2lu LItuL SLunuqrr Lpl rt tLlttilr q( r11 rrtrLl 0.0

I B0/708 turq ruqpu LlurL - ptu2j u tI ulr 6tunLulr r tplntUlLhp cI< rllriuLI 0.0

798211801709 Lrlul LuqpuLlurL - ptu2f u LIurtr 6tu ntuln qalnLUtrLip cl( qpuLI 0,0

79B?_t160l / tO u iu[u(] lrur lluL - pLu2f u LIuru 6Lu niujr lrpln LuLLip q< r1purrl L).0

IL,,uri 1iur11urL - lrru2iutluL 6LllrlLulr rtlcjlltIlL[i0 (i( rlpurd 0.0

798211801712 urtLlrLicllrLu[1tLrL - grur2lutlir"rlr 6LuntulrttplnLLIL[i1t q( rlpurtl u.0

79E).t1801713 rulirr(lILuLlurL - pLu2iutlluu 6LunLulrItplnLLL[ip rllrLLrLI 0.0

i:ir;,tlailit,t -- r LLl uq pLl Llulr - pul2lutluL Sunru.ln LpptLLtip cI( t1;rLLrLI 0.0

798211801715 n u1 urcl pru Llurl-r pul2iu LILuL 6unuryr tplnLLLt,p cl< r1;r ru rl 0,0

7982,11801716 nuquL - tu-u2lutllull Stunurlntplntltrhp c)< q purLl 0.0

rr!rrJ(ll)ur[]u,L -- I!tu2,url(ll.l 6uirr*t.1rlt1:lntLLtip cl< q1rrurl 0.0
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79821180/7rB Ln ul u"rq nLu Llu,L - F!Lu2[LrtluL 6Lu nqr r L ga1n tLtrL,-p c)<
4purLI 0.0

7982n80[/19 uulLutlpruLlurL pLu2fuLluttt c)< qnLu LI 0.0

79B2t1BAl /20 ur u1 Luq pLr LlLll.r pLu2lu Ll u-tL 6Lunu1 r Lpln tLtthp (i<
r1 lrLu tl 1 0.0

79821180t721 rur Lrl rLrrl pLu [1urL pLu2lu LIuTIL 6r-u nurl r Lp1 rt L[rLLilt q< nnurd 0.0

798?.11807)). m u1 Luq pLu Llurlt - ptu2lu LIUL SLunLuln tpln tLLbp q<
4putLI 1 0.0

798?t1B017)3 u r,irnqIrurtlLr,u - nu2lu11Luu 6tunLulnrplnrltthp cl( rll rLU LI 0,0

8211801724 mq Luq nur qLUL - pul2lu rluru 6LunLu.lrl LplntlLt-p q<
r lprr r LI l 0.0

798?_11801725 u u1 urcl pru llurlt - ptu2l Lr t1 uL 6tunLuln tpptLLhp (l< rlpurtl 0.0

7982|6t)l/).6 u )u[u(] nuqurL - pur2iu tlLlL 6urnLulnLplntLltbp .i(
r11r uril 0.0

7982118017)./ Lnqurq ptu!urL - pu-r2f u LluL 6u nLulr rrlapLLL Lilr q< q p urLI 0.u

798?,118017).8 urrLlut{l TrutlurL - pLu2f u Liuru 6ur nLulnLplntLttbp
()< qpLuLI 0.0

798)\tB0rl),9 LrruLlrucllrtu!u,lt - lrttr2iuLiLLrlL 6LUn(lrrtlJlntULhll q< rlJrruLl 0.0

7982r180/730 urqurqf uiqurL - pLu2lu iiurl 6tu n,ulrttpjntl-tlt[ip q< qpLuLI 0.0

79821 1 B0/731 ur Lq Lucl grLu LlLrL - pLu2l u r)urlL 6u nurlr r Lpln LLLLip q< rlpru Ll 0.0

'/9tr2118A1'/3?
m u.l Luq nur LlurL - pul2lutlu.rL 6urnurlrr Lpln LLLhp

(I a- 4purrl
(). u

7982118A1733 mu1 Luq pLr !urL pu2lu Ll Lutr 6untu1r r tlrJr.)tlllhf q< rllrurLI 0.0

798)11801734 urul ruqpuLlurl - ptu2fu LIurL 5tu nrul n tplntLL hp q( qpLuLl 0.0

798711801735 __
798211801736

rulurqIuqurL - ptu2lutlwL 6tuntllnLplntLLbp (i.< rlpurLI 0.0

iLLlLuqIu]tlttrU - PLu2iurltuL 6u]nuUr rlfJJrrtLIl[il'l q< rlpurl 0.0

798211801737 rr LL1 uq pLu LlLLrlr - pLu2lu LILuL 6Lunuln Lpl n LL[rbp q< 4purLI 0.0

79il2lrB0/738 rur LLl rucl pu LlurIt - ptu2lu iluLr StunLul n tlclntLLtip q( rl lrLrtl 0.0

79B2t1BOl739 tnqLuqptu!LuL - ptu2|u LI urL 6tLt nLul rt LpltLItItbp cI< rlJrurLI 0.0

79821180t / 40 ur ulLLrqpu !urL ptu2[u tlurL 6Lu nLulnLplnLLtrbp q( 11p urLI 0,0

7982118017 41 ur utrrcl p ur ll u,L - lrLLr2iu LILuL 6Lu nup Llcln LLIIlilr q<
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